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1 Luwtndwy wfuwwnwbpubp
1 Snjnipini niubignn dwlwwwphwht Upwuubph hwwn 38 4400.0 167200.0
wwwinbnwlwnud, yepwnwnd ubthwlwuwwnhpngp
1.Cunwdbkup 167200,0
Il | <nqujhtt wluwwnwptibp
1 1. <nnuwjht wpluwwnwuplbip thwihnly gpniiinubpnd
0
2 184 gpniuwnh dpwynud b wbnwihnfunwd prynngtipng 504 d3 16800 437.0 7341600,0
thgp/
3 | 8y gpniunh dawlynud tpuljwiwinnpnd/1,00%/, pwpanud d3
14270 640,0 9132800,0
w/hupuwpwihbph pw
4 | wbnuihntunud jgwynyn 7.044d nnu 27113 700,0 18979100,0
5 | VIOt gpnuwnh d d buwnb nul nqbipny 504 d3
Apniian e PRI pranRAnL 2770 450,0 1246500,0
Ihgp
6 IV10& gpniuwnh dwlynud Epulwdwiinnpnyd/1,003/, pwpdnud u3
9500 820,0 7790000,0
w/hupuwpwihbph Ypw
wnbnwihnfunud |gulnywn 7.044 wnnl 18525 700,0 12967500,0
8 | I8y gpniuwnh dpwlynud bpulwywinnpny/1,00%/, puwpanu d3 - 640.0 345600.0
w/huptwpwihtph Ypw
9 | wbnwihnfunu |hgp 1.04d wnnu 1026 310,0 318060,0
10 | Lhgph funnwgnu wulidngnntiny bkl htwnpny 6 wugnuiny u3
30ud 2tpinh hwuwnniejwdp, onh nwpwsdnuing 2010 660,0 13272600,0
1T | 4nnuyht wnnwbinh whnuwhuwund g 4760 2325,0 11067000,0
12 “nnuwjht wnnwbph nindwund iy 5409 1096.0 5928264.0
13| "wpwlubph hpwlwbwgnud d3 3250 2843,0 9239750,0
2.<nnwjht wphuwwnwlipbp dwjnwiht gpnunubpnud/
1 VII20w gpniun bgnud U u b d3
gnnilitnh Wuwyebgnu wjwpwlgpwihl |hgptipny 7080 2628.0 20971440,0
0.5-1.0d wwjpwugph funpnipjwdp




2 | Lwluopnp thtupbigyuws VII20w gpniunh dowlynud L u3 5560 800.0 4448000.0
intnwipnfunud pnynngbipny 504 |hgp
3 | Lwfuopnp htupbigws VI20w gpniunh dpwlnud d3 1200 1330.0 1596000.0
Epulwywwinnpny /1,00%, pwnpdnid w/hupuwpwihbph
4 | wmbnwihnfunud |hgp 1.044d nnl 3120 310,0 967200,0
5 | Luwopnp thtuptigyws VII20w gpniuwnh dowlnud d3 1220 1330.0 1622600.0
Epulwlwinnpny /1,00%, pwpanud w/htptiwpwihbph
6 | wbnwihnfunud |gwlynywin 7.04d nnu 3172 710,0 2252120,0
7 Lhgph lunwgnud Yhppngnnuny, dtl hbinpny 4wlgnuing, u3 6760 200,0 1352000,0
40ud 2bipuinh hwuwnipjwdp
8 Ynnwiht wnniibiph wynuwhwnu d? 450 2320,0 1044000,0
2.Cunwdbup 131882134,0
Il | Owéhh Ynbuwnpnilighwl
I | funznphwinhl wywquihti 2tipwn h=18uy/ u3 29358,18 4420,0 129763155,6
2 | huSwwquihl 2pin €5 h=20ud g2 99436 1950,0 193900200,0
3 | Pwpdp dwlninlbl fungnpwhwinhly w/p h=6ud U2 95457 4180,0 399010260,0
4 | ungnpwhuinhly w/p h=6ud U2 127382 5710,0 727351220,0
5 | Swp dwupwhwinhl w/pbnt P why h=4ud 2 127382 4240,0 540099680,0
5% | Qnynueyniu niibignn w/plitinbb wwinwédph d2
ypogunwgnpdnud uwnp Ybpwdpwldwl bnwbwlyny 31924 2960 944961127
huhg.=20ud, gbidtuwh Tpwn. -18Y4g wybjwgnuiny
6" | Ujwqulnuwbuwih sbipin h=20ud u2 6384,87 1081 6902047,2
o < i , dwl G SR
7 wppbgunn 2tpw wwp, Jwupwhwwnhl w/pknnthg tnnu 6139 44077 2705824.4
wnhy hdhg.=3ud
3.Cunwdbtp 2094228500
IV | Mnpubp b dnunpkp
1 fuwywquiht 2tipin €5 h=12ud a2 2480 1190,0 2951200,0
2 Uwlpwhwwhl w/pbiint R inhy h=5ud u2 2480 5170,0 12821600,0
3 Uwquynwtuwiht gbpin funnngwlutnp nwly h=10ud U3 4,95 5730,0 28363,5
4 Ubwwnwlwl funandwlh wnbnunpny d=32544; go.d
11
196.4=39.5q; d=5dd 1 AR O
5 | Sifuwnbplbiph dhwany ptnnt B20 u3 1,5 104770,0 1204855,0
6 |h ub db d bplob
Pnduliblinh gnudblnuwgnud bliapin wwg = 96,2 1830,0 176046,0
phunnudny
7 Ubwn. funnnqwh gluwdwuh gpwidbyniuwgnud Eplyotpin 2 £ 1250,0 52500,0
nwp phunnwing
4.Cunwdblp 20614514,5
v Unntwlubp
1 Swdwpnipnwiht - gpninh pwpdnud (1N 14483 4 650,0 9414210,0
2 Swlwpnipwiht - gpniunh nbnwhnfunwd wwhntunhg nnlu
242,63 ; i
dhohup 104d-hg Ynnuwlubph hpwlwuwgdwu hwdwp e BEG “RaEaAA
3 | Ynnuwlubph hwppbgnu /4827842/ L futnwgnud d3
wulidnginnuny 1 htivpny 4 wugnuwing h=24ud 2bipwnp 14483,4 660,0 9559044,0

hwuwnipjwdp, oph twpwdnuing




2.Lunwukup 43826/08,4
VI | Uwjpbp
1 Udwqulynwbwhtu hhdp h=10ud u3 100,4 5040,0 506016,0
2 Ptwnnub uwhyubph nbnwnpnud u2 1004 8088,0 8120352,0
3 Pwquint bgpwpwpbiph wbnwnnpnud 15x30ud  swihuh gd.d 1849 14450.0 26718050.0
pbwnnub hhdph pw
3 PEwnnub Gqpupwnpbph nbnunpnad 15x30ud  swithuh gd.d 170 8340 1417800.0
plivinub hhdph Ypw
4 Cwywpnyh phnnub bgpuwown 10x20ud gd.d 1675 6940,0 11624500,0
6.Cunwdkup 48386718,0
Vil | dbpht hEbwwwunkp
U. | Ud45+700 unp Jbpht hbwwwwn wehg
1 118 uwnh d d 0.65%, and d3
d gpniunh dawlnud Epuljwwiinnpny/ /, pwpdnt 529 700.0 37030.0
w/hbplwpuwihbph dpw
2 wbnuwihnfunid [guynywn 7.04d il 100,51 700,0 70357,0
3 | Lnyup wbnnud Ynunwlynwing, hinwnwnd |hgph hwdwp d3 84.1 490.0 41209.0
4 Pnunpwlh Jbpouwdowlynd dtinpny:/1118Y d3 245 3420,0 83790,0
5 Udwqulnwbwht pbpin Jupbiph viwly h=10ud d3 6,9 6300,0 43470,0
6 | <k a
Uwwwwntiph hhdpbph hpwywuwgnu dhwény) d3 28 64000.0 1792000.0
phwnuhg B20
7 u
Chuwwwwnh - hpwutbph hpwlwuwgnud  B20 ptwnntphg d3 24 65870.0 1580880,0
8 Tbnpdwghnt Yupbph ppwlwtwgnd 2 skipin u2
nnipbipnhnny phunwh dwdnyny (d=2,0ud) i s AL
9 | Spniuwnh hb bplinypu b
pniunh hbwn gthynn dwlbpunypubph gpwdbynwwgnid u2 912 1250.0 114000.0
bplyobpwn twp phuinuding
10 | Swdwpnipnh  hpwlwlwgnud gd.J 20 8610,0 172200,0
M| Swd u 9100 Jd GUwjhu 5.4
wdwpnipnuwiht - ¢ wnihkph(Euwh ! 76 2580.0 19608.0
funnnywljubp
12 | &b & 0.65d3/,9pnudny b d3
w8 hgp fpuljwdunnpny/ honnuiny 108,6 1120,0 121632,0
fuunwgdwdp
7-U.Cunwdbup 4127292,0
R. | Ui53+300 unp bpht hbbwwwwn wehg
1 118y gpniuwnh dowlnud Epulwdwnnpny/0.65%/, pwpand d3 0 200.0 0.0
w/huptwpwihtph pw, wnbnuihnfunud gwlnywn 7.044d ' '
2 b nud 7.0yd u
nuihnfunu |gulynywn 7.0y wn 0 700.0 0.0
3 | Lnyup nbnnud dny, ht & hwd d3
nylp nbnnw Ynunwlnwnd, hbnwnwpa |hgph hwdwp 0 490.0 0.0
4 ® bpouwd d b :
nunpwlh ybpouwdawlynud dkinpny; u3 0 3420.0 0.0
5 | UWdwquynwbuwhu ot ] h=10ud d3
Juquiynubuhl 2bpin Juptiph nwl u 0 6300.0 0.0
6 | <buwwwuwnbph hhdpk wlwgnw Jhwa d3
wwntiph hhdptinh ppwlwbwgnud dhwdany 0 64000.0 0.0

phwnnuhg B20




d3

<Buwwwwnh - ppwtbph hpwlwlwgnyd  B20 pbuinlhg 0 65870,0 0.0
8 | Hbnpdwghnt  Ywpbph ppwlwwgnud 2 obipun U2 0 9830.0 0.0
nnipbipnhnny phnnwh dwdniyny (d=2,0ud)
9 | Spnwiwnh hbiwn gthynn dwybiplnyputnh gpwdbynwwgnud a2
Bplatipin tnwp phunnuing 0 1250,0 0,0
10 | Swdwpnipnh hpwlwbwgnu qo.d 0 8610.0 0.0
[ Swdwpnipnwiht - @100 dd wnihEphtuwhu gd.d 0 2580.0 0.0
funnnduwlubip
12| <bwnwnwpa |hgp Epuljwdwinnpny/0.65d3/,9pnuing L u3 0 1120.0 0.0
fuunwgdwdp
Ud 51+420 unp ubppht hbbwuyun hwyjwpnyh
Pinyubiphg wehg*
184 gpniuwnp Jpwlynud tpulwywinnpnyd/0.65%/, pwpanud
B d3 100 700,0 70000,0
! w/hupwpwihbph Ypw, nbnwihntunwd [guynywn 7.04dm .
2" | wbnwinfunw |gulnywn 7.0yd wnnu 190 700,0 133000,0
3+ | Lnyup wbnnud Ynunwlnudng, hGwnwnwné |hgph hwdwp g3 69 490,0 33810,0
4* Pnunpwlh Ybipguwdzwlnud dknpny; d3 35 3422 119778,6
5" | 2np gbdblinwlwaqb fuwntngn wnwly h=10ud u3 3,6 35575 128069,7
<buwwwinh hhdph U hpwh hpwhwbwgnud hwdwpnyh
6" | plwnub pinlubp 1x1x1,2 B20 /CBUwwwinh funnngutiph hwtn 55 150980 8303900,0
Inwgnul gbdbunwywqb gwnwtuny /
Hbnpdwghnt  Yuwpbiph hpwlwlwgnud 2 sbpin
7™ 2 10,4 30,0 102232,0
nniptipnhny phunuh dwdniyny (d=2,0ud)/ U 98 .
9 ht d
g3 pniinh htwn othdnn dwbipunyplbiph gpwdbynwwgnud £ 182.4 1250.0 228000.0
bplzGpwn twp phunnwing
9" | Swdwpnipnh hpwlwuwgnid gd.d 40 8610,0 344400,0
Swd u 100 Jd buwhu
jor | SurwRntanuRy g WRIhkpibkugh g5.4 15,2 2580 39216,0
funnnguiljubn
< & : ;
1 Gunwnwnd |hgp Epuljwywinnpny/0.6543/ opnuiny b i3 69 1220 84180.0
futnwgdwdp
7-P.Cunwdbkup 9586586,3
Vil* | Ubnwnwlwt unnndwly d=102068 3hwn
/Mu400+20/
<nnuwjht wofuwwnwbiptibin 118y Yuwpgh puwhnntipnwd hndih
1 ninndwt hwdwp/nbnwthnfunwd pniynngbpny 504/, 03 33 950 31350,0
pupdnu bpulywywinnpny 1,003/ w/htuptwpwihtph Ypw
2* | wbnwihnfunud gulnywn 7.0yd tnnu 62,7 700,0 43890,0
Pnunpwlh thnpnud 118y gnniunubipnud
3* | bpuljwdwinnpny/1.003/, wnbnnud Ynunwynwing hbnwnwnpa U3 12 480 5760,0
(hgph hwdwp/
4* | Fubwyhl hhdp h=20uy u3 6.9 13750,0 94875,0
5 | Udwquiynwbuyht hhudp h=10ud u3 6,6 5720 377520 |
Ubunwnwlwu d=1020d4 funnnywlh nbnunpnu
6-:-
145.0=2490q; 3=100U/ gd.d 34,8 261000 9082800,0
| 7" | Hhuwdwuh hhiph dhwany( pbinnt B20 U3 14,4 77950 1122480,0




8* | Hhuwdwuh hpwuh dhwény| ptinnu B20 d3 15,6 105840,0 1651104,0
9+ | Ywph U htuwlwihu winwdh dhwény| ptnnt B20 u3 9,6 77950 748320,0
jor | Munandwlih gpudblinwuwgnud: Bnlgtinu inuwg phunuing- 02 103,77072 1830,0 189900,4
10.8q3.0/
11" | <bwnwnwné hgp 1184 Ywpgh puwhnnbpny d3 12 106,0 1272,0
8*.Cunwdbkup 13009503,4
Vil | Ubnwnulwt funnadul d=10206d /MY446+02/
1 <nnujht wptuwwnwpubp 1184 Ywpgh puwhnntpnud hnih u3
ninndw hwdwp/nbnwihnfunud paynngbipnd 504/, n 950.0 10450.0
puwnanud Epulywwinnpng 1,003/ w/hbptwpwihbph dpw ' '
2 wbtinwthntunwd (gwynywn 7.04d tnnl 20,9 700,0 14630,0
3 Pnunpwlyh thnpnd 1118 gpniuntbipnud d3
Epulwywinnpny/1.0d3/, wnbnnud Ynunwlynuing hbunwnwpa 4 480,0 1920,0
thgph hwdwp
4 | hubwhu hhdp h=20ud d3 2,3 13750,0 31625,0
5 | Ujwquynwswiht hhdp h=10ud J3 22 5720,0 12584,0
6 | Ubnwnuwlwu d=1020d0d funnndwlh nbnwnpnud qd.d
11,6 261000,0 3027600,0
1g8.d=2494q; 3=1044/
7 | Sjuwdwuh hhdph dhwdény| phinnu B20 u3 4.8 77950,0 374160,0
8 | Yuwdwuh hpwuh Jhwany| pinnt B20 u3 52 105840,0 550368,0
9 | Ywph U hbtwlyuwyht winwdh dhwény) pbnnt B20 u3 3,2 77950,0 249440,0
1 -
0 | unnndulh gpwidblnwwgnud Biplobpn tiwp phinndng u2 346 1830.0 633001
10.8g4.4/
1| <buwnwnd jhgp 1184 Ywngh puwhnntipny J3 4 106,0 4240
8.Cunwdbkup 4336501,1
IX | 6/p unqnjulubph L hEbwwwnbph Yepwunpngnud b
YEpwlywnnignid
Lu37+511.5 01.5d b/p L dEwnwnwlwy funnndul,
dnunpp dwfuhg
1 hu d , Beh b d u
nnnyuwlh dnunph , tph U dhgh dwppnu gpnttinhg u3 6 1970.0 315200
&bnpnd, Ynywnwynpnud
2 pwpdnu dnpny wywnnhtptwpwih b inbnwdhnfunud nnl
8 1
|gwlnywn 74d hbnwynpnipjwl Ypuw 1133y 2 090,0 SoRee
3 | b/pbwnnut b dbnwnwlwl unnnwlubph Ygnprdwl u3
hwindwénud dhwény| pivinuh hpwlwwgnid §ugdwu 1 56830,0 56830,0
wwly' ubpwnplynwing, B20, F100:
4 |G/ & d ghid. u d3
p funnnduiih uinbph (puwignid gbd wdwquih 0.6 — W
2wnuwfuny M200
5 dnunphg 7-pn, 11-pn b 15-pn b/pliinnut pinlyubipp unpngty u2
gbd.wywquih pwnuwpuny M200, H=0.03d" dbwnwnulwl
14,2 5090,0 72278,0
guwlgh Ypw, (100x100)dd @4 Bp- |, P=0,0281uwn:
6 Ununpnud U bipnud gluwdwubiph hpwywbwgdwt hwdwp d3
thnunpwyutiph thnpnud 0.6543 2biptithny Epuljwywinnpny, 5,4 670,0 3618,0
gpniunh wwhbuwnwynpnud 1IV(106)'
7 wdwu wlwtwgdwl hwdw d3
puuaduup hpuliwbug 4 0,46 13750,0 6325.0
Lwhiwwywnpwunwlywu obpun fuéing:




8 | Ununpnud bt bipnud dhwény| pliinntt gluwdwutiph u3 79 105850.0 762120,0
hpwlwlwgnud B20, F100, swih 3.6x3.0x0.44:
8" | hbuwluwiht wwnwdh Jhwany| pbinnt B20 u3 1,0 77950 77950,0
9 | <bwnwnwnd hgp tpulwywinnpny/0.65u3/,9pnuling L u3 5.4 12200 6588.0
furnwgdwdp
Lu37+765 01.0d b/p funqnul*
1 funnnywlh dnwnph | biph U dheh dwppnud gpniunhg d3 14 1970.0 27580.0
&tinpnd, Ynywnwdnpnud 11334/
2 pwpanud dbinpny wiinnhuptwpwih b tnbnwihnfunu nnl 245 1090.0 26705.0
lgwlnywn 74d hbnwynpnipywt Jpw 11334
4d39+100.0 2.0x2.0d nuipquiulynu b/p funqnyuwy
1 funnnwyh dnunph b Gph dwppnud gpniunpg 0.6543 u3
2bpbhny Epuljwdwiinnpnd, pwpdnw huptwpwth, 38 560,0 21280,0
nbnwhnfunud (gwynyw 74d hbn. Jpuw:/
2 wnbnwihnfunad jgulynywn 7.04d wnnu 66,5 700,0 46550,0
3 | unnnuwlh Jdhoh dwppnwd gpniuiinhg dknpnd, u3 141 1970.0 27777.0
Ynywnwynpnud 1133y
4 | pwpdnu dGnpny wyinnhtuplwpwth b inbnwihntunud nnu 247 1090.0 26895.8
lgwynywn 74d hbnwynpnieywt Jpw 11334
4* | Ununpnud b Bipnud dhwany| piuninub qiruwdwubph d3
' 65874 322,7
hpwlwuwgnud B20, F100, 4 0
5" | hbuwlwht wunwdh Jhwény| pbnnu B20 d3 1,0 77950 77950,0
5 | funnnuwlyp dnunph b Giph plitnnub pltiph b u2
gifuwnhputiph Jipwlunpngnud gbd.wdwquiht gwnuwtuny 35 4920,0 172200,0
M200, Huhg.=0.044
6 | b b d ghid. d3
/p funnnywilh Yupbiph (puignud gd.wiwquih o 508200 5082.0
gunuwfuny
7 funnnyuwlh ubipuh wwnbph ujwn gbd.wdwgquiht U2
ownuwiuny M200, H=0.034: 64 4020,0 257280,0
8 funnnjwih wnwuwnwnh ujwn gbd.wywquiht pwnwfuny u2
2 4 14464
M200, ninplypbinwgnuing, H=0.034d:/ . 520 RA0
9 | unnnduh db9 wiwnnyh ppwlwtiwgnud dhwdny u3
pbiwinund, B20, F200, h=10ud I S wEt
Ui39+410 @1.04 b/p funnnyul*
™ | h d , bph U dhop d u u3
nnnqwyh dnunph | Gph U dhgh dwppnid gpnttinhg 0 1970,0 19700.0
dtinpnd, Ynywnwdnpnud 11334/
2" | pwpanu dbnpny wywnnhtptwpwth b nbnwthnfunw tnnu
[gwlnywn 74d hbnwynpnipywt Ypw 1133y M3 1920.0 s
4U40+340.0 @1.5d b/p funnnduly, dnunpp Swtuhg
1 fu d . bph L dhoh d d u d3
nnnduwih dnunph . bigh U dheh dwpnnud gpniinhg " - 00
dtinpny 11334/
2 pwndnud dnpny wywnnhuptwpwth b nbnwihnfunud nnl 0 1090.0 0.0
[gwnywn 7Yd hbnwynpnipwt dpw 11334/ ' '
3 | b/ b d ghd. u d3
P funnnquwlh Ywpbiph puignud gbd.wywqugh 0 50820.0 0.0

owinwfuny/




4 | Ununph gluwdwuh unpngnud gbd.wdwquht gwnwiuny u2 0 4020.0 0.0
M200, h=3ud::/
5 Gph gifuwdwuh unpngnud gbd.wdwquiht awnuwiuny u2
M200, H=0.044" danwnwlwl gwugh Jpw (100x100)dd 0 5550,0 0,0
04 Bp- |, P=0,0495wn:/
1Wi40+150 @1.04 b/p funnnywy, dnunpp dwfuhg
1 funnnuwlh dnunph b bph dwppnud gpnituiinhg 0.6543 d3
2tiptithny Epuljwdwwnnpny, pwpdnw hupuwpwih, 6,8 560,0 3808.,0
nbnwthnfund \gwlnywn 74d hen. Jpuw:/
2 | wbnwintund gwynywn 7.04d tnnl 1,9 700,0 8330,0
3 funnnuwlh dheh dwppnud gpniiinhg dkinpny, d3 35 1970.0 6895.0
Ynywwdnpnud 1133y
4 pwpanu dbnpny wywnnhuptiwpwih b inbnwihnfunu tnnl 6.125 1090.0 6676.3
lgwlnywn 74d hEnwynpnigywt Ypw 11334/
5 | 6/p funnnqulh wpbph jpwignud gbd.wydwquhu d3 0.64 50820.0 32524.8
qwnuwfuny M200
6 Bph gnjnieyntt niubgnn pennub gluwdwup fugdwnnd J3
wulidwgnpdhpnd, paynpubph pwpanud 0.65d3 sbpbthny 2,2 26780,0 58916,0
Epulwydwwnnpnyd wyinnhuptwpwih
7 nbnwhnfunad (gulynywn 7.04d wnnl 5,28 700,0 3696,0
8 Ununpnud b Bjpnud gluwdwubiph hpwlwbwgdwt hwdwp d3
thnunpwlutiph thnpnud 0.65d3 obpbithny bpuljwdwinnpny, 9,5 670,0 6365,0
gpniuinh wwhbuwnwynpnud IV(106)'/
9 | qlfuwdwubph hpwywiwgdw hwdwp U3 0.46 13750.0 6325.0
Uwhiwwuwinpwunwlwu 2bpn fuény
10 | Unuwnpnud b Bipnud dhwény| pivinub gluwdwubiph u3
8,5 105850,0 899725,0
hpwlwuwgnud B20, F100, swih 4.0x3.0x0.44: 0
10" | hbbwlwiht wnwdh Jhwény| pbnnu B20 d3 1,0 77950 77950,0
1 ;
1| <bwwnwné |hgp fpulwywinnpny/0.6543/,9pnuiny b a3 95 1220.0 11590.0
funwgdwdp
4140+350.0 @1.0d b/p funnnyuwy, dnunpp dwiuhg
1 funnnyuwlh dnuwnph U Gph dwppnud gpniiinhg 0.6543 d3
) 0,0 3080,
2tptithny Epulwywinnpny, pwpénwd huptwpwih, i - BROD
2 wnbnwihnfund gulnywn 7.04d wnnl 9,6 700,0 6737,5
3 | unnnduwlih dheh dwppnud gpniiinhg dtinpny, d3
Ynywwynpnud, pwpdnud wynnhupbwpwih b 1.5 1970,0 2955,0
wnbnwihnfunud |gulnywn 74d hinwynpnieyw dpuw 11334
4 anud L b
pwpdnud dGnpny wywnnhuptwpwi b wbnwihnundd uinl 2625 1090.0 2861.3
[gulynywn 74d hEnwynpnipjwt Ypw
5 |U h u u dnuinwdnd, u
nunph ophnpnwth Ypwih gwugh wwwdntnwdnt wnn 0.05 53470.0 2673.5
YEpwnuwpa ubthwlwuwwnhpngp:
6 |U u b unnil d d d3
nunph pwipwjhl 2wnywdpny gnpunniihsh Yuquiunnt 15 17680,0 26520.0
dbinpny, pwpdanud wynnhuplwpwih
7 inbnwihnfunud [gwlynywn 7.04d wnnu 3,6 7000,0 25200,0
8 |t/ b d gbd. u
p funnndwlyh Yuptiph ipwignud gbd.wyjwquih u3 0.01 50820,0 508.2
qunuhung
9 Eioh gnynipyni niubignn peunnub gifuwdwuh juqdwnnu d3
wulidwgnpdhpny, pbiynpubiph pwpénwt 0.6503 skpkthny 1,8 26780,0 48204,0

Epulwywinnpny wywnnhupbwpwth




10 | wbnwihnfund |gulnywnn 7.04d nnl 4,32 700,0 3024,0
11| Unwnpnud dhwény| pinnub gppunnitihsh hpwljwiwgnud, U3
3,63 76170,0 276497,1
swith 2.6x1.2d, h=1.74d, b=0.44:
12| Qppunniuhgubph dbnwnwlwt gwtgh wwnpwuwnn b Nl 0.07613 214180.0 163055
nbnuwnpnud:
L63x63x6ud/mm P=105.24g/kr gé.d 7,6 4660,0 35416,0
-5x80dd/mm P=106.8Yg/kr q&ud 10,4 3510,0 36504,0
13 | Genu giluwdwuh hpwwbwgdwlt hwdwp thnunpwlh d3
thnpnud 0.65d3 2tiptithny Epuljwdwnnpny, gpniinnp 55 670,0 3685,0
wwhbuwnwynpnud 1V(10k)
14 | glluwdwubph hpwiwuwgdw hwdwp d3
; 1 ! 162,
Lwhiwwywwnpuwunwlwl 26pn fubny S0 27300 NS
15 | Gpnud dhwany| pnnub gluwdwuh hpwlwuwgnud B20, d3
FI00, swth 4.0x3.0x0.44 52 105840,0 550368,0
15* | hEuwlwiht wnwdh dhwany| pbnnu B20 u3 1,0 77950 77950,0
16 | <h & .65u3
nwnwnd (hgp Lpulwywwnnpnd/0 /,onnuing L d3 5.5 1220.0 6710,0
funwgdwdp
4U40+690.0 @1.5d t/p tunnnquwly, dnunpp dwluhg
?1.5m
1 funnnywlh dnunph Bph W Giph Jwppnud gpniiinhg d3
abinpny, Ynywnwynpnu, pwpdnud wnnhtptiwpuwih 1133y 2 1970,0 3940,0
2 pwpdnud dEnpny wywnnhtptwpwih L nbnwihnfunad nnl
Igwynywn 7Y hbnwynpnipjwl Ypw = R =eial0
3 ||b b d ghd. u d3
/p funnnyuwlyh Yupbiph pwignud gbd.wywqugh 0 50820.0 0.0
2unuwfuny
4 Ununph L Gph qiluwdwubph dwlbplnypubph dwppnud d2 0 1530.0 00
abinpny’ dbfuwthlwlwl bnwuwyny ' '
5 | Ununph b bph giuwdwubiph unpngnut gbd.wywquiht u2
qwnuwfuny M200, H=0.04d" dbunwnwlwl gwgh Ypw 0 5550,0 0,0
(100x100)dd @4 Bp- |, P=0,0693wn
4U40+780 @1.5d b/p funnnquwly, dnunpp wiuhg
1 Funnnduwlh dn e byph d d U 0.6543 J3
nnnyulh dnunph U biph dwppnud gpnttiinhg 5 560.0 2800.0
2tiptithny bpuljwduwnnpny, pwpénwd huptwpwth
2 inbnwihnfunu gulynywn 7.04d tnnl 8,75 700,0 6125,0
3 | hunnn dhoh d d U ot ; d3
nnquwlh dheh dwppnud gpniiinhg dkinpny 05 1970.0 985.0
Ynywnwydnpnud, puwpdnu wdinnhuplwpwih
4 | pwpénui dEnpny wwnnhuptiwpwih b nbknwihnfunid nnu
gwlnywn 74d hbnwdnpnigywt Ypw LB 1090,0 #33,8
5 E/p unnnduw b wignud ghd. u d3
p funnndwlh Yuptiph puignad gbd.wyjwquih ol 50820.0 5082.0
qunufung
6 Ununph b Giph pwjpwyqwd pbunnub gruwdwubph d3
Yuwgdwwnnd wulidwgnpdhpny, pwpanud 9.8 26780,0 2624440
wywnnhuptwpwih 0.65d3 2bipbthny Epuljwywinnpny
Z wntnuwihnfunud \gwlnywn 7.044d wnnl 23,50 700,0 16464,0
8 Ununpnud b bippnud qiluwdwubiph hpwlwbwgdwt hwdwp U3
thnunpwlutiph thnpnud 0.6543 tipkithny Epuljwywinnpnd, 10 390,0 3960,0
gpniunh wwhbuwnwynpnud
9 gruwdwutph hpwlwbwgdwl hwdw d3
(ismiieg 3 0,5 13750,0 6875,0

Lwhiwwwnpwutnwlwy gbpn fung




10 | dhwény) pbunub gqluwnhpubph hpwywuwgnd B20 u3 7il 105850,0 751535,0
10* | hbwlwihu wnwdh dhwany| pbunnu B20 u3 1,0 77950 77950,0
1| <bwnwnuwpd (hgp tpulwdwinnpnd/0.6543/,9pnuing b d3 10 1000.0 10000,0
futnwgdwdp
4414550 @1.0d b/p funnnyuwly, dnunpp &whuhg
1 Funnndwyh dnunph Giph b Giph dwppnud gpniinhg d3
abnpny, Ynyinwdnpnud, puwpdnud wyunnhtpUwwih 11334 4,5 1970,0 8865,0
2 pwnanud Gbnpny wywnnhuplwpwih b inbnwihnfunwd wnnu 7.875 1090.0 8583.8
lguynywn 74d htnwdnpnggwu Ypw 11334
3 B/p funnndwyh Yupbph (puignud gbd.wdwquiht d3 o1 50820.0 5082.0
qunuwfuny
4 | Ununph U biph pwjpwywsd phnnub guwdwubph d3
Yuwgdwuinnud wubdwgnpdhpny, pwpénud 6.2 26780,0 166036.0
wywnnhuptwpwth 0.65d3 2bptthny tpulwdwwnnpny b
inbnwihnfunid jgwynywn 74d hEnwydnpnipjwl Ypw
5 | wbnuihnpund lguynywn 7.04yd wnnl 14,88 700,0 10416,0
6 Untnpnud b Gipnud gluwdwubiph ppwywbwgdwu hwdwp d3
thnunpwlubiph thnpnud 0.654d3 2tiptithny Epulwywinnpnd, 6,4 390,0 2496,0
gnntunh wwhbuwnwynpnd 11(334)
7 glluwdwubiph ppwlwiuwgdwu hwdwp d3
i . 5,0
bwhwwywwnpwunwlwu bpwn fung 05 13750, 687
8 | dhwany| pbwnnub qfluwnhpubiph hpwlwuwgnud B20 u3 10,1 105850,0 1069085,0
8" | htuwlwht wwnwdh dhwény| phinnt B20 d3 1,0 77950 77950,0
9 | <6 & 0.65d3/,9pnuiny L d3
tnwnwnd |hgp tpulwduwwnnpny/ /,opnuiny 6.4 990.0 6336.0
funwgdwdp
L4ui41+810 @1.0d b/p funnnywly, dnunpp wehg |
1 funnnjulh dnunph Giph b Bph Jwppnid gpniuinpg u3
&bnpny, Ynywmwynpnud, pwpdnud wwunhupuwpwih 11334 35 1970,0 6895,0
2 pwpdnu dinpny wywnnhuplwpwih b nbnwginfunud nnl
(gwlnywn 7Yd hbnwdnpnipjwt ypw 1133y 615 50,0 Sk
3 |k ] d ghid. U
/p funnndwlh upbiph pwignud gid.wywquih J3 0.1 50820.0 5082.0
2wnuwiuny
4 Ununph b bph pwjpwyjwé phnnub gluwdwubiph u3
Yuwadwwnnud wulidwgnpsdhpny, pwpénud 3 26780,0 80340,0
wywnnhuptwpwt 0.65d3 stipbthny Epuljwywwnnpny
8 wnbnwihntunud \gwynywn 7.04d wnnl 7.2 700,0 5040,0
6 Ununpnud b Gjpnud giruwdwubiph ppwlwtwgdwt hwdwp d3
thnunpwlyubiph thnpnud 0.6543 gbipbithny Epulwdwinnpny, 1,5 390,0 585,0
gpninh wwhbuinwynpnud 11(334)
7 dwub uwgdwu hwd u3
SO e tiigui idp 05 13750,0 6875,0
Lwiwwwinpwunwlwl 2bpwn jubng
8 | dhwény| pbwnub giluwnhpubph hpwlywuwgnu B20 u3 6,9 105850,0 730365,0
8" | hkbwlywihtu wwnwdh dhwany| pbint B20 d3 1,0 77950 77950,0
9 | & wdwuh unpngnul gbd.wyw u d2
1h gifu h unpngnul gbd.wywquyht wnuwfuny 95 5820.0 55290.0

M200, h=5ud




10 | <bwwnuwna hgp Epulwywinnpnd/0.65d3/,9pnuwing U d3 15 990.0 1485.0
futnwgdwdp
4U41+960.0 @1.50 b/p funnndwly, dnunpp wehg
1 funnndwyh dnunph dwppnud gpniunhg dknpnd, 43 i 1970.0 1970.0
Ynynwdnpnud, pwpdnud wyunnhuptwpewih 1133y
2 pwpdnul dnpny wywnnhuptwpwth b inbnwihnfunud nnu 1.75 1090.0 1907.5
[gwynywn 74d hbnwynpnigywt Ypw 1133y
3 &/p funnnqwlh Ywpbiph puignd gbd.wywqught d3 0 50820.0 5082.0
gunuwhung
4 | Ununph gnjnuejni niubignn puypwjyws gifuwdwuh u3
Yuqdwwnnu wulbdwgnpdhpny, punanud wynnhbptwpuwih 4,5 26780,0 120510,0
0.65U3 gbipbthny bpulwywinpnd,
5 wnbnwihnfunud guynywn 7.04d wnnu 10,8 700,0 7560,0
6 Ununpnud b tijpnud qiiuwdwutiph hpwlwlwgdwu hwdwp u3
thnunpwlutiph thnpnwd 0.6503 ptipbiiny Epulwwinnpny, 1,5 390,0 585,0
gnniinh wwhbBuwnwynpnu 11(33y)
7 | gqlluwdwuh hpwhwbwgdwl hwdwp d3 05 13750.0 6875.0
Lwhiwwywnpwunwlwy pbpan fuéng
8 | dhwény| pbunub gifuwnhph hpwlwlwgnu B20 u3 6,2 105850,0 656270,0
8" | hbbwlwiht wwnwdh dhwany| phnnt B20 U3 1,0 77950 77950,0
9 Eieh glluwdwuh unpngnud ghd.wywquyht swnwiuny 2 215 4920.0 105780.0
M200, h=4ud
10| <bwwnwné (hgp bpulwywinnpnd/0.65d3/,9pnuiny L u3 15 990.0 1485.0
funwgdwdp
“d42+340 01.5d b/p funnnyuily, dnunpp wehg
1 runnnwlh dnunph b biph dwppnud gpniuinhg 0.6543 u3 105 560.0 5880.0
2tpbhing Epulwyuwinnpny, pwpanu hplwpwih
2 | wbnwipnfunwd |gulynywn 7.044 tnnl 18,375 700,0 12862,5
3 funnnwbh dhoh dwppnud gpniinhg dbnpny, u3
Ynywnwynpnud, pwpanud wnnhuptwpwth b 5,8 1970,0 11426,0
wnbinwihnfunu |gwlnywn 7yd hnwynpniejwl Ypw 11334
4 pwpdnud dtinpny wywnhtptwpwih U nbnuwihnfunw nnl
[gwnyn 7Yd hbnwynpnigjwt Ypw 1133y 5 1030.0 11063,5
5 B/p unnnduwlh Yupbph pwignu ghd.wdwquihu d3 o 50820.0 5082.0
punufuny
6 Ununph gnjnipynits niutignn pupuyyuws g(uwdwup d3
Juqdwwnnud wulidwgnpdhpny, pwpanw wywnnhuplwpwih 4,5 26780,0 120510,0
0.65d3 2tipkithny Epulwywinpnd,
7 wbnwihnfunud |gulnyin 7.04d wnnlu 10,8 700,0 7560,0
8 Ununpnud qifuwdwuh hpwlwbwgdwl hwdwp u3
thnunpwlibiph thnpnud 0.6503 tiptithny Epuljwdwinnpny, 1,5 390,0 585,0
gpniiinh wwhbuwnwnpnu 11(334)
9 gluwdwuh hpwlwlwgdw hwdwp d3 0.5 13750.0 6875.0
Uwhiwwunpwunwlwl sbpn futing
10| dhwany| pEinnutb giruwnhph hpwlwlwgnul u3 8,1 105850,0 857385,0
10" | htbwluwht wuinwdh dhwdny| ptitint B20 d3 1,0 77950 77950,0
11| Bph gluwdwuh unpngnu gbd.wywquiht Jwnwfuny 2 95 58200 55290.0

M200, h=5ud




12| <hwnwnwnd (hgp Epufwydwinnpnd/0.65d3/,9nnuwiny b d3 15 990.0 1485.0
futnwgdwdp
4d42+630 @1.50 b/p funnnywly, dnunpp wohg
1 funnnywlh dnunph b bph dwppnud gpniinhg 0.6503 u3 17 560.0 9520.0
2tiptithny tpulywdwinpny, pwpanud wywnnhuplwpewih
2 nbnwihnfund |gwlnyun 7.044 wnnu 29,75 700,0 20825,0
3 funnnqwlh dheh dwppnul gpniinhg dbnpny, d3 12,5 1970.0 24625.0
Unywnwinpnud 1133y
4 pwndnud dbinpny wywnnhtptwpwih U wbnwihnfunw wnu 21.875 1090.0 23843.8
1gwynywn 74d hbnwynpnipjw Ypw 1133y
5 | b/p unnndulh Gupbph puggnu gbd.wywqujht d3 0.1 50820.0 5082.0
2wnuiuny
6 Ununph gnjnipnit niubignn puwjpuyywd gfuwdwup d3
Ywgdwwnnud wulidwanpdhpny, pupanud wyinnhuplwpwth 3,5 26780,0 93730,0
0.65d3 ptipkthny Epulywywnpny
7 wnbnwihnfunut gulynywn 7.044d tnnl 8.4 700,0 5880,0
8 Ununpnud glluwdwuh hpwlwtiwgdwl hwdwp U3
thnunpwlubiph thnpnud 0.6543 sbkpkithny Epulwydwwnnpny, 1,5 390,0 585,0
gpninh wwhbunwdnpnu 11(334)
9 | gluwdwuh hpwlwbwgdwl hudwn d3 05 13750.0 6875.0
Uwhiwwwwpwunwlw spn fuény
10| dhwany| pbnnub gituwnhph hpwlwuwgnui B20 u3 6 105850,0 635100,0
10" | htbwlwht wnwdh shwany| pnnt B20 d3 1,0 77950 77950,0
1 Glph qifuwdwuh tnpngnud gbd.wlwquyht pwnwpuny U2
1 i 200,
M200. h=5us 0 5820,0 58200,0
2 .65d
1 <bunwnwnd (hgp tpulwywinnpny/0.65 3/,9pnudny b d3 15 990.0 1485.0
funwgdwdp
4042+920 01.0d b/p funqnduwly, dnunpp wohg
1 :
funnnuwyh dnunph b Gph dwppnud gnniunhg 0.6543 d3 9.5 560.0 5320.0
2biptithny Epulywdwinpny, pwpanwd wyinnhuplwpwih
2 | wbnuihnfunud |gulnywn 7.04d nnu 16,625 700,0 11637,5
3 |h dhoh d &
nnnywlh dhoh dwppnud gpnitinhg Gnpny, d3 75 1970.0 14775.0
Unywnwynpnud, 1133y
4 puwnénud dtinpny wywnnhuptwpwih b inbnwihnfunud innu
1 1 1
[gwynywn 74d hbinwynpnueywt Ypw 11334 4135 090.0 el
5 |b b d gbd. u3
/p funnndwh Yunbiph inwignud gbd.wiwquht o1 50820.0 50820
qwnuhuny
6 | Geh qluwdwuh tnpngnuw gbd.wqwquyht gwnwfuny u2
M200, h=5ud 7 5820,0 40740,0
7 | Bph gnjnijnit nibignn pwjpuwyywsd gluwdwuh d3
Yuwqdwwnnid wulidwgnpdhpnd, pwpénw wywnnhlplwputh 3,5 26780,0 93730,0
0.6543 2tiptithny bpuljwywinpny
8 | mbnwihnfunud igwlnywn 7.044 wnnu 8,4 700,0 5880,0
9 Giph glluwdwuh hpwlwuwgdwy hwdwn thnunpwlubph u3
thnpnui 0.6543 2tipkithny Epuljwywinnpny, gpntunh 3,5 390,0 1365,0
Wwhbuwnwynpnud 11(33y)
10 dwu wuwgdw hwd d3
utcuuh hpuljuboigdiuls husfusp 0,46 13750,0 6325,0

Uwhwwwnpwunwlwl gkpn futiny




1 dhwdny| pbuinub giluwnhph hpwlwuwgnid d3 4,5 105850,0 476325,0
11" | hbuwuyhu wwnwdh dhwany| ptiwnu B20 d3 1,0 77950 77950,0
12| <buwnwné hgp tpulwywinnpnd/0.6543/,9pnwdng b d3 35 990.0 3465.0
futnwgdwdp
L1Wi43+330.0 @1.5d b/p fjunnndwly, dnunpp wohg
1 funnnywyh dnunph b Gph dwppnud gpniunhg 0.6543 d3 6.5 560.0 3640.0
otipbthny Epuwydwnpny, pwpdnud wywnnhuptwpwih
2 nbnwhnfunwd guynywn 7.04d wnnu 11,375 700,0 7962,5
3 funnnquwlh dhoh dwppnu gpniiinhg dbinpnd, d3 ] 1970.0 1970.0
Ynywnwynpnud 1133y
4 pwpanu dbnpny wywnnhuptwpwih b nbnwinfund wnnl 175 1090.0 1907.5
[gwynywn 74d henwynpniejwt Jpw 1133y
5 G/p funnnduwlh Ywpbph jpugnd gbd.wdwquht d3 o 50820.0 5082.0
2wnuwifuny
6 Ununph b Giph pwjpwjdwd pbunntb glfuwdwubph d3
Yuqdwwnnd wulidwgnpdhpny, pwpénd wynnhuptwpwih 7.5 26780,0 200850,0
0.654d3 2tipbithny Epulwydwnpny
7 wnbnwthnfunwd |gwlnyuin 7.04d nnu 18 700,0 12600,0
8 | Ununpnud b Gipnud giluwdwubiph ppwlwbwgdwt hwdwp u3
thnunpwlubph thnpnud 0.65d3 gbpbiging Epuljwywinnpny, 10 390,0 3900,0
gnpniuinh wwhbuwnwynpnwd 11(334)
9 gihuwdwubph hpwlwtwgdwl hwdwp d3 0.5 13750,0 6875.0
Uwhiwwwwnpwunwlwy gbpn jubng
10 | dhwdény) pbwnub giluwnhph hpwlwuwgnud u3 8,1 105850,0 857385,0
10* | htuwlywyht winwdh dhwény) pnnu B20 d3 1,0 77950 77950,0
n | <k a 0.6543/,
tnwnuwnd |hgp Epulwywnnpny/ 3/,onnudny L d3 10 990,0 9900.0
futnwgdwdp
L4d43+790 @1.0d b/p funnndul,
1* /
funnnywyh dnunph b Biph dwppnud gpniuinhg 0.6543 U3 15.0 560.0 8400.0
2tptthny Epulwwinpny, puwpdnd wynnhuplwpwih
2* | wbhnwdnund |gulnyun 7.04d nnu 26,3 700,0 18375,0
3* | Ununpnud b Bppnid giuwdwuh hpwwbiwgdwt hwidwp d3
; 13750, ;
Uwhiwwwwnpwuinwlwl obpn fung O 750.0 a0
4 U d b Gpnud & Buwnub
nunpnt lenud dhwidny| pbinntb gfuwnhph u3 4.0 105850,0 423400,0
hpwywlwgnud B20
5* hEUwlwht winwdh dhwdny| pbint B20 u3 1,0 77950 77950,0
4i43+960 2.0x2.0d ninnuilynit bi/p funnaywl, dnunpp
duwifuhg
1 funnnyuwlh dnunph b Bph pbnnub plbph L d3
quiuwnhpubinh Yuquwwnnud wubdwgnpdhpny, piynplbiph
pwpdnud wywnnhlptwputh 0.6543 stipkithny 8.3 “RABNI 227630,0
Fpulwdwwnnpny
2 | wbnuihnfund jgwlynywn 7.044 nnu 20,4 700,0 14280,0
3 |G/ptun b d ghid. u d3
P funanduwlh Yupbph inwignd gbd.wywquh o 50820.0 5082.0

2wnwhuny




4 | Unwnpnud unp plubiph ppwlwtwgdwl hwdwp d3
thnunpwutiph thnpnud 0.6543 gtiptithny Epulwywinnpny,
30% gpniuwnh pwpanud wywnnhuptwpwi b 1,35 560,0 756,0
wbnwihntunwd (gwynyw 74d htn. Jpw
5 wntbnuwihnfunid |gulynywn 7.04d nnl 2,3625 700,0 1653,8
6 | Unwnpnud unp plbph ppwlwtwgdwt hwdwp u3
thnunpwlutiph thnpnud 0.65d3 2bpbthny Epuljwywinnpny, 3,15 390,0 1228,5
gpnunh wwhbunwynpnd 11(334)
7 | <bwnwnwpd |hgp Epuljwdwinnpnd/0.65d3/,9pnwiny U d3 3.15 990.0 3118.5
futnwgdwdp M3
8 Ununph pltiph hhdpbiph hpwlwuwgdwt hwdwp d3 0.92 13750.0 12650.0
Lwhiwwwwnpwunwlw gepn fuéng
9 Ununph plutiph hhdptiph ppwlwuwgnid dhwény) pewnunyg | U3m3 6.3 64000.0 403200.0
10 | Ununph plbtiph hpwuubph hpwlwlwgnud dhwany d3 6.38 65870.0 420250.6
pbwnuny
1 Unwnpnud b Bpnud giluwnhpubph hpwlwbwgnud dhwany U3 47 65870.0 309589.0
phwnnuny
11" | hEbwluwht wnwdh dhwdny| pbnnt B20 d3 1,5 77950 116925,0
12| Giph gnjnieiniu niwbignn pbunnul pubph Jepwunpngnud u2 6 5820.0 34920,0
ghd.wwquyht gwnwund M200, h=5ud
13 | Bpnud hniip dbg pwpwih thgph hpwlwlwgnut d<0.3d d3 3 6030,0 18090,0
4145+280.0 ©1.0d b/p unnnqwly, dnunpp &wfuhg
1 ;
funnnywlh dnunph dwppnud gpniiinhg 0.6543 otiptithny u3 5 560.0 1120.0
Epulwywinnpny, pwpénud wyinnhtpliwpwih
2 nbnwihnfunwd [guynywn 74d htin. pw nnl 3,5 700,0 2450,0
3 &/p funnnduwlh Yupbiph puignu gbd.wwaquiht u3 0.1 50820.0 5082.0
2wnuifuny
4 | Ununph b bph pwjpwjqwd pbnnut guwdwubph d3
Ywgdwwnud wubdwgnpdhpny, pwpanud 7,5 26780,0 200850,0
wywnhuptwpwth 0.6543 stiptithny tpuljwywinnpny
5 nbnwihnfunw iguynywn 7.04d nnl 18 700,0 12600,0
6 | Ununpnud b bjpnud gluwdwubiph hpwlwbwgdwt hwdwp d3
thnunpwyh thnpnud 0.65U3 bipkithny Epulwywinnpny, 6 670,0 4020,0
gpniunh wwhbuwnwynpnud IV(10k)
7 Giuwdwubph hpwlwtwgdwl hwdwp U3
LUwhwwwwnpwunwlwl 2bpin fuing 0.5 L 4280.0
8 | giluwdwubiph hpwlwlwgnu B20, F100 d3 45 105850,0 476325,0
8* hbwlwiht winwdh Jhwény| pinnt B20 u3 1,0 77950 77950,0
9 | <k 3 0.65d3/,9pnwiny L u3
nwnwnd hgp kpulwiwinnpnd/0.6503/,gpnuing " P S
fuwnwgdwdp
10 | Gpnud hnih dbg pwpwjhti (hgph hpwlwbwgnul d<0.34 u3 7 6030,0 42210,0
4U45+410 @1.0d b/p unnndul, dnunpp wehg
1 hunnn dnunph b Gph d d U 0.654d3 d3
nnywh dnunph b Giph dwppnud gpntutnhg 3 560.0 1680.0
2biptthny Epuljwdwinpny, pwpdnud wywnnhuptwpwih
2 inbnuwihnfunud |gwlnywin 7.04d nnu 5,25 700,0 3675,0




3 tunnnywyh dheh dwppnui gpniiinhg dtinpny, u3 0.5 1970.0 985.0
Ynywwynpnwd 1133y
- pwpénud dnpny wywnnhtpwpwih b inbnwihnfunud nnu
(gwlynywn 74d hnwydnpnipjwt Ypw 11334/norpys«xa TOH 0,875 1090,0 953,8
BPY4HYIO NEpeBo3ka 8 0TBan 7KM
5 &/p funnnuwlh Yuwpbiph jpuignud gbidwwquiht d3 0. 50820,0 5082.0
awnuwfuny
6 Ununph b Giph pwjpwydwd phinnub qiluwdwubiph u3
Yuqdwnnud wulidwgnpdhpny, pwpénud 8,5 26780,0 227630,0
wywnnhtpuwpwh 0.65d3 stpbthny Epuljwywwnnpny
7 wbnwihnfunud (gulnywn 7.04d nnl 20,4 700,0 14280,0
8 Ununpnud L bpnud Unp plbiph hpwlwbwgdwt hwdwp Jd3
thnunpwlutiph thnpnud 0.6543 2bpbithny Epulwywinnpny, 6 390,0 2340,0
gpniunh wwhbumwynpnud 11(334)
9 | giluwdwubph hpwhwbwgdwl hwdwp d3 0.6 13750.0 8250.0
Lwhiwwwwpwunwlwy sbpn fubng
10 | glluwdwubiph hpwywuwgnud B20, F100 u3 8 105850,0 846800,0
10* | hbbwywjht winwdh dhwdny pbnnt B20 53 10 77950 77950.0
1| <bwwnwpd |hgp tpulwywinnpny/0.65d3/,9pnuiny L d3 6 990.0 5940.0
futnwgdwdp
4J46+150.0 @1.04 b/p funnnywly, dnunpp wehg
1 funnnywih dnunph b biph dwppnud gpniuinhg 0.6503 u3 6 560.0 33600
26pbthny Epuljwywiinpny, pwpénu wyinnhtpwpwtih
2 | wbnwihnfund |gwlnywn 7.04d nnl 10,5 700,0 7350,0
3 funnnywyh dhoh dwppnul gpnitinhg dkinpny, d3
1 1970, 1970,0
Ynyunwynpnud, pwpanud wynnhuptwpwih 11334 e
4 pwpdnu dbnpny wywnnhtptwpwth b wbnwdnfunu nnu
7 1
lgwlnywn 74d htnwdnpnueywt Ypw 11334 78 i 2
d.
5 | B/p unnndwlh Yupbiph ppuignid gbd.wdwquht d3 o1 50820.0 5082.0
punuwhuny
6 Ununph pwjpwyywd phnntb guwdwuh Yugdwnn u3
wulidwgnpdhpny, pwpdnw wywnnhuptiwpwth 0.6543 3,5 26780,0 93730,0
gbpbiung tpuluwuwinnpny
7 | wbnuipnunud gulynywn 7.04d nnl 8,4 700,0 5880,0
8 | hunnnwlyh biph Ubippht hbuwwwinh Jeph hdhe.=0.8d U3
pupwijwd hwindwsdh Yuqdwnnud wulidwgnpdhpny,
6.4 7
dhwppbgnud, piynpubiph pwpanud wydwnhtplwpwth ' 00 PR
0.6543 ptiptithny tpulwywwnnpny
9 | wbnwipnfunud |gwynywn 7.044 wnl 15,36 700,0 10752,0
10 | Ununpnud gifuwdwuh hpwlwbwgdwl hwdwp hwdwn d3
thnunpwlubiph thnpnud 0.6503 pbipbithiny Epuljwywinnpny, 6 390,0 2340,0
gnninh wwhbuwnwynpnu 11(334)
1| glluwdwutph hpwlwbwgdwl hwdwp u3
Uwhiwwwnpwunwlwy 2bpwn fuéng 0.5 50,0 SEo
12| qiuwdwuh hpwlwbwgnud B20, F100 u3 1,4 105850,0 1206690,0
12* | hbuwlwht winwdh dhwany| pbinnt B20 u3 0,5 77950 38975,0
13 | <bwnwnuwpa Epuljwdwinnpny/0.6543/,9pnuiny L d3
nwnd (hgp tpulwdwinnpny gpnuiny 6 990.0 5940.0

futnwgdwdp




14 | Bph hebwwywwnh Ybpwunpngnud gbd.wywqujht u2
2wnwiuny h=5ud’ bwhiwwbu dewnwnwlwl gwtigh 70 6160,0 431200,0
intinwnpnuind, (100x100)Jdd @4 Bp- |, P=0,139wn ‘
15 | Benu htuwwwnh wébgnu dhwany) pbunting' 1,2x0.44, u3 9.6 65870.0 632352.0
L=20.04
4U46+540 01.0d b/p funnnywly, dnunpp wohg
1 funnnyuwyh dnunph L Gph dwppnud gpniinhg 0.6503 d3
2tptthny Epuljwywinpny, pwpdnud wywnnhuptwpwh b 75 560,0 4200,0
wnbnwihnfundd (gulnywn 74d htn. Ypw
2 wnbnwipnfunud |gwlnywn 7.044 wninu 13.125 700.0 9187 5
nepesosxa B otean  7.0Kkm
3 tunnnyuwih dheh dwppnus gpniunhg dtinpnd, d3 25 1970.0 4925.0
Ynywnwynpnud, pupdnud wdnnhuptwpwih L 133y
4 | pwpénud dknpny wywnnhpwpwih U nbnwthnfunid tnnl 4375 1090.0 4768.8
(gwlnywn 7Yd hbnwynpnueywt Ypw 1133y
5 E/p unnnyuwlh Yunbiph pwignud gbd.wywaquiht d3 0.1 50820.0 5082.0
2wnuwfuny
6 Ununph pujpuywsd phiinntb qfuwdwuh Yuwqdwinnd a3
wulidwgnpdhpny, pwpdnwd wyinnhupwpwth 0.65d3 2,5 26780,0 66950,0
2bintithny Epuluiduinnnpny
7 | wbnwihnfunud \guynywn 7.044 nnu 6 700,0 4200,0
8 Ununpnud qifuwdwuh hpwlwtiwgdut hwdwp hwdwp d3
thnunpwlutiph thnpnud 0.6543 otipkithny Epuljwdwinnpny, 1,5 390,0 585,0
gpniuinh wwhbunwynpnud 11(33y)
9 glluwdwubiph hpwlwbwgdwl hwdwp U3
) 13750, ;
Uwhiwwwinpwunwlwt skpwn fubng i 50,0 Bh78.0
10| Ununpnud dhwany| pbunnub Gluwdwuh hpwywlwgnud u3
B20, F100, swih 4.0x3.2x0.44 . e =700
10* | htu u dh dhwd Gunnu B20
e L LTI 63 05 77950 38975,0
Mononuthslii
1 <k ] 0.6543/, L
wnwnwnd |hgp Epulwdwinnpnyd/0.654 /.onnudny u3 15 990.0 1485.0
futnwgdwdp
12| bph qiluwdwuh unpngnud gbid.wjwquiht gwnwtuny u2
M200, h=5u 15 5820,0 87300,0
4U46+680 01.0d b/p funnnywly, dnwnpp wehg
1 u d d d u 0.654U3 stipk d3
nanwiyh dnunph dwppnud gpnitinhg 2intihny 35 560.0 1960.0
Epuljwlwinpnd, pwpanud wywnnhtplwpwih
2 wnbnwihnfunud |gwlnyun 7.0y nnl 6,125 700,0 4287,5
3 |k b Jd ghd. u d3
/P funnnyuwlh Yupbiph puignud gbd.wdwquh o1 50820.0 5082.0
2wnufuny
4 Ununph L biph pwjpuywsd phinnub quwdwubiph d3
hwqdwwnnd wulidwgnpshpnd, pwnénu
wywinhuptiwpwih 0.6543 skipkithny Fpulwwinnpny L 65 +6700,0 L
wnbnwihnfund guilynywn 7.0
5 nbnwihnfunu |gwlnyun 7.04d tnnu 15,6 700,0 10920,0




6 | Unwunpnud b bpnud gqiluwdwubph ppwlwbiwgdwt hwdwp d3
hwdwp thnunpwlutiph thnpnud 0.6543 sbipkithny 6 390,0 2340.0
Epuywywwnnpny, gpniunp wwhbunwynpnud 11(334)
7 | quwdwubph hpwywbwgdwl hwdwp u3 06 13750.0 8250.0
Uwhiwwywinpuwunwlwu 2bpn fubng
8 pbunnub qluwdwubph hpwywuwgnud B20, F100, d3 2,7 105850,0 285795,0
8* hbuwlwiht wwnwdh dhwany pivinu B20 u3 1,0 77950 77950,0
9 | <bnwnuwpd (hgp bpulwywinnpny/0.65d3/,9pnuiny 3 6 990.0 5940.0
futnwgdwdp
L4d46+930 @1.0d b/p funnnywl, dnunpp wehg i
|
1 funnnwlh dnunph dwppnud gpniuinhg 0.6543 obipbithny U3 25 560.0 1400.0
Epulwydwinpny, pwpénud wywnnhuptwpwih
2 nbnwihnfunud gulynywn 7.04d tnnu 4,375 700,0 3062,5
3 &/p funnnyuwlh Yuwpbiph jpuignud gbd.wdwquht d3 o1 50820.0 5082.0
P
4 Ununph b Giph pwjpwjwd phinnnub qlluwdwubiph u3
Yuqdwwind wulidwgnpdhpny, pwpénud 7 26780,0 187460,0
wywnhtptwpwth 0.65d3 2tiptithny tpulwywinnpny
5 | mbnuihpnpunud gulnywn 7.04d nnl 16,8 700,0 11760,0
6 Ununpnud b Gipnud gifuwdwubph hpwlwbiwgdwt hwdwp d3
hwdwp thnunpwlubph thnpnud 0.6543 gtiptithny 7 390.0 2730.0
Epulwydwinnpny, gpniinh wwhbuwnwynpnu 11{33y)
7| giuwdwubiph hpwywbwgdwl hwdwp d3
0, 1 i 50,0
Lwhiwwywwnpwunwlwl 2tpn fuényg . 3750,0 £e
8 pbwnnub gluwdwubiph hpwlwuwgnud B20, F100, d3 43 105850,0 455155,0
8" hEUwywiht winwdh Shwany) pbnnu B20 u3 1,0 77950 77950,0
.6543/,
9 | <bnwnwné hgp tpulwywwnnpny/0.6503/,9pnuiny L u3 7 990.0 6930.0
funwgdwdp
4U47+050 @1.254 b/p funnnywly, dnunpp wehg
1 Ununph U biph pwjpwjwd phinntb guwdwutph d3
Ywqdwwnnud wulidwgnpdhpny, pwpanud 7 26780,0 187460,0
wywnnhupwpwth 0.6543 gbipkthny bpulwdwinnpny
2 | wbnwihnfund |gwlnywn 7.04d nnu 16,8 700,0 11760,0
3 | Ununpnud b bigpnud qifuwdwubiph hpwlwbwgdwt hwdwp d3
hwdwn thnunpwlubph tinpnud 0.6543 gkipkithny 6 390.0 2340.0
Epulwywwnnpny, gpniunh wwhbunwynpnud 11(334)
4 gluwdwubph hpwlwuwgdwl hwdwp d3
Lwhiwwwnpwunwlwy gbpn fubny 0.8 13750,0 S50
5 | pbiunub gluwdwutiph hpwlwlwgnud B20, F100 u3 6,1 105850,0 645685,0
5* htuwlwiht wunwdh Jhwény| pinnt B20 u3 1,0 77950 77950,0
6 |<b a y /0.65d3/,9pnudny L d3
nwnwnd (hgp bpulwywinnpny, gpnuiny 6 990.0 5940.0

futnwgdwdp

4d47+510 01.0d b/p funnnywly, dnunpp dwfuhg




funnnyuwlh dnunph dwppnud gpniiinhg 0.654d3 skiptithny

d3

1 560,0 560,0
Epuljwywnpny, pwpdnud wnnhtpliwpwih
2 nbnwihnfunud |gwlnyw 7.04d tnnu 1,75 700,0 1225,0
3 &/p unnnquwlyh Ywpbph puignud gedwdwgquyht d3 o1 50820.0 5082.0
2unuifuny
4 Ununph U Bph pwjpuywd phnnub gluwdwubph d3
Yuwqdwwnud wubidwgnpsdhpny, pwpénid 4,5 26780,0 120510,0
wyinnhuptwpwith 0.65d3 2bpbthny tpulwwwnnpny b
5 inbnwihnfunud [gulynywn 7.04d nnl 10,8 700,0 7560,0
6 Ununpnud b Bipnid giluwdwubiph ppwlywbiwgdwt hwdwp d3
thnunpwlh thnpnud 0.65d3 2bpbthng Epulwywinnpny, 6 670,0 4020,0
gpniunh wwhbuwnwynpnud IV(106)
7 giuwdwubph hpwywbwgdwlu hwdwp u3 0.6 13750.0 8250.0
Uwhwwwnpwunwlwl obpun fung
8 dhwdény| pbnnub giluwdwutiph hpwwbwgnud B20 U3 55 105850,0 582175,0
8 hbuwlwht wwnwdh dhwdény| piwnnt B20 d3 1,0 77950 77950,0
9 | <bwnwnuwpd |hgp tpuljwdwwnnpny/0.6583/,9pnuiny b d3 6 12200 7320.0
futnwgdwdp
10 | Gpnud hniuh dbg pwpwiht thgph hpwlwbwgnul d<0.34 u3 9 6030,0 54270,0
4U47+640.0 01.25d b/p funnnywl, dnunpp wehg
654
1 funnnqwlh dnunph dwppnud gpnitunhg 0.6543 skpbting d3 ] 560.0 560.0
Epuljwduwinpny, pwpdnud wyinnhuplwpwih
2 | wbnuihnunud lgulynywn 7.044 nnu 1,78 700,0 1225,0
3 funnnduwlh dhoh dwppnud gpniuiinhg dtinpny, a3
1 1970, 1970,0
Ynywwynpnud, pwpdnud wynnhupbwpwih 1133y 0D .
4 pwpénud dEnpny wyunnhupuwpwih b wbnuinfunud wnnl 175 1090.0 1907.5
[gwlynywn 74d henunpnipjwt Jpw 1133y
b i
5 /p funnnqwh Yunpbph puignud gbd.wlwquht u3 o 50820.0 5082.0
punwfuny
6 Ununph pwjpwijwd phinntb gluwdwubiph Yugdwinnu d3
wulidwagnpdhpny, pwpénwd wywnnhuptwpwd 0.6503 3 26780,0 80340,0
2bptithny Epuljwywinnpny
7 | whnwthnfund lgulnyun 7,044 nnu 7,2 700,0 5040,0
8 Unuwnpnud gifuwdwuh hpwlwlwgdwt hwdwp thnunpwlh d3
thnpnwd 0.6503 2tiptithny bpuljwdwinnpny, gpnititnh 6 670,0 4020,0
wwhbuwnwynpnwd 1IV(106)
9 | guwdwuh hpwlwuwgdw hwdwp d3
Lwhiwwwinpwunwlwy sbpun fubny o Ta7e0.0 8250.0
10 | Ununpnud dhwény pbunut qruwdwuh hpwlwliwgnud u3
B20, F100, swih 4.6x3.2x0.40 o 105850, 1026745.0
10" | hbbwluwht wnwdh dhwany| pbnnt B20 u3 0,5 77950 38975,0
n Chunwnupa 0.65d3/, dny L u3
"Hars (hap Spuliwiluannngd/0.6503, gpnulnd 6 1220,0 7320,0
funwgdwdp
12| 5ph httwwwwh hhdph b hpwth funnngubiph (nwignd d3
dhwény) pbwnuny, B20, F100: b G3700.0 TH4BGa.0
13| Bleh htbwwwwh Yapwlnpngnud gtid.wdwquyht U2
2wnwiuny h=5ud" bwhiwwbu dEnwnwlwu guugh 70 6010,0 420700,0

wnbnwnpnwny, (100x100)dd @4 Bp- |, P=0.139wn




14 | Gipnud hbbwmwmr Ypw wwpwwbinh hpwlwtwgnud g6l 20 34260.0 685200.0
dhwény| pbnnuny’ 0.8x0.44, L=20.0d:/6.4d3
Y41147+960.0 @1.0d b/p funnnyuwly, dnunpp wehg |
i
!
1 Ununph b biph pwjpwidwsd pbunnub gluwdwubph u3
Ywgdwwnnud wubdwanpdhpny, pwpanud 5 26780.0 133900.0
wywnnhupbwpwdr 0.6543 gbiptihny Epuljuwdwnnpny b
nbnuwipnund  (gulynyun 7.0
2 ntinuwthnfund (gulnywnn 7.04d wnnu 12 700,0 8400.0
3 Ununpnud b Gipnud giluwdwubiph ppwlwtwgdwy hwdwnp d3
hwdwp thnunpwlubph thnpnud 0.6543 obpkchny 6 900.0 5400.0
Epulwdwwnnpny, gpniunh wwhbunwynpnud 11(334)
4 giiuwdwubph hpwlwuwgdwu hwdwp d3 0.6 13750.0 8250.0
Uwhiwwwwnpwunwlwu 2bpwn fuény
5 pbhuinub gqluwdwubph hpwywuwgnud B20, F100, d3 7,5 105850,0 793875,0
Shg hEuwlwiht wwnwdh dhwany; pnnu B20 d3 1,0 77950 77950,0
< 3
6 Guwnwnd (hgp Epulwywinnpny/0.65403/,9pnudny L d3 6 990.0 5940.0
futnwgdwdp
L4U49+460 @1.0d b/p unqndul, dnunpp dwfuhg
1 funnnuwyh dnunph dwppnud gpniunhg 0.6543 stiptithng d3 | 560.0 560.0
Epuywdwwnpnd, pwpdnd wdnnhupbwpwtih
2 | wnbnuihnfund gwynywn 7.04d wnnu 1,75 700,0 1225,0
3 | Ununph puypuyywéd pbunntb gluwdwuh fugdwmnnid u3
wulbidwgnpdhpny, pwpénw wywnnhuptwpwth 0.6543 7 26780,0 187460,0
2biptithny Epulywiduwinnpny
4 | wmbnwihntund gwynywn 7.0yd wnnu 16,8 700,0 11760,0
5 | Ununpnud b Bpnud gluwdwubnh ppwlwbwgdwt hwdwp u3
thnunpwlh thnpnud 0.65d3 2bnbihny Epulwyduwinnpny, 6 670,0 4020,0
gpniunh wwhbuwmwynpnd 1V(10k)
6 dwub Uwgdwl hwd d3
st oy it it by 0.6 13750,0 8250,0
Uwhwwwwnpwuinwlwu 2bpn fuény:
7 Ununpnud dhwdény| pinnub guwdwuh hpwlwbwgnd d3
B20, F100, swih 3.2x3.0x0.44 0o 109R30.9 e
7% | Ununpnud dhwdény) pbnnub gluwdwuh hpwlwbwgnud d3
B20, F100, swih 3.2x3.0x0.44 e RO HIGE0R
8" htUwlwiht wwnwdh dhwany| pbinnt B20 d3 0,5 77950 38975,0
8 |4k a /0.65d3/,9pnudny b d3
tnwinwnd [hgp tpuljwlwinnpny, /.gnnudny 6 1220,0 7320.0
futnwgdwdp
4U49+370.0 Uhwany| phtnnub ubppht hbuwwww wehg,
L=40.0L§, hﬂh9=300
1 Lhuwwwinh bpbiuh dwppnud gpntuinhg dbnpny, puwpanud u3
dlembliplossuis 153 3,5 1970,0 6895,0
2 pwnanud dinpny wywnnhupuwpwh b nbnwinfuna wnnl
gwlynyn 74d hbnwdnpnipjwt Ypw 1133y wils TRy B676.3
3 | <Buwwwnh Gplwjupn dn d dbnpny, d3
wwinh Gplwjupny fupwdninnt thnpnt pny 10 5090.0 50900.0
gpniuwinh Ynywnwynpnid
4 30% pwpénui wywnhtptwpwih pwpdnud dknpny nnl
wywnnhuptwpwtih b nbnwihnfunad jgwlnyn 74 5,85 1090,0 6376,5

hEnwynpnipjwt Ypw 1133y




5 | <buwwwnh funnngubiph jpwgnud dhwény| phunntnd, B20, d3 15 63710.0 95565.0
F100:
6 | <Buwwwuwnh hpwunwd hnphgnuwlwu hnpwnwugpbiph hwuwn 240 1300.0 312000.0
hnpwwnud quyhynudwt dhongny L=0.24, d=0.03d
7 | €Buwwwnh hpwund ynnuwnt fuwnphufuubph @16 Alll nnl 01213 822060.0 99715.9
wwnpwuwnnd b nbnunpnd L=0.324d:
8 | Swdwpnipnuiht  ¢100 dd wnhkphiuwhu gd.d 16.8 2580.0 43344.0
funnnyuwlubp
9 LEuwwwinh hpwuh Jepwunpngnud dhwdény| U3
wdpwuwynpywd phinnuny B20 , F200,hdhe.=15ud, 18 87060,0 1567080,0
wdpwup wwpniuwynigniup @10 AlllI=886.8Lg:
Alll @10dd/mm nnu 0,8868 734940,0 651744,8
8 (bhu:uql,umh Ypw dhwdnyg pbmn"ub hpwywuwgnud B20 , d3 44 727100 319924.0
F200" hwdwhwpprbgnuwny, wih' 0.2x0.55, L=404,
L41d50+040.0 ©1.0d b/p funnnywly, dnunpp wehg
1 Ununph U bph pwjpwydwd phinnub gluwdwubph d3
Yuwgdwunnud wubidwgnpdhpny, pwpdnwd 55 26780,0 147290,0
wywnnhuptwpwth 0.6543 2tpbthny tpuljwywwnnpny
2 wbnwihnfund |gwlnywn 7.04d nnu 13,2 700,0 9240,0
3 Ununpnud b Bpnud giluwdwubph hpwlwtiwgdwt hwdwp d3
hwdwp thnunpwlubph thnpnd 0.6543 obipkhny 4 390,0 1560,0
Epuywdwwnnpny, gpniunh wwhbBunwynpnid
4 giiuwdwubph hpwlwbwgdwu hwdwp d3 0.6 13750.0 8250.0
Uwhwwwwnpwuwnwlwu 2bpn futng
5 | pbunub gluwdwubph hpwlwuwgnid B20, F100, d3 18,6 105850,0 1968810,0
5* huwlwiht winwdh dhwény| pivnu B20 d3 0,5 77950 38975,0
6 | <hnwnwnd |hgp tpulwywinnpny/0.6503/,9pnidng L a3 g 990.0 3960.0
funwgdwdp
450+450 @1.0d b/p funnnywl, dnunpp wehg
1 funnnqwlh dnunph L Giph dwppnud gpniiinhg 0.6543 d3
2tiptthny Epulwwinpny, pwpénd wwnnhuptwpwih b 3i5 560,0 1960,0
wnbnwihnfunud jgulnywn 7Yd htn, Ypw
2 inbnwihnfunud |gulynywnn 7.04d nnu 6,125 700,0 4287,5
3 funnnyuwlh dhoh dwppnud gpniiinhg &knpny, U3
Ynywnwdnpnud, pwpdnd wywnnhlplwpwih b 2 1970,0 3940,0
wnbnwihnfunud [gulnywn 74d hbnwynpnipyw Jpuw 1133y
4 pwpinud atinpny wywnhtptwewih b nbnuwdhnfunud wnnl
[gwynywn 7Y hbnwdnpnipjwt Ypw 8.5 WHen ——
5 | Ununph U typh pujpwydwd pnnbt qiuwdwatnh J3 |
Yuqdwwnnud wulidwgnpdhpny, pwpénud 3,5 26780,0 93730,0
wywnnhuptwpwh 0.65d3 stipkthny bpulwdwnnpny
6 nbnwihnfunud (gulynywn 7.04d tnnl 8,4 700,0 5880,0
7 Unuwnpnud b Gipnud gifuwdwubiph hpwywbwgdwt hwdwp d3
thnunpwyh thnpnud 0.6543 gtiptithny Epuljwdwwnnpny, 4 670,0 2680,0
gpniinh wwhbuwnwynpnul 1V(10k)
8 g.lI'ULULIUJUh[’Ih hpwlwuwgdwu hwdwp u3 0.6 13750.0 8250.0
wiuwwwwnpwunwlwl gbpn fuing
9 Ununpnud b Gipnud dhwdny) pinnut gifluwdwub d3
hnwui g L;UQBQO‘ ; e p Hf rh 2,6 105920,0 275392,0
g* hEUwlwht wnwdh dhwany| pbinnu B20 d3 0,5 77950 38975,0




10| <bwrnwnwind |hgp tpulwydwinnpnd/0.65d3/,9pnuing b d3 " 1220.0 4880.0
funwgdwdp
4d50+630 §1.0d b/p funnnyuily,* @1.0m
1* | unnnjwyh dnunph b ph dwppnud gpniuinhg 0.6543 u3 12.0 560.0 6720.0
2tiptithny Epuywywinpny, pwpénd wynnhuplwpwih
2* | wbnuihnfunid (gwlnywn 7.04d tnnl 21,0 700,0 14700,0
3% | Unwnpnud b gpnud dhwany) pbwnnub gluwnhph d3 4.9 105850.0 518665.0
hpwlwlwgnul B20
4* hEUwlwiht wwnwdh dhwany| pinnu B20 d3 1,0 77950 77950,0
4d50+680.0 Uhwény) pewninub ipht hbbwwwin wehg,
L=15.0d, hdhg.=1.54
1 CBuwwwinh Gplwjupny fupwdninne thnpnud &binpnyy, d3 5.25 5090.0 26722.5
gpniuinp Ynynwydnpnud
2 30% pwpanu dtinpny wywnnhupbwpwih b nbnuwihnfunud wnnl 3.07125 1090.0 3347.7
lgwynywn 7Yd hbnwynpnipywl Ypw
3 | <buwyunnh funnngubiph |pwgnud dhwdny phivintung, B20, U3 0.5 63710.0 31855.0
F100:
4 LEbwwwwnh hpwundd hnphgnuwlwl hnpwwnwtgptiph huwin 60 1300.0 780000
hnpwwnnud quiphynudwt dhengny L=0.24d, d=0.034
5 CEbwwywinh hpwtndd wnnwwunb fuwphufuiph @16 Alll nnl 0.03 822060.0 24661.8
wwuinpwuwnnud b inbnunpnud L=0.324:
6 Chuwwwinh hpwh Jbpwunpngnud dhwdéng d3
wdpwlwynpyws phinnuny B20 , F200,hidhg.=15ud, 4.5 87060,0 391770,0
wdpwh wwpniiwynipyniup @10 AllI=221.74q:
Alll @10dd/mm nnu 0,2217 734950,0 162938,4
4u50+710.0 Uhwény| phunntb bpht hbbwwwin whg,
L=32.0.0d, hdhg.=1.2d
1 CEuwwwinh Bpbuh dwppnud gpniiinhg dkinpny, pupdnw d3 35 1970.0 6895.0
wyinnhupuwpwth
2 pwpdnu dinpny wyinnhuptwpwih U nbnwihnfunud wnnu 6.125 1090.0 6676.3
lgwlynywn 7Yd hbnwynpnuejw Jpw
<bu d
3 wwjwinh tiplwjupny fupwdninnt thnpnut dkinpnd, u3 8 5090.0 40720,0
gnpniuinh Ynywwdnpnud
4 &nud ab L b d
pwndnud dbinpny wywnnhtuptwpwih b nbnwihnfunt wnnl 4.68 1090.0 51012
[gwynywn 74d hbnwynpnigywt Jpw
5 <k ub d dhwa uny, B20,
wwwinh funnngubiph |pwgnud dhwény| pliunnuny, B d3 12 63710.0 76452.0
F100:
6 Luwwwwnh hpwunw hnphgnbwlwt hnpwwnwgptph huwwn
7 1
hnpwunnud quiyhynbdwl Shengny L=0.24d, d=0.034: 4 12000 S
7 CEUwwwinh hpwunud ninnuhwywg hnpwwnwgptiph hwn
hnpwuwnnud quijhyntdwl dhongny L=0.24, d=0.034: o4 W 659200
8 | <hu unuwd b ub 16 Alll u
At syl G bl pitsh @ nn 0,071 822060,0 58366,3
wwnpwuwn b inbnwnpnud L=0.324:
9 | <bbwwwinh hpwuh Jepwlnpngnud dhwdny u3
wdpwuwynpywsd phinnuny B20 , F200,hdhg.=15ud, 8,16 87060,0 710409,6
wdpwlh wwpniiwynuyegniup @10 All1=402.024g:
Alll @10dd/mm wnnu 0,4022 734940,0 295592,9
10| Cbuwwwwnh wébigdwl hwdwp hbu dhwad d3
Mpany GG Ui Fuebwn HBLwigOmfi doit Sy 6.4 72710,0 465344,0

phwnth hpwlwiwgnud, swih' 0.4x0.5x324:




YUd50+724.0 Uhwdny| pbinnub ubppht hbUuwwwn
dwfuhg, L=11.0d, hdhe.=2.2d

Lhbwwwnh funnngubiph (pugnud dhwdény| pbivinung, 820,

F100:

u3

1,5

63710,0

95565,0

Lhuwwwwnh Gpywiupny fupwdninnt thnpnud dGnpnd,
gnniuinp Ynywnwydnpnud

u3

5090,0

15270,0

30% pwpénuw dbnpny wyunpuplwpwth b nbnwithnfunud
wlynywn 74d hEnwdnpniejwt Ypw 11334

wnnl

1,755

1090,0

1913,0

LEuwwywuinh hpwunw hnphgnuwlwu hnpwwnwugpbph
hnpwwnnud quyhynudwu dhongny L=0.24, d=0.03d

hwwn

48

1300,0

62400,0

Lhuwwwuinh hpwunwd ninnuhwjwg hnpwwnwugpbph
hnpwwnnud quyhynudwu dhgngny L=0.2d, d=0.03d:

hwn

44

1030,0

45320,0

LEuwwwinh hpwunwd wnnuwnt fuwphufutbph @16 Alll
wwwnpwuwnnid b inbnwnpnud L=0.324d:

innu

0,0465

822060,0

38225,8

Lhuwwwnnh hpwuh Jpwunpngnud dhwaény)
wdpwuwdnpywsd phunnunyg B20 , F200,hdhe.=15ud,
wdpwuh wwpniwynuyegniup @10 Alll=219.48qg:

u3

4,46

87060,0

388287.6

Alll @106U/mm

nnu

0,21948

734940,0

161304,6

Swdwpnipnwihti @100 Jd  wnihkphbuwhu
funnnqulubp

gdé.d

2

2580,0

5160,0

Lhuwwwwnh Ypw dhwdany) phnnub hpwlwuwgnud B20 ,
F200" hwdwhwppbgnuwind,
Quih' 0.3x0.55, L=11.04,

d3

1,82

72710,0

1323322

Lhuwwwinh Jpw wwnpwwbnh hpwlwiwgnd dhwanyg
phunnuny, swih 3.4x0.6x0.4d (Jhwany| pbunub
wwnwwbinh pinyutiph dhele hbnwynpnugniup punnduby
0.44)-3 hwuwn:

god

10,2

28410,0

289782,0

4d50+773.0 Uhwany) pbwnub Jbphtu hbuwwwwn wehg,
L=60.04, hdhp.=2.54

LElwwwwnh Bpbup dwppnud gpntunhg dbnpny, pwpdnid
wywnnhupuwpwh 11334

d3

25

1970,0

4925,0

pwpdnul dtinpny wywnnhuptwpewt b nbnwinfund
lguynywn 74d hbnwydnpnieywu Jpw 11334

nnl

4,375

1090,0

4768,8

Lbuwwwwnh Epluwjupny fupwdninnt thnpnud dbnpny,
gnpntuinh Ynynwdnpnud

d3

5090,0

76350,0

30% pwpénud dbinpny wywnnhuptwpwih b inbnwithntunud
[gulynywn 74d hinwydnpnipjwu Ypw 11334

unnl

8,775

1090,0

9564,8

CBUwwwwnh funnngubiph (pugnud dhwdény) plinnung, B20,
F100:

d3

1.2

63710,0

76452,0

CEuwwwinh hpwunw hnphgnuwlwt hnpwwnwugpbiph
hnpwwnnud quyhynudwt Jhengny L=0.24, d=0.03d

huwtn

300

1300,0

390000,0

Chuwwwinh hpwtnd ynnwuwint uwphututitph @16 Alll
wwwnpwunnd b inbnunpnud L=0.324:

nnu

0,1516

739850,0

112161,3

Swdwpnipnwiht 8100 dd  wnihkphbuwhu
funnnduwlubin

gd.d

26,4

2320,0

61248,0

Lhuwwwwnh hpwuh depwunpngnud dhwény)
wdpwuwdnpyws piwnnuny B20 , F200,hdhg.=15ud,
wdpwuh wwpniwwynyegniup @10 AllI=1108.54g:

d3

22,5

78350,0

1762875,0

Alll @104 d/mm

unnl

1,1085

734940,0

814681,0




Chbwwwinh Ypw dhwény| pnnub hpwlwuwgnd B20 |
F200" hwdwhwppbgnuwing, 2w’ 0.1x0.55, L=604,

d3

3.3

72710,0

239943,0

4U50+818.0 Uhwany) pivnnub bbippht hbbwuwwn &dwfuhg,
L=19.0d, hdhg.=1.04 '

<Buwwuinh funnngubiph pugnud dhwdnyg phivinung, B20,
F100:

u3

1,2

63710,0

76452,0

Cbuwwwnh Bpluypny fupwdninne thnpnw dkinpny,
gpniinh Ynyunwynpned

u3

4,75

5090,0

24177.,5

30% pwndnud &bnpny wywnnhtptwpwth U whnwihnfunud
(gwynywn 74d hbinwynpnuygjwl Ypw 1133y

innu

2,77875

1090,0

3028,8

CEuwwwwnh hpwunwt hnphgnuwlwt hnpwwnwtigptph
hnpwnnud quihyntudwu dhengny L=0.2d, d=0.034:

hwun

38

1300,0

49400,0

Cbuwwywinh hpwunw wnnuwinb fuwphututbph @16 Alll
wwnpwuwnnid b inbnwnpnu L=0.324:

nnl

0,0192

822060,0

15783,6

CBUwwwwnh hpwuh Jbpwtnpngnud dhwany)
wdpwbwynpyws pnnuny B20 , F200,hdhe.=15ud,
wdnwuh wwpnwynuyegniup @10 Alll=140.414q:

d3

2,85

87060,0

248121,0

Alll @10dd/mm

innu

0,14041

734940,0

103192,9

Chuwwwinh pw dhwény pbnnub hpwywuwgnud B20 ,
F200" hwdwhwpprbgniing,
Quup’ 0.1x0.55, L=194

d3

1,04

72710,0

75618,4

4U50+826.7 Uhwény| pbwinnut tbppht hEuwwwwn wehg,
L=50.04, hihe.=3.84

bUwwwinh funnngubiph [pugnud dhwany) pivinuny, B20,
F100:

u3

63710,0

114678,0

Cbuwwwinh Ybpwunpngnud gbd.wywquiht awnwfuny
hihg.=6ud’ Lwfuwuybu dEnwnwlwl gutgh
intinwnpnuiny, (100x100)Jd @4 Bp- |, P=0.376w:

d2

190

6480,0

1231200,0

<buwwwinh hpwunw ninnuhwjwg hnpwunwugptiph
hnpwwnud quiythyntudwt shengny L=0.24, d=0.034:

hwn

198

1030,0

203940,0

Chuwwwinh hpwnud wnnwwnb fuwphuuttiph 16 Alll
wuwnpwuwnnd b inbnwnpnud L=0.324:

wnnl

0,1

822060,0

82206,0

Swdwpnipnuwih ¢100 du- wnihtehbuwht
funnnduljubip

qo.U

21,6

2580,0

55728,0

CEUwwwinh pw wwpwubinh hpwlwwgnid dhwdény|
phwnnund, swih 4.0x0.6x0.44 (dhwény( pnnub
Wwpwwbith pinlubinh dhole hinwdnpnieyniup punniuty
0.6U)11 hwn

gd.d

44

28270,0

1243880,0

4d50+877.5 Uhwéiny| pbunnub guitlwuwn Gwfuhg,
L=60.0d, hdhe.=0.8u

Chuwwwinh Yepwnpngnuwt dhwény phinntb awihyny’
hihg.=10.0ud’” bwhiwwbu dewnwnwljwu guwugh
wbinwnnpnuwing, (50x50)dd @4 Bp- |, P=0.19un:

d3

4,8

87060,0

417888,0

guwug 50x50dd

U2

48

3230,0

155040,0

4d50+896.8 Uhwdny| pbinnut Ubippht hEUwwwwn wehg,
L=58.04d, hdhg.=2.84

CBuwwwnh funnngubiph pwgnid dhwany) ptwnuny, B20,
F100:

d3

55

63710,0

350405,0




Swdwpnipnwiht - ¢100 ' wnihtphtuwht
unnnyuwlp

gd.d

21

2580,0

54180,0

Cuwwwinh ulgphg L=46.0d hwindwsdh Ybpwlnpngnud
gbd.wqwquiht wnwtuny hdhg.=6ud’ bwhiwwbu
denwnwlwu guwugh wbnwnpnwinyg, (100x100)dd @4 Bp- I,
P=0.255wn:

u2

128,8

6480,0

834624,0

<buwwwinh Ytipphg L=12.0d hwindwsnud hbuwwywinh

tnYwjupny fupwdninne thnpnud dknpnd, gpnititnh
Ynywnwynpnud

u3

5090,0

15270,0

30% pwpanui dbnpny wywnhtptwpwth U wbnuihnfunu
|gwynywn 74d hbnwynpnipjwt Jpw 1133y

nnu

1,765

1090,0

1913,0

<buwwwinh Ytipohg L=12.0d hwindwsnid hbuwwwinh
hpwunw hnphgnuwlwl hnpwwnwtgptiph hnpwwnnu
quwjlhynudwt dhongny L=0.2d, d=0.034:

hwin

60

1300,0

78000,0

L=12.0d hwindwdnui hbbwwwinh hpwtinud wnnuuwnk
fuwphututinh @16 Alll wwinpwuwnnu b nbnwnpnud
L=0.32d:

nnu

0,03

822060,0

24661,8

Cbuwwuwinh Ybipghg L=12.0d, h=2.0d hwwudwdnud
hEbwuwwwnh hpwuh bpwinpngnud dhwany
wdpwlwynpyws phinnuny B20 , F200, hihg.=20ud,
wdpwuh wwpnwynyeiniup @10 Alll=221.04g

3

87060,0

522360,0

Alll @10dd/mm

innl

0,221

734940,0

162421,7

<buwwwnh Ytipghg L=12.0d hbtwuwwwnh hpwtnw
nunnwhwjwg hnpwunwugpbph hnpwwnnd guyhyntidwu
dhgngny L=0.24, d=0.034:

hwun

46

1030,0

47380,0

10

<buwwwinh Ytipghg L=12.0d hbUwwwinh hpwnw
wnnujwwnb fuwphutubiph @16 Alll wwnpwunnw b
nbnwnpnud L=0.324;

innu

0,023

822060,0

18907,4

Cbuwwwinh Ytipghg L=12.0d hbbwwwwh Ypw
wwpwbinh hpwlwuwgnud dhwény) pinnting, swih
3.6x0.6x0.44 (Jhwény| ptnntb wwpwwbuh pinlubkph
dhole htnwynpnipjniup punniuty 0.64):-3

qdd

10,8

28340,0

306072,0

4U50+940.0 Uhwany| pbunnlb ubppht hbUwuwwwn wehg,
L=38.04, hdhg.=2.54

Chuwwwinh funangubph pwgnud dhwany; pbwnnuny, B20,
F100:

u3

2,5

63710,0

159275,0

Cbuwwywnh tipluwjipny fupwdninne dinpnud atinpny,
gpnuuinh Ynyinwynpnud

u3

1,5

5090,0

7635,0

30% pwnénud &binpny wywnnhuplwpewid U winbnwihnfunul
(gwlnywn 74d htinwynpnipiwt Ypw 1133y

nnl

0,8775

1090,0

956,5

<buwwwwnh hpwunwd hnphgnuwljuwl hnpwwnwugptiph
hnpwinnud quiihynudwt dhengny L=0.24, d=0.03d:

hwn

190

1030,0

195700,0

Chuwwwinh hpwunwd wnnwwnt fuwphuputiiph 16 Alll
Wuwnpwuwnnd b inbnunpnu L=0.324:

nnu

0,045

822060,0

36992,7

Swdwpnipnuihti 100 dd wnhkrh|Glwhtu
funnnquwlubip

gb.d

2058,0

26754,0




Chbwwwuinh hpwuh Jbpwbnpngnud dhwany
wdpwbwynpywd phwnnuny B20 , F200, h=15ud, wdpwuh
wwpniwynipniup @10 Alll=842.54q

u3

17,1

87060,0

1488726,0

Alll @1040/Mm

nnl

0,8425

734940,0

619187,0

Lhbwwwinh Ytpgnud L=23.0d hwundwfunud hbbuwwwwnh
hpwuh dpw ninnuhwjwg hnpwwnwugpbph hnpwunnud
quyhyntdwu dhongny L=0.24d, d=0.034:

hwn

46

1030,0

47380,0

Lbuwwwwnh hpwunwd wnnuwnb fuwphuputbph @16 Alll
wwwnpwuwnnud b inbnunpnwd L=0.324:

wnnu

0,023

822060,0

18907,4

CEwwwinh Ypw ywpwwbnh hpwwuwgnd dhwany
phwnnuny, swih 4.0x0.6x0.44 (Jhwany| pbwnnut
wuwpwwbwh pinyubph dhole hbnwinpnigniup punnduby
0.64):-5 hwwn

qé.d

19,2

30630,0

588096,0

4d51+000 Uhwany pbunub Jbpht hbbwwwwn dwhuhg,
L=76.0d, hdhg.=2.84

Lhbwwwinh Yepwunpngnud gbd.wjwquiht awnuwiuny
hihe.=5ud’ bwhiwwbu Jenwnuwlwu guwugh
nbnwnpnuing, (100x100)dd @4 Bp- |, P=0.421un:

U2

212,8

6020,0

1281056,0

Bwdwpnipnuiht @100 dd wnihkehGuwhu
funnnjuwjutip

go.d

15

2580,0

38700,0

L4d51+063.0 @1.5d b&/p funnnywy, dnunpp &wiuhg

0,0

funnnuwlh dnunph U bph dwppnuwd gpniuinpg 0.6543
26pGEthny Epuljwlduwiinpny, pwpanud wywnnhtplwpewih

d3

560,0

0,0

wbtinwihnfund [gwynywn 74d hen. Ypw

unnu

700,0

0,0

funnnywlh dheh dwppnu gpnitinhg dkinpny,
Ynywwynpnd 1133y

d3

1970,0

0,0

pwpdnud wynnhupuwpwih b nbnwiinfunid igwlnywn 74d
hEnwdnpnipjwt Ypw 1133y

nnu

1090,0

0,0

Ununpnud b Bpnud qiuwdwubph ppwlywtiwgdwl hwdwp
thnunpwlh thnpnud 0.6543 gbpbthnyg bpulywyuinnpny,
gnnuinh wwhbBunwynpnud 1V(106)

u3

670,0

0,0

guwdwutiph hpwlwuwgdwu hwdwp
bwhiwwwwnpwunwlwy sbpn fung

d3

13750,0

0,0

Ununpnud b Gipnud dhwdny) phunntb gluwdwubph
hpwlwuwgnud B20, F100, swih 3.8x3.4x0.44

d3

105850,0

0,0

Lhnwnwné (hgp Epuljwduinnpnyd/0.65d03/,9pnuiny b
funwgdwdp

d3

1220,0

0,0

4d51+074.0 Uhwany) pbnnub Jbphu hbbwuwwn dwhuhg,
L=12.0d, hdhg.=2.0d

Chwwwinh Bpluwiupny upwdninne thnpnud aknpny,
gnpntunh Ynynwynpnud

d3

5090,0

15270,0

LBbwwwinh Gplwjupny fupwdnint thnpnud dkinpny,
gpniuinh Ynywnwdnpnud, 30% pwpanud wywnnhtptiwpwth
b inbnwithntund lguilnywnn 74d hbn. Ypw:

innl

1,755

1090,0

1913,0

CEuwwwinh funnngubiph pwgnud, tigpbiph ninnnud dhwany
pbununy, B20, F100:

d3

2,5

63710,0

159275,0

Chuwwwwnh hpwundd hnphgnuwlwl hnpwwnwlgptph
hnpwwnnud quyihyntdwu dhongny L=0.24d, d=0.034:

hwn

48

1300,0

62400,0




2 | &GUwwwwinp ppwund ynnuuwwnb fuwphufuubph @16 Alll nnu 0.025 822060.0 205515
wwinpwuwnnd b nbnwnpnud L=0.324:
6 | Swdwpnipnuwihu @100 dd wnihtehbuwpu gé.d 4 2580.0 10320,0
funnnywlutip
7 Lbuwwwwnh hpwuh Jepwunpngnud dhwény d3
wdpwuwynpywd phwnnuny B20 , F200,hdhe.=15ud, 45 87060,0 391770,0
wdpwuh wwpniiwynugniup @10 Alll=221.74q
Alll @104d/mm tnnu 0,2217 734940,0 162936,2
8 CbUU.‘JLL{UJU'lh Ypw dhwény) pbmn‘ub hpwlwuwgnu B20 , d3 0.9 72710.0 65439.0
F200" hwdwhwppbgnuing, 2uih’ 0.15x0.54, L=124,
Ld51+107.0 Uhwdny| pinnub Jbphu hbuwuwywwn dwuhg,
L=39.0d, huhg.=1.04
1 Lbbwwwwnh Jepwunpngnd gbd.wdwquiht awnwpuny u2
hdhe.=5ud’ bwhiwuwbu Jbrwnuwlwl guugh 39 6020,0 234780,0
wnbnwnpnuing, (100x100)dd @4 Bp- |, P=0.0772wn
2 LEuwwjwwnh Ypw dhwény| pbunnub hpwlwuwgnud B20 , d3
39 72710,0 283569,0
F200" hwdwhwppbgnuing, 2w’ 0.2x0.54, L=394,
bd 51+142.0 Lnp Jbpht hbbwwwwn dwfuhg L=20.04,
h=2.0d
1 Unp hbbwwwinh Ywnnigdwl hwdwp gnynupjniu niibgnn u3
phinnuh (hEbwwwnh) Gugdwnnud wulidwgnpdhpny 10,5 26780,0 281190,0
2 | wmbnuthnfunud |gwlnywn 7.04d wnnl 25,2 700,0 17640,0
3 | IVIOk uwnh d ] 0.65%, anud d3
gpniinh dawynud Epulywwinnpny/ /, pwpdnu 529 820.0 43378.0
w/huptwpwthbph Ypw
4 | wbnuihnfundd igulynywn 7.044 tnnu 103,155 700,0 72208,5
5 | Lnyup wnbnnud Ynunwynidny, hbinwnwnd (hgph hwdwp d3 84,1 490,0 41209,0
6 ®nunpwlh JEpguwdywlynud dknpny d3 245 6040,0 147980,0
7 Udwqulnwbwiht stipin h=10ud d3 6,9 6300,0 43470,0
8 | <hku tph hhdpt u dhwd
wuunbph hhdglinh hpuwluiliugnud: dhudny i 28 64000,0 1792000,0
pbwnnuhg B20
<
9 Guwwwwh  hpwttbph hpwywtwgnd  B20 phnnlihg d3 24 65870.0 1580880.0
10 | Hbnpd u b d 2k
$npdwghnt - Yuptiph hpwlwtwgnud 2 gkipn 2 5.2 9830.0 51116.0
nniptpnhnny phunnuh dwdniyny (d=2,0ud)
11| Qpniuwnh hb dwlybplnypub ik d 2
nnwwnh htin 2thynn dwltiplinyputinh gpwdkyniuwgn 912 1250.0 114000.0
Gplztipwn twp phuinwing
12| Swdwpnipnh hpwlwuwgnud gd.ud 20 8610,0 172200,0
13 | Swd u @100 Jd Buwjhu 8.4
wdwpnipnwyh wnihtehiGuwh 9 76 2580.0 19608.0
funnnyuwljubip
14 | <bwn & 0.65u3/,9pnuiny L
LA 1hgR Lokt 50 griniing e 108,6 1220,0 1324920
funwgdwdp
4d51+216.7 Uhwany| pbunub Jbipht hbbwwwin dwfuhg,
L=39.04, hdhg.=2.54
1 Swdwpnt u 100 dd Buw)hu §.4
pnpnwh wnihtphiblwh 9 8 2580.0 20640,0
funnnyuwljubp
2 Cbuwwwnh funnnsub d dhwdény| pinnuny, B20, u3
Uit panangytath inisigrid Ghusniy prnnbm) 25 63710,0 159275,0

F100:




Lhuwwwinh yepwunpngnud gbd.wdwquht wnuwiuny
hihe.=6ud’ Lwhiwwbu JEnwnwlwu guugh
intinwnpnuiny, (100x100)Jd @4 Bp- |, P=0.193wn:

97.5

6480,0

631800,0

Chbwwuinh Ypw dhwdédny) pinnub hpwlwtwgnd B20
F200" hwdwhwppbgnuiny, 2wih' 0.1x0.54, L=394,

u3

1,95

72710,0

141784,5

Y41i51+377.5 Uhwany| pbinnub gutwuywn dwiuhg,
L=67.0d, hdhg.=1.74d/

Muwwnh Jepwunpngnud gbd.wduquiht awnuwfuny
hdhe.=5ud’ bwhiwwbu JEwnwnwlwl gwugh
wnbnwnpnuing, (100x100)dd @4 Bp- |, P=0.238uw:

u2

13,9

6020,0

685678.,0

Yi51+430.0 Uhwdany pbuinub gwuljwwwn dwluhg,
L:269LI, hl}hg.:151j

Muwuwnh bepwunpngnud gbd.wdwquiht gunwiuny
hdhe.=5ud’ bwhiwwbu denwnwlwu gwugh
wnbnwnpnuind, (100x100)dd @4 Bp- |, P=0.08w:

d2

40,35

6020,0

242907,0

41i51+460.0 Lwpwjht qwpywdpny guuljwuwjwwn dwfuhg,

Muwwnh Jepwunpngnid gbd.wdwquuhl 2wnwhuny
hihe.=5ud’ bwhiwwbu JEnwnwlwu guugh
ntnwnpnuing, (100x100)dd 94 Bp- |, P=0.13w:

d2

65,5

6020,0

394310,0

Yd 51+567.0 Lnp Jbppu hbbwwwwn dwiuhg L=30.04,
h=4.04

Lnp hbbwwwnh Yunnigdwt hwdwp gnjnigni nignn
hwywpnyph piwnnup wwububph ugdwunnw Sin pentiw
pwpdnnnipjwdp huplwquwg ujwpwynp wdpwnpdhsny:
Ybpwnwpd ubthwlywuwwnhpngp:

u3

15,08

19540,0

294728,3

Phwnnub wwububph nhdwghg wbnwwwb Bplunwypbph
(N10) wwywdnuwnwdnid 5in penw pwpannnipjwdp
huptwquiwg ujwpwynp wdpwpéhsny: Yhpwnwnd
ubthwlwuwwhpngp:

wnnl

0,3135

34880,0

10934,9

V10t gpnwiwnp Jwlynid Epuwywwnnpny/0.65%, pwnpanud
w/hupuwpwihtph dpw

u3

124

820,0

101680,0

nbnwihnfunud lguynywn 7.04d

wnnl

241,8

700,0

169260,0

Lnyup nbnnu Ynwnwlynwdny, hbunwnwné thgph hwdwp

d3

319,5

490,0

254555,0

Pnunpwlyh ybpeuwdpwlynid dEnpny
NopaboTka Bpy4Hio

d3

71

6040,0

428840,0

Udwqulnwbwiht sbpin Juwpbph wnwl h=10ud
lMecyaHo-rpasuiiHbiii NogroToBuTeNnbHbIR cnoit h=10cm

d3

14,5

6300,0

91350,0

Lbhuwwwwnbph hhdpbph hpwywuwgnd dhwany;
ptitnnuhg B20

d3

110,4

64000,0

7065600,0

Lbuwwwwh  hpwttbph hpwlwuwgnd  B20 phninuhg

u3

121,5

65870,0

8003205,0

Tbnpdwghnt  Ywpbph hpwlwuwgnud 2 sbpwn
nnipbpnhnny phuinuh dwéniyny (d=2,0ud)

u2

15,5

9830,0

152365,0

Spniuinh htn 2thynn Jwlbplnypubph gpwdbynwwgnud
Bplyobpun viwp phunnudng

u2

258,5

1250,0

323125,0

Swdwpnipnh hpwlwlwgnid

qd.d

30

8860,0

265800,0

Swdwpnipnuyht 100 dd wnihkphbuwhu
funnduwlut

qd.u

22,8

2580,0

58824,0




14 | <bnwnuwpa hgp Epuljwdwunpny/0.6543/,9pnudny L J3 590 5 1220.0 720410.0
funwgdwdp
Lud51+785 @1.5d b/p funnnywly, dnunpp dwfuhg
1 Funnnwlh dnunph b Bph dwppnud gpntinhg 0.6543 d3 6.5 560.0 3640.0
2tiptithny Epuljwdwinpny, pwpdnwd wywnnhupwpwih/
2 | wbnwdnfund jgulnywn 7.04d nnu 11,375 700,0 7962,5
3 funnnwlh dheoh dwppnud gpniuinhg dbinpnd, d3 25 1970.0 4925.0
Ynywnwynpmd 1133y/
4 pwnpanud dbnpny wywnnhupuwpwih b wbnuihnfunu nnl 4.375 1090.0 4768.8
[gwynywn 74d hEnwynpnipywt Ypw 1133y
5 Ununpnud b Bpnd gluwdwubph hpwlwtwgdwt hwdwp a3
hwdwp thnunpwlubph thnpnud 0.65d3 2bpkthny 6,5 390,0 2535,0
Epulwdwwnnpny, gpniunh wwhbBuwmwynpnud
6 | guwdwubph hpwlwiwgdwt hwdwp d3 0.6 13750.0 8250.0
Uwhiwwywwnpwunwlwlu bpwn fuing:
7 phwnnub qluwdwubph hpwlwuwgnud B20, F100 d3 6,8 105850,0 719780,0
7 hEuwlywiht wnwdh dhwany) pivnu B20 d3 1,0 77950 77950,0
8 Lbwnwnwné |hgp bpulwduwinnpnyd/0.65d3/,9pnuwing L u3 6.5 990.0 6435.0
futnwgdwdp
L4d52+180 @0.74 b/p funnnywly, dnunpp dwhuhg \
1 d .
funnnwlh dnunph b Bph dwppnud gpndiinhg 0.6543 u3 15 560.0 840.0
2bptthny Epuwywwnpny, pwpdnw wynnhupbwpewth
2 | wbnwihnfund (gulynywn 74d hbn. pw nnl 2,625 700,0 1837,5
3 Ununph b bph puypuwydwsd pbunnub giruwdwubiph 3
Ywadwwnnud wulidwgnpdhpny, pwpanid 4,5 26780,0 120510,0
wywnnhuptwpwih 0.65d3 stiptthny Epulwywinnpny
4 nbnwihnfunud \gwynyw 74d hbn. Jpw tnnl 10,8 700,0 7560,0
5 Ununpnud L bppnud giluwdwubph hpwlwbwgdwt hwdwp d3
hwdwn thnunpwlubiph thnpnud 0.6543 stipkithny 4.8 390,0 1872,0
Epulwydwinnpnd, gpniunh wwhbunwynpnud
6 | gluwdwubph hpwhwuwgdwt hwdwp d3
Lwhiwwyunnpuunwlwl otpn juény Q.58 TBren.0 86
7 pbunnub glluwdwubph hpwlwuwgnud B20, F100, u3 33 105850,0 349305,0
Vi hEbuwlwht wnwdh Jhwdny| pbint B20 u3 1,0 77950 77950,0
8 | <& & 0.65u3/, b d3
wwnuind (hgp tpulwdwinnnnd/0.6503/,gnnuing P R -
fuunwgdwdp
L4U53+730.0 2.0x2.0d ninnuityynit b/p funnnywly,
dnunpp Gwfuhg i
1 funnnwlh dnunpnud nbinwnpywé hwdwpnyh pinlutiph u3
Uwpbiph (pwignud gbd.wdwquiht gwnwuny M200: < AGECRD 20824
2 Biph dwhu wwh gnjnieynit niubignn pwypwywsd phinnub d3
U d J wuld & , pt 3
pUh Yuqdwnnw wulbdwgnpdhpny, pynplbiph pwpdnud 3.8 26780.0 101764.0
wywnhtptwpwth 0.65d3 stiptithny Epulwwinnpny
3 | wbnwihnfunud |gulnywn 744 htin. Ypw nnu 9,12 700,0 6384,0
4 | Bpnu tnp plubiph ppwlwbwgdwt hwdwn thnunpulubph d3
d 0.65d3 %
thnpnu 2biptithny Epulwidwinnpnd, 30% gpniuwnh 1.35 820.0 1107.0

pwnanud wywnhuplwpwih




5 | wbnuihnfund \gwynywn 74d htn. Ypw innl 2.6325 700,0 1842.8
6 Lnyup nbnnud Ynunwynuwing, hbunwnwpa |hgph hwdwp/ d3 3.15 490.0 15435
7 | beh pubph hhdpbiph hpwlwiwgdwt hwdwp d3 0.92 13750.0 12650.0
twhiwwwwnpwunwlwu 2bpwn fuénd: /
8 Giph plubiph hhdptph ppwlwuwgnd dhwany) punnuny, U3 6.3 64000,0 403200.0
B20
9 | bph pubph hpwutbph hpwywuwgnu dhwany| phnntuny, d3 6.38 65870.0 420250.6
B20, B20
10 | Genud gfuwnhiph hpwywbwgnu dhwany pennuny B20, d3 0.672 65870.0 44264.6
F100,swth 2.8x0.6x0.44:
1 Ununpnud gnjnipinit niubignn plbnh b gifuwnhph d3 0.7 63710.0 44597.0
funnnsubiph (pugnd dhwdény| piunnunyg B20, F100:
12 | <Bnwnwpd (hgp tpulwywwnnpny/0.65d3/,9pnuiny b d3 3.15 1016.0 3200.4
futnwgdwdp
13 | Ununph gnjnupynit niubignn pbwnnub plbiph b qiuwnhph d2
Ybpwunpngnud gbd.wdwquiht awnwpung M200, h=6ud 25 82300 205750.0
twhiwwbu JEnwnwlwt gwugh wnbnwnpnudnyg, (50x50)dd
04 Bp- |, P=0,099un:
14 | Lwhwwbuynw £ funnndwyh db9 hpwywuwguby dhwéanyg u3
phiinnub (wiwnnly B20, F200, h=10ud’ junnndwih hwinwlu 7.5 54320,0 407400,0
wdpwgubnt bwyywwnwyny:
15 | runnnquwbh L=23.04 dhwany) pbinntib hwindwsnud 43 - — _—_—
funnnsubph (wgnud dhwany) pbwnnuny B20, F100:
16 | Uhwany pininub dwdlh uwih ubippht dwhbplnyph d2
Gpwunpngnud gbd.wwquiht gwnwtund M200, h=0.054,
inﬂanbE’njgmdiq‘ UuL}thclliju inb;lmr:wlémh guwlgh 57,5 6800.0 391000,0
nbwnnpnuiny, (50x50)dd @4 Bp- |, P=0,228uwn:
(50x50)dd 04 Bp- |, P=0,228wn: d2 57,5 3490,0 200675,0
17 | Uhwény| pbuinub hEuwpwuubph yepwunpngnud
gbd.wjwquiht ownwhundM200, h=0.05d" bwhiwuwbu 0 s 6020.0 692300 0
dEnwnulwu gwugh nbwnnpnuiny, (100x100)dd @4 Bp- |,
P=0,228uw:
18 | Gpnud hniuh dbg pwpwiht thgph ppwlwtwgnud d<0.34: d3 3 6030.0 18090.0
19* | Bpnuwd pbwnnub guwdwup hpwlwuwgnid B20, F100, d3 2,0 65875 131750,0
20" | hkuwywht wunwdh dhwadny) pbunnt B20 d3 0,5 77950 38975,0
L4i53+780.0 @1.54 b/p funnnywly, dnunpp dwluhg
1 funnnwyh dnunph b Gph dwppnud gpniuinhg 0.6543 d3 6 560.0 3360.0
obpbthny tpulwywinnpny, pwpénwd hupbwpewd/ ’ ’
2 wbnwihnfunwd [gwynywn 74d hen. Ypw nnl 10,5 700,0 7350,0
3 | unnnulyh dhoh dwppnul gpniunhg dbnpnd, u3
Ynywwynpnud, 11334/ e hetp i
4 pwpanu dbinpny wywnhuptwpwih b tnbnwihnfunu nnl 35 1090.0 3815.0
lgwynywn 74d hbenwynpnueywt pw 1334/ ’ ’ '
5 Ununpnud gifuwdwuh hpwlwuwgdwl hwdwp thnunpuilyh d3
thnpnud 0.654d3 2bptthny tpuljwduwnnpny, gpntunh 6,5 670,0 4355,0

wwhbuwnwynpnu 1V(10k)/




6 | quwdwuh phpwywtwgdwl hwdwp u3 0.6 13750.0 8250.0
bwhwwwwpwunwwl 2bpun futng:
7 pbwnub guwdwutiph ppwlwtwgnu B20, F100, d3 6,3 105850,0 666855,0
7% | hbuwlwjht wwnwdh dhwany) pbnnu B20 d3 1,0 77950 77950,0
8 | <hwnwnwnd |hgp bpulwydwnnpny/0.65d3/,9pnudny L d3 6.5 1220.0 7930.0
funnwgdwdp /
Y454+280 @1.50 b/p funnndwy, dnunpp dwfuhg
1 runnnqulyh dnunph b bBph dwppnud gpnituinhg 0.6543 u3 1 5600 560.0
obpbithny Epuljwlwinnpny, pwpénu huptwpwi/
2 nbnwihnfunid (gwynywn 74d hbn. Jpw wnnu 1,75 700,0 1225,0
3 Ununph b Biph pwpwiht gwpdwépny gfuwdwubph u3
Yuqdwwnnud wubdwgnpsdhpny, pwpdnud wyinnhtplwpwih 6.5 17680.0 1149200
0.65u3 otiptithny bpuljwywnnpny b inbnwithnfunud
[gulnywn Syd hbn. Ypw:
4 Ununpnud glfuwdwuh hpwywuwgdwl hwdwp thnunpwlh Jd3
thnpnud 0.6543 gipbithny bpulwdwwnnpny, gpniuinh 6.5 670,0 4355,0
wwhbuwnwynpnud IV(10k)'/
5 | quwdwuh hpwlhwbwgdwu hwdwp u3 0.6 13750.0 8250.0
Uwhwwywinpuwunwlwu p6pn fuény: /
6 phnnub gluwdwubph hpwlwuwgnu B20, F100, u3 2,8 105850,0 296380,0
6" | htbwlwjht wnwdh dhwény| pnnt B20 d3 1,0 77950 77950,0
7 | <bwnwnuwpd hgp Epulwywinnpny/0.65d03/,9pnuiny L d3 6.5 1220.0 7930.0
fuinwgdwdp
LWi54+755 01.54 b&/p funnnywy, dnunpp dwiuhg
1 tunnnqwlyh dnwnph L Bph dwppnd gpniunhg 0.6543 d3 ; 560.0 560.0
obiptithny bpuwdwwnnpny, pwpénd huplwpwih,
2 nbnwihnfunud \gulynywn 74d hen. Ypw tnnu 1,75 700,0 1225,0
3 Ununph b bph pwjpwijwsd phinnub gluwdwubiph d3
Luwqdwwnnud wulidwgnpdhpnd, pwpénud wyinnhuptwpwih
0.65u3 stiptithny Epulwywinnpny b inbinwihnfund i 26780,0 RS0
lgulnywn 74d hkn. Jpw:
4 | Unwnpnu glluwdwup hpwlwbwgdwt hwdwp thnunpwlyh d3
thnpnud 0.6543 ptiptthny tpulwdwinnpnd, gpniuwnh 6,5 670,0 4355,0
wwhbunwynpnud IV(106)
o gliuwdwuh hpwlwlwgdwu hwdwp u3
Uwhwwwwnpwunwlwy 2bpwn fubny: 46 B0 B0
6 phinnub gluwdwubph hpwlwuwgnud B20, F100, d3 3 105850,0 317550,0
6" | htbwlwjht wwwdh dhwany| pbunt B20 d3 1,0 77950 77950,0
7 | <bwnwnuwpd |hgp Epulwdwinnpny/0.65d3/,9pnuiny b u3 6.5 1220.0 7930.0
funwgdwdp /
L4d54+995.0 @1.0d &/p tunnnywl, dnunpp dwhuhg
1 Funnnquwyh dnunph b Bph dwppnud gpniuinhg 0.6543 u3
2tiptithny Epulwywinnpny, pwpanwd huptwewi/ U e ¢4
2 | wbnuihnfund guynywn 74d hbn. dpw:/ wnnl 0 700,0 0,0




3 | Ununph b Giph pwjpwywd phnnub gruwdwutph d3
Ywqdwwnnu wuldwgnpdhpny, pwpdnud wyuninhupuwpwih 0 26780.0 00
0.6543 stiptithny tpulwywwnnpny b inbnwihnfunu ' '
[gulnywn 74d hbn. pw:
4 Unwnpnud gfuwdwuh hpwwuwgdwl hwdwp thnunpuwyh d3
thnpnwd 0.6543 sbpbhny Epuljwydwwinpny, gpniuwinh 0 670,0 0,0
wwhbuwnwynpnud IV(106)"/
5 gliuwdwuh hpwhwuwgdwlu hwdwp u3 0 13750.0 0.0
Uwhiwwwwpwunwlwu obpwn fubny: /
6 pbwnnub gluwdwubph hpwlwlwgnud B20, F100, d3 0 105850,0 0,0
7 Lhwnwnwné |hgp Epuljwdwinnpnd/0.65d03/,9pnuing b d3 0 1220.0 0.0
funwgdwdp /
9.Cunwdbkup 88439920,0
X Ld 41+472.2 &/p udnipg
1 GprUbynieniup Yupgwynpnn dwwwwphwiht ugwlubp/ hwwn 15 30920.0 463800.0
hbunwgw Yuwgdwwnnwing b Ybpwnwpd 50%/
2 Ubunwnuwlwu pwgphpubph Yuqdwwnu wywnngbuny: wnnu 0.36 28020.0 10087.2
Ubpwnwpd ubthwlwuwwnhpnep:
3 | Bnhspwiht Yunngdwdph bigph b/p Gugdwinnid d3 8.9 31890,0 2838210
wulidwgnpdhpny
4 Pwpanud w/h &Enpny b wnbnwihnfunud jgulnywn 7Yd: wnnl 22,25 1090,0 242525
5 | bpplublwiht Jdwup fudw]wgh Yugqdwwnnd gpbnbpnd, d3
Unywnwynpnwng: Pwpdnud hupuwpewt 0.65d3 sbipkithh 1,3 720,0 8136,0
nwpnnnipjwdp Epuudwwnnpny/
6 | Sbknwihnfund igulnywn 744/ nnu 19,21 700,0 13447,0
7 U dub h
nunpnt (enud hniuh dwppdwt b ninndw i3 2.4 820.0 17548.0
wofuwwnwupubin 0,65d3 Epulwydwwnnpny;
8 | Stnwihnfunul \gulnywn 744/ nnu 41,73 700,0 292110
9 h ub d ] : d3
fdubkph hhdptiph funnnsubiph puignu dhwdény| pbuntng; 3.2 61580.0 197056.0
10 | rdubphu d (50x50dd gwugny P=51 2
pnpee {(SUa00 gulagd|P=atola) M2UE . 130 7760,0 1008800,0
ghidbuwnwiht pwnwtuny:
1 Lbuwpuwuubph hhdpbiph Bplwjupny fupwdninhubiph
h !
thnpdwt hnnuwiht wzluwwnwupubp denpny’ puwg i3 7.4 9260.0 68524.0
gpniunnud gpwhbnwgnuing - 9ph hnupp dhusl 3043 dwd/
12 | <npwwnwugpbiph hnpwwinud (hnphgnuwlwt) d=40dd hwun
(L1=15ud), hbwnwgw Yepwiunpngdwl buywinwlyny/ - 1610.0 3035008
13 | <bu uub uubipnud & 16 u
wALALAYR hpEpadl wnakiit uwnbuption i un 0,081 807700,0 65423,7
Alll wwinpwuwnnu b inbnuinpnid/
14 | Ppwuubph ybpwunpngnud dhwdény| wdpwtwynpdwsd d3
pbunting, w.y, Alll=57,9q/d3 14,2 92610,0 1315062,0
w.w. Alll=57,9g/u3 nnl 0,82218 699030,0 574728,5
15 | <ku b uwnh ht dwybplinyput 2
wpwutbph gpniunh htin 2thynn dwytipinypubnh 5.1 1250.0 18875.0
puywdpwiht opwdblynuwgnul/
16 | hupwdninhubiph hbwn &b : Gpnuu v d d3
pwdninhubiph htinjhgp dtinpny: Spniuinh nbinwinpn 5.2 2080.0 10816.0
2Gpwntpny b unwgnud wubidwnnthwuny/
17 | Cwpebgunn sbpinh ghidbu u udwhphsub u3
neligunn 2tnwnh - gldbuwnuyht Jwnwiu wuwhphgubinh 0.528 50610.0 26722.1
pinytph tnwly H=2ud/




18 | <nupwjhb Gnwulniunt hpwlwbwgnuw dhwdény| plinnlihg u3 6.9 55540.0 383226.0
nwu B20/
19 | fgn. Ywnnigwdpubinh unulidwiht opwdblnwwgnid d2 128 7050.0 902400.0
tplztpin hgngquidnd/
wwwinwwuhs 26pwnh dhwany pbnnt B25 W6, H=4ud/ d2 100 3790.0 379000.0
Swug wdpwlwht 100x100 dd) @4 Bp-I a2 100 1780,0 178000,0
20 | Cwppbgunn sbpnh gbdbuwnwiht swnwiu wudwhphsubph d3 0.528 50610.0 26722.1
pinytph nwly H=2ud/
21 | <wydwpndh b/p dwypbph pinlubph wwwnpwunnd b huwin
inbinunpnud. Qwih. 71x140x299ud, pwyp - 1,75win: U, 8 324510,0 2596080,0
Al=94,14Lg/u3, Alll=130,04q/d3:
22 | nb$npdwghnt Yupbiph hpwlwuwgnu/ gedopmaunoHHeie gb.d 20 421400 842800.0
Wbl
23 | Uwupwhwwhly w/p h=4ud 02 99,8 4190,0 418162,0
24 | Uwupwhwihly w/p h=3ud a2 102,4 3210,0 328704,0
25 | Mnnuuwnb pwgphptbiph hpwlwbwgnud-24g6.4, wnnu 0.5232 46440.0 24297 4
ubipynwiny/
L63x63x6U/mm P=90.4la/kr 9.0 15,68 4660,0 73068,8
L50x50x5dd/mm géd
47,04 0,0 145353,6
P=177.6 Yg/ur S0
L70x70x6Ud/mm gd.d
n
P152Uq/kr 23,76 5350,0 127116,0
012 L=110.88d/m innu 0,0984 701430,0 69020,7
-5x50dd/mm P=4.8qg/kr gd.d 2,34 1760,0 4118,4
26 Uwjpbiph dwupwhuwwnhy w/pbnnu h=4ud d2 18 4290,0 77220,0
27 | hupwdninhubiph thnpdwt hanwjht wouwwnwtptibp d3
dtinpny Ygnpndw wuwhphsubph nbnwnpdwt 1,65 1930,0 31845
hwdwp/l1334/
28 | Wwqulnuybwiht bwwwwinpwunnd Ygnpndwl u3
: 6300, 2835,
wudwhphsubph pinbybph nwly h=10ud 045 000 -
29 | <wywpnyh b/pbnnub wudwhphsubiph pnlubph hwwn
inbinwnpnud. Quih. 15(50)x75x150ud, P=0,53uwn, w.y. = 4 68150,0 272600,0
83,15yg/d3
30 | Uudwhphgubiph ninnuhwjwg qdwlgnud d2 19,6 810,0 15876,0
10.Cunwdkup 11311994,5
Xl | Bwbwwwphh ywhwynpnud
O6ycrpoiicTso goporu
Ungbjwipwyngutip
1 Unp db u b ubi b d 4.4
n dtnwnuliul wgbputhwlnglinh intuwinpnt * 7942 22300,0 | 177106600.0
(d=401)/
2 Clwn wun wlowlwiht uniub h
Reyft wipauusil wanitipwtiyht wnnh o= 752 5440,0 4090880,0
wnbnwnpnud/
Buwlwwwphwjht unp Upwuubiph nbqwnpnw/ 0,0
Ubinwnuwlwt unnnquly 57x3,004 gd.d 988,3 5460,0 5396118,0
phunnu B15 d3 31 47560,0 1474360,0
Luwfuwggniuwgung hwuwn 237 18960,0 4493520,0
Unwyb|nygjwu hwtn 76 18960,0 1440960,0
Upghinn hwtn 16 18960,0 303360,0
Cwinntly phjwnpwuph hwwn 18 18960,0 341280,0




Stnblwwinynipwl hwn 20 15510,0 310200,0
Gprubybh dwuh Upwgdnud , [nwunpwnwpdhs
gunhyubiph oguwgnpddwp 0.35yg-111?
Cwdwwnwpwsd 1.1; 1.2 /0.1d Jwju. yd 0 136000.0 0.0
Cnnownasa 1.1; /c wupuHoid 0.1m/
Cunhwwnn 1:3 (1.5) /0.1d jwyu. yd 0 50000.0 0.0
Mpepbisucranl:3(1.5) /c wwpuHoii 0.1m/
Cunhwuwnniu 3:1 (1.6)/0.1d wyu./ yd 0 106800.0 0.0
Mpepbisuctan 3:1 (1.6) /c wupuroit 0.1m./
Cunthwwnndu 1:1 (1.7)/0.14d (wju. yd 0 81627.3 0.0
Mpepbisuctan 1:1 (1.7) /c wupuHoit 0.1m./
Abnpny bpwagénud 1.14.1;1.17 /PyyHan pasmertxa 1.14.1;1.20 d2 0 2090.0 0.0
* bprelblbh dwuh Upwgdnud | phpdnuwuwnny u2 49257 9695 47754806.9
/3dd hwuwnnipjwdp/
11.Cunwdkup | 242712084,9
XIl | Lpwgnighs wluwwnwupubp
&/p hwqwpnyh Jupkp
C6opHbie /6 noTku
1| Uwqulynwbwiht 2tipun h=10ud d3 26,91 6557 176448,9
2 G/p hwjwpndh Juwpbph wbnunpnd L=3.04d; 34x30ud hwn 138.0 54070 2461660.0
swihuh-414g5.4/ ' '
3 | dwpbph gpwdbyniwwgnud bplgbipu tnwp phnnuing 2 522,0 1236 645192,0
PLwnnub Ggpwpwpbph nbnuwnpnud 15x30ud qd.d
SRR FGNEUL 207,0 8340 1726380,0
Swbdwybp b dbpht unnwbwl qynuinkph
nwdwmnwlwpwpdiwt hwdwlwpgh pwpbpuwynd
2nuwghd-1 /W1/
<nnujht wyuwwmwupubp
1 Fupwdninnt b hnunpwlh dawynid V Yupgh U3
o, Unquifigand 31,9 1329 414515 1
2 fupwdninnt b thnunpwlh dawlnud IV Yupgh u3 797 7 985 716784 5
gpniuinubipnud, Ynnwihgpny ' )
3 fupwdninnt b thnunpwlp (pwdawlynud dbnpny, hwwnwlh d3
g 36,4 6593 239985,2
4 | UWwah bwhiwwywnpwunwlwb epnh hpwlwtwgnud d3
et Biamanpymili 64,8 7260 470448,0
5 Udwgh wwpwnwwuhs obpnh hpuwljwliwgnu u3 162,1 7261 1177008,1
6 | fupwdninne b thnunpwyh bunhgp, Ynnwihgph dowlywsd d3 799 1 462 369184 2
gnniunubphg’ tninthwunwing ' '
7 Uybjwgwd gpniunubph hwppbgnud inbnnu u3 240,4 453 108901,2
Skhtininghwlwl wyluwwnwupubp
1 Snjnipynt niitignn, enwgl (Ci) @150 funnnywlutinh Yupnud inkin 20 4699 9398.0
2 MniptphiEub (HDPE) bnwlgdnn funnnywlutph qd.d
dntunwdnud fupwdninhbpnud DN160, PN=1,0 UMw, 500,0 8572 4286000,0
thnpadwplynwd
3 | Mnjptphisul (HDPE) brwlgynn funqnywlubph g6.d
530,0 3245 1719850,0

dnuuinwdnud fupwdninhubipnud DNSO, PN=1,0




UMNw, hnpdwpynud

4 Mnihkphitut (HDPE) bnwygynn funnndwlubiph gd.d
dnuunwdnid fupwdninhutipnud DNG3, PN=1,0 UMuw, 50,0 1776 88800,0
thnpadwnlynud
5 Mnihkehitub (HDPE) Gnwlgynn funnnwlubiph qd.d 20.0 764 15280.0
dnunwdnud fupwdninhubpnd DN32, thnpdwpynwd
6 Mnihkphitut (HDPE) bnwlgynn funnndwlubpp gd.d 32.0 667 21344.0
dntinwdnud fupwdninhubpnud DN25, thnpdwpynid
7 Ubwwynp thwhwutbph dntinwdnud DN150, PN=1,0UMw hwwn 1.0 138714 138714.0
8 Ubwwynp thwlwutbiph dntinwdnud DNSO, PN=1,0U Mw hwtn 1,0 43430 43430,0
g Mnnuwunb Ygwanipebph dnuunwdnd DN150, hwwn 2.0 15716 31432.0
PN=1,0UMuw
10 | Mnnuuwunb Ygwonippbph dntinwdnud DN50, PN=1,0UMw hwn 2.0 4475 8950,0
1 Mnihkehitu (HDPE) DN160 - dbwnwn DN150 (St) Yygnprihsh hww 10 25090 25090.0
dntuunwdnud (HC)
12 Mnihkrhitu (HDPE) DN63 - dbwunwn DN5O (St) Ygnprihsh hwuwn 10 6509 6509.0
dnuwnwdnud (HC)
13 | Mnjhkphiub (HDPE) funnnwlutph dlwynp dwubp hwn
1
DN16OXDN9O 3,0 10335 31005,0
14 | Mnjhkphitut (HDPE) funnnwlubph dbwdnp dwubp hwwn
ONSOXDNES 4,0 3802 15208,0
15 | Mnjhkphibub (HOPE) funnndwlubph dlwynp dwubp hwun
714
DN63xDN25 0 2380 £
16 | Mnjhkehitub (HDOPE) funnndwlubph dhwgnud hwn
7 4 4527
fuwdnipuwiht wugnuing DN160xDN32 - aieb 5270.0
17 | Mnjhkehibub (HDPE) lunnndwlubph dhwgnud hwwn
fuwdnipuwht wugnuwing DN160xDN25 7,0 ke 44072,0
18 | Mnihkphbub (HDPE) funnndwlubph dhwgnid hwtn
fuwdnipught wugnuing DN90xDN32 340 B REstL
19 | Mnjhkphitut (HDPE) unnnywlubiph dhwgnid hwn
fuwdniewht wugnuing DNIOXDN25 2 A 28858,0
20 | Minptphibut (HDPE) funnnjwlubph dhwgnd hwun
fuwdnipwiht wugnuwing DN63xDN25 2.0 R 5d0,0
21 m Gub u ubiph dnUunwdnud h
nihtehiEUE wWwpnipwlwiht Ygnprhsubiph dninwdnt wn 10.0 2193 21930.0
DN32
2 im tub u utiph dnuunwdnud h
nihtphiEUE wwpnipwlwjht Ygnprhsubiph dntinwdnt wwn 16.0 1985 31760.0
DN25
23 | Onwhwu DN20 hwn 1,0 1135 11135,0
24 | Mn tut (HDPE) DN160 utiph , d, d
(hkphiaut ( ) funnnyulubiph | ugnu Y 05 153670 76835.0
whunwhwuntd
25 | Mnjhtphbut (HOPE) DN9O ub a d, d
IhtRhitub ( ) funnnwlutiph thapdwpynt Y 0.5 109831 58210.4
Yuwgnuw, whunwhwund
26 | M tut (HDPE) DN63 ubiph , d,
nihtehibub ( ) funnnquwlubiph | Juwgnt bd 0.05 92809 4640 5
whuinwhwunud
27 | Mnjhtphtub (HDPE) DN32 ub & 4, d
(htphiuG (HOPE) funnnywijubinh thnpawnlyng 4 0.02 92809 1856.2

[Jwgnu, whunwhwunw




28 | Mn|htpehtub (HDPE) DN25 funnndwlubiph , Jwgntd, yd 0.032 92809 2969.9
whunwhwunwd
Snwghs-2/W2/
Cnnujht wyluwwnmwupubp
1 fFupwdninnt b thnunpwlh dowynd V Yupgh U3 49,1 1329 65253.9
gpniunubipnid, Ynnwihgpny
2 Fupwdnunne b hnunpwyh dowlynud IV upgh u3 114.5 985 1127825
apniuntiipnud, Ynnwihgpny
3 Fupwdnunnt b thnunpwyh (pwdawlnd dknpny, hwwnwlh U3 5.7 6593 375801
hwprbgdwdp
4 | Ujwgh bwhiwwwunpwunwlw gbpnh hpwlwtwgnud u3 10.2 7261 74062.2
h=10ud hwuwnnipjwdp
5 Udwagh wwpunwwuhs sbpunh hpwlwlwgnwd u3 23,4 7261 169907 4
6 Fupwdninne b thnunpwyh Bunjhgp, Ynnwihgph dowlywsd d3
1,
gpnunubphg’ windhwunuing 128.9 462 i
7 Uybtjwgwsd gpniunubph hwppbgnud wbnnu d3 34,7 453 157191
Sthuuninghwlwl wyluwwnwupubp
1 Mn|hkrhiub (HDPE) bnwlgynn funnnjwlutnh qb.d
dnunwdnud upwdninhubpnd DN9O, PN=1,0 170,0 3245 551650,0
UTNuw,thnpdwpynid
2 . |m HDPE) DN9O - DN89 (St
nihtrehibu (HDPE) DN9O - dbwnwn (St) bgnpnhgh hwwn ) 9972 19944.0
dntuwnwdnid (HC)
3 ||™m tut (HDPE) DN9O & ; d
nihtrehitut ( ) funnnyuwlitph thap&wpynud Y 0.2 109831 18671.3
wgnu, whunwhwunwd
2nughé-3/W3/
Cnnujht wfuunnwupubp
1 Fupwdninnt b thnunpwlh dawlnd V fupgh d3
Riiias Sy e in- 73.3 1329 97415,7
2 Fupwdninne b thnunpwlh dawlnud IV Ywpagh d3
qndimbbn, Lnnshapnd 1711 985 168533,5
3 fupwdninnt b thnunpwlh (puwdawlnud dbnpny, hwwnwlyh d3 8.6 6593 56699.8
hwprbgdwdp
4 U u U ok u d d3
Jwah twhiwwywinpwunwlwl sbpnh hpwlwbwgny 15.2 7961 110367.2
h=10ud hwuwnnypjudp
5 | Udwagh wwaunwwuhs sEipnh hpwlwbwgnu d3 35,0 7261 254135,0
6 | hupwdnune b thnun b A d & u3
pwdniny ‘Un unpwyh twnihgp, Ynnwihgph dawlyw 192.7 462 89027 4
gpnitwinbibiphg’ winthwunwing
7 | Uybpuguwd gpniinubph hwppbgnud nbnnu d3 51,8 453 23465,4
Skjutninghwlwt wyluwwnwupubp
1 GQnjnipjntu nubign b (St) @50 nwlub ]
Jntpy gnn wnnuwnb (St) @50 funnnyuwlutiph intin 40 1644 6576.0
Yunpnud
2 | Mnihtphitut (HDPE) tnwlgunn lunnnqwlubph g&.d
dnuunwdnud fupwdninhubipnud DN63, PN=1,0 UMuw, 2540 1776 451104,0
thnp&dwpynu
3 | Mnihkrhtub (HDPE) bin ub &.d
IhEehiut ( ) tnwlgynn funnnywljutinh et 20 666 1332.0
dntnwdnud fupwdninhubpnud DN25, thnp&wpynud
4 MnhtrhiEub DN63 (HDPE) tunnndwlubph dlwyn hwwn
IhErehy ( ) funnnywlutinh dlwynp w 3 2185 6555.0
dwubp
5 Mnihtehitt (HDPE) DN63 - dbwnwn DN5O (St) Lgn hwn
Ihtrehy ) n (St) Ygnpnhsh 5 6509 13018.0

dnuwnwdnid (HC)




6 Mnjhkphitul (HOPE) unnndwlubph Jhwgnud hwun : 2652 2652.0
fuwdnipuwjht wugnwing DN63xDN25

7 Mnihkrehitt DN25(HDPE)- dbwwn DN20(St) Ygnpnhsh hwwn : 3710 3710.0
dnbnwdnid dbunwnuwljwl wpnwpht wwpnpwlng '

8 Ubunwnulwl qunuwiht thwlwu Eplyynndwuh ubpphl hwn . 6083 6083.0
wwpnipwlyny DN20 '

9 | DN63(St) unnnywlh bnwlgnud DN5O(S) funnndwlhl inbin 2 1644 3288,0

10 [ Mnjhtehibut (HDPE) DN63 funnndwlutinh , dwgntd, i 55 — —
whutnwhwuned ' '

11 Mniptphut (HDPE) DN25 tunnndwlubiph , wgnud, yd 0.002 92809 185.6
whunwhwunud ' '
Uy wahuwinwpubp
Cnnuwjht wtuwnwlipubp

1 fupwdninnt b thnunpwlp dowlynid V upgh u3 16 1329 28706.4
gpniuinubipnud, Ynnwihgpny ' '

2 | bupwdninne b thnunpwbh dowlnud IV uipgh d3 504 985 49644.0
gpniunubipnud, Ynnwihgpny ' '

3 fupwdninnt b thnunpwlyh (pwdpwlynud dbnpny, hwwnwlyh d3 95 6593 164825
hwppbgdwdp ' '

4 fupwdninnt bk hnunpwlyh Bwnthgp, Ynnwihgph dowlyws d3 70.4 469 39524 8
gpniunubiphg’ winthwtinuing ' '
Skhutninghwlwt wluunnwpubp

1 Mnnuwwnk (St) bybnwlgdnn funnnduwljubph dnunwdnud gd.J
fupwdninhubipnud DN273x5 npuybiu wwunjw 9,0 42147 379323,0

2 Mnnuuwwnt (St) Eynwlygynn funnndwlutph dnunwdnud gd.d
fupwdninhubpnud DN159x4,5 npuwbu wwunjw e 1P 4700

3 Mnnuuwnt (St) L/bnwlgynn funnndwlubph dninwdnud qd.d
fupwdninhtbipnud DN102x2,5 npwbu wwwnjwl 54,0 6147 331938,0

4 Mnnuwwnt (St) E/bnwygdnn unnndwlubph dnuinwdnud gd.u
fupwdninhubipnud DN89x2,2 npwbu wwnjwt 24 5235 2525400

5 | Mnnuuwnk (St) Eybnwlgynn funnndwlutph dntnwdnud qd.d
hupwininhlibpnud DN57x2,2 npubiu wuwnjub 18,0 3551 63918,0

12.Cunwdbkup 24186446
2736816163
Etll}htuhm[ﬂ
ouduLuRbM@-LUucUThy
<-46, /U-2/-Swpb-Unjwuh-/U-2/ (Ujniuhp) hwipwybnwlwy Lywbwlnipywt w/6-h LU 37+500-
UU55+000 hwindwsh hhduwtnpngiwt wyliwwnwupubph
(2021 puwljwtiht hpwlwlwgybihp)
[ =
c
=
2
NN =
Uphiwtnwlipubinh wbywbinedp . Putiwlyp Uhuidnnh Cuhating
o/y 3 wpdbpp wpdtpp
=
3
S




1 2 3 4 5 6
| Luwtiniwl wluwwmwupubp
1 Snjnueynil niblignn Swlwwwphwihl bpwbubph hwn 38.0 4400.0 167200.0
wwjwwnbnwlwnud, Ybpwnwnd ubthwlwuwwnhpngp
1.Cunwdkup 0,0 167200,0
] Lnnujhtt wpluwwnwupubp 0,0
1 1. Znnujht wpfuwwnwupubp thwihndy gpniintibpnud 0,0
2 18y gpniiwnh dowlnud b inbnwithnfunwd paynngtipny 504 u3 16800.0 437.0 7341600,0
thge/
3
3 M8y gpniitnh dawynud bpulwdwinnpny/1,00%/, pwpanud d3 14270.0 640,0 9132800.0
w/hupUwpwthtph 4pw
4 | wbnwihnfunud |gwlnyin 7.04d nnu 27113,0 700,0 18979100,0
5 | IV1 L d d b d bpny 504 d3
Ot gpniunh dpwlynw U wnbinwithnfunwd pnynng npny 2770.0 450.0 1246500.0
thgp
3
6 V10t gpniunh dwlnud Epulwdwinnpny/1,00%/, pupanud d3 9500.0 820.0 7790000.0
w/hupuwpwihbnh Ypw
7 nbnwihnfunud |gwlynywn 7.04d nnl 18525,0 700,0 12967500,0
3
8 N8y gpniunh dwlynud Epuljwdwunnpny/1,00%, pwpanud d3 540.0 640.0 345600.0
w/hupuwpwihbph pw
9 | whnwihnfunud |hgp 1.0yd nnl 1026,0 310,0 318060,0
10 | Lhgph funnwgnid wulidngnnuny dbl hbinpny 6 wugnuiny u3
30ud 2bpwinh hwuwnniejwdp, oph nwpwdnuing 20110,0 660,0 13272600,0
11 Ynnwiht wnnbph wynuwhwund d? 0,0 2325.0 0,0
12 | Ynnuyht wnnibph wninthwtnud u2 0.0 1096,0 0,0
13 | Twpwlubph hpwlwbwgnud a3 3250,0 2843,0 9239750,0
2.<nnujht wphiwwnwtipbip dwjnwyhl gpnitiintbpnud/ 0.0
1 VII20 u bgnud u b 3
W GRntlinh Lipgiignul wpyewbigpugi ihgghymy g 7980,0 2628,0 20971440,0
0.5-1.0d wwjprwugph funpnipjwdp
2 Luwuopnp thiuptigywd VII20w gpniunh dowlnid d3
4
wbrunfumd pannabpnd 504 hap 5560,0 800,0 448000,0
3 Luwfuopnp thjuptigdwd VII20w gpniuinp dowlynud d3
Epulwywinnpny /1,00%, pwpdnud w/htptwpwthbph 1R i3t 1336000,
4 | wnbnwihnfunud |hgp 1.04d nnu 3120,0 310,0 967200,0
5 | Lwtuopnp thiupbgywd VII20w gpntunh dowlynud u3
Epulwwinnpny /1,00%, pwpénud w/huptwpwthbph WD a0 1622600.0
6 | wbnwihnfunwd |gwlnywn 7.044d wnnl 3172,0 710,0 2252120,0
7 d uny, dbly ht 4wugnudny, d3
Lhgph funwgnud dhppngnnuing, dtil htinpny 4wugnuing 6760.0 2000 1352000,0
40ud 2bpuinh hwunnipwdp
8 | Ynnuwht wnnwbph wynuwhwund u? 0,0 2320,0 0,0
2.Cunwdkup 0,0 ' 113842870,0

]

Dwslh Ynbuwnpnighwi

0,0




g

u3

tungnphwinhl wywquiht 260w h=18ud/ 22308,0 4420,0 98601360,0
2 | hbwwquiht 2ipnn €5 h=20ud u2 97883,0 1950,0 190871850,0
3 | Pupdp dwyninlbu fungnpwhwinhly w/p h=6ud 2 93814,0 4180,0 392142520,0
4 | fungnpwhunhly w/p h=6ud u2 124450,0 5710,0 710609500,0
D Swp dwupwhwuwnhly w/pbinnt ,P"nhwy h=4ud U2 0,0 4240.0 0,0
5% | Qnjngniu niubignn w/pbininub wwndwdph u2
Jbpogunwgnpdnid uwnp Ybpwdpwldwt Gnwuwlyny 31924,0 2960 94495040,0
hdhg.=20ud, ghdbuwnh Tpwn. -184g wybjugnuing
6" | Udwquynwbwiht 2bpin h=20ud d2 6384,9 1081 6902044,5
7* | Qwppbkgunn 2tipu nwp, dJwupwhwnhy w/pbnnuhg P nnl 0.0 44077 0.0
nhuy hdhg.=3ud
3.Cunwdblp 0,0 1493622314
IV | Mnhtubp b dnunpbp 00
1 ubwdwquiht gpun C5 h=12ud 2 0,0 1190,0 0,0
2 Uwupwhwinhly w/pbuinu R "inhy h=5ud u2 0,0 5170,0 0,0
3 | UwqulynwBuyhu sbpin unnnduljubip tnwly h=10ud u3 0,0 5730,0 0,0
4 Ubnwnuwlwu funnnulh nbnwnpnud d=325dd; gd.u 0.0 30450.0 0.0
198.d=39.5qg; d=5dd
5 | Hfuwnhpubiph dhwény pivnu B20 u3 0,0 104770,0 0,0
ub b u2
6 | lunnnulubph gpwdbynwwgnud bplpbipn tnwp 0.0 1830.0 0.0
phunwing
7 i
Ubin. funnnuwlh qifuwdwup gpwdbynuwgnud bplgbipn U2 0.0 1250.0 0.0
wnwp phuinnuing
4.Cunwdkup 0,0 0,0
v Unnu
nnbwlubp 0.0
1 Swdwpnipnuwihtt - gpninp pwpand d? 13015,0 650,0 8459750,0
2 Swdwpnipnwiht  gpnwnh wnbnuidnfund wwhnwinhg wnnu
) ; 22337040,
dhohtp  104d-hg Ynnuwlubph ppwlwiwgdwt hwdwp 25340,0 SR0D 010.0
3 | Ynnuwlubiph hwprbgnu /48278462/ U futnwgnud d3
wuldngnnuny 1 hiiinpny 4 wugnuing h=24ud stipinh 0,0 660,0 0,0
hwuwnieywdp, 9ph twpwénuding
5.Cunwdbklp 0.0 30796790,0
VI | Uwjpk
wjptp 0.0
1 Udwquilynwbuwiht hhdp h=10ud d3 0,0 5040,0 0,0
2 | Phunnub uwihlubph wnbnwnpnud u2 0,0 8088,0 0,0
3 Pwquint iqpupwpbph wbnwnpnut 15x30ud  swihuh gd.d
abunntb hhuph dpw 0,0 14450,0 0,0
3* | Phwnnub b b b d 15x30ud 3.4
qnwpwnbph nknwnpnud 15x30ud  swihuh g 0.0 8340 0.0
ptwnnub hhdph Jpw
4 Cwywpnyh pwnnub Ggpwownp 10x20ud gd.d 0,0 6940,0 0,0
6.Cunwdkup 0.0 0,0
VIl | dbpht hEbwwwwnbp 00
U. | Lu45+700 unp Ybpht hbbwwwn wehg 0,0




1 ; 3
84 gpniunh dpwlynud tpulwywiinnpny/0.65%/, pwnanud u3 52.9 700.0 37030,0
w/hpluwpuwibh dow
2 nbnuihnfunwd igwlnyw 7.04d tnl 100,5 700,0 70357,0
3 Lnyup inbnnud Ynunwlynidnd, hbnwnwpd thgph hwdwp d3 84.1 490.0 41209.0
4 Pnunpwlh YbEpguwdawlynid dnpnd:/I118yY d3 24,5 3420,0 83790,0
5 Uwqulynwbwht obpin Jupbph nwly h=10ud d3 6,9 6300,0 43470,0
6 LEUwwwinbph hhdpbiph hpwlwbwgnd dhwany; J3 28.0 64000.0 1792000.0
pbiwnninuhg B20
7 CBuwwwwnh - hpwlubph hpwywuwgnd  B20 phnnlihg d3 24.0 65870.0 1580880.0
8 THapnpdwghnt Yuwpbph hpwlwtwgnd 2 obpin u2
52 9830,0 51116,0
nnipipnhnnyd  phunuwh dwdniyny (d=2,0ud)
9 | Spniuwnh hbwn gthynn dwlybplnypubiph opwdblnwwgnid d2 912 1250.0 114000.0
Gplotpnn wiwp phunnuing
10 | Swdwpninnh hpwlwlwgnud gd.d 20,0 8610,0 172200,0
100 d :
n Swdwpnipnuwihti ¢100 dd wnhtkehibuwht qd.d 76 2580.0 19608.0
funnnyuljubp
12 Lbuwnwnd |hgp tpuljwdwinnpny/0.6543/,9pnuing L d3 0.0 1120,0 0.0
futnwgdwdp
7-U.Cunwdbkup 0,0 4005660,0
R. | Wi53+300 unp kpht hbbwwwwn wehg 00
1 118 gpniuwnh dpwlynid tpuljwywinnpny/0.65%, pupanu u3 0.0 700.0 0.0
w/hupuwpwihbph Ynw, nbnwihnfunwd igulynywn 7.04d ' ’ '
2 ] ] 7.0ud u
wnbnuwihnfunud \gwlnywn 7.0 tnn 0.0 700.0 0.0
L Ennud
3 nyup wbnnut Ynunwlnidnd, hinwnwpd |hgph hwdwp d3 0.0 490.0 0.0
4 P tipouwd d ab :
nunpwlh Ytpeuwdawynud dknpny d3 0.0 34200 0.0
5 | Gwjhu ot b h=1 d
Jwqulnwuiht 2bnn qwpbnh nwl h=10ud 3 o — i
6 | <bu tph hhdpb u d dhwd d3
wwwinbph hhdplinh hpwhwuwgnud dhwdny) 0.0 64000.0 0.0
pbwnuhg B20
7 Cbuwwwinh - hpwutbph hpwlwlwgnu  B20 phwnnthg d3 0.0 65870.0 0.0
8 | tudnpd u b u d 296 d2
$npdwghnti Ywpbiph hpwlwlwgnud 2 sbpn 0.0 9830.0 0.0
nnipbipnhnny phuinudh dwényny (d=2,0ud)
9 | 9pninh hbin 2thynn dwibpunyputinh epwdblynwwgnud u2
tipyptpwn wwp phunuing 0,0 1250,0 0,0
10| Swdwpnipnh hpwlwuwgnid qd.d 0.0 8610.0 0.0
| Swdwpnipnuiht 9100 Jd wnjhkphituwhu 6.4
pnupnwh wnihtRhEUWIh ! 0.0 2580.0 0.0
funnnywljutip
12| <bwnwnwna Epulwywinnpny/0.65d3/,9pnuing d3
nuind (hgp tpulwywinnpny, gnnudny 0.0 1120,0 0.0
funnwgdwdp
i 514420 tinp tbppht hbbwwwwn hwwpnyh
pinlubphg wohg® 0.0




1184 gpniuinh dowlynid bpuljwdwinnpnd/0.65%/, pwpdnid

1% 100,0 700,0 70000,0
w/hupuwpwihbph Ypw, nbnwihnfund |gulynywn 7.04dm a4 %
2* | wnbnwthnfunud (gulnywn 7.0yd tnnl 190,0 700,0 133000,0
3+ | Lnyup nbinnud Ynunwlnuing, hbunwnwnd |hgph hwdwn J3 69.0 490,0 33810,0
4* Pnunpwlh YEpguwdgwlynud dbnpny: d3 35,0 3422 119778,6
5% | 2np gbdbunwywqb fuwnunipn nwl h=10ud d3 3,6 35575 128069,7
Chuwwwwnh hhdph U hpwuh hpwlwtwgnud hwdwpnyh
6* | phunnut pinlubp 1x1x1,2 B20 /<buwwwwnh funnnsubiph huwtn 55,0 150980 8303900,0
inwgnud ghdbunwywgl pwnwpuny /
Tednpdwghnt Ywpbph ppwlwtwgnd 2 2bpn
Vi d2 0, 9830, 0,0
nniptpnhnny  phuinwh dwdniyny (d=2,0ud)/ 0 .
g Qnpniuwnh hbwn 2thdnn dwybplnypubph gpwdbynwwgnid 0 182.4 1250.0 228000.0
tplzbpun tiwp phunnuing
9* | Swdwpnipnh hpwlwlwgnid gd.d 40,0 8610,0 344400,0
Swdwpnipnuiht @100 dd wnihkpehituwhu
10* 4 0,0 258 0,0
funnnywyubn 40 0
- Lbnwnuwpd hgp tpuljwydwnnpny/0.65d3/,9npnudiny b 53 69.0 1220 84180.0
funwgdwdp
7-P.Cunwdbklp 0,0 9445138,3
Vilr* | Ubnwnwlwy junnpnjul d=1020dd  3hwwn 00
/MuY400+20/ '
<nnuiht wohuwwnwuptbp 1184 Ywpgh puwhnntpnud hntup
h
i ninndwl hwdwp/nbnwihnfunyd pnynngbipny 504/, i3 0.0 950 0.0
pwpdnu tpuwdwinnpny 1,003/ w/huptwpwihtph ypw
2* | wbnwihnfunud (gulnywn 7.04d innu 0,0 700,0 0,0
Pnunpwyh thnpnd 11184 gpniuinubpnud
3* | bpulwywwnnpny/1.0d3/, mbnnud Ynunwlnwding hbnwnwpd J3 0,0 480 0,0
lhgph hwdwp/
4* | FuGwjhu hhdp h=20ud J3 0,0 13750,0 0,0
5+ | Ujwqulnwbuwht hhdp h=10ud d3 0,0 5720 0.0
Ubinwnwlwu d=1020dd funnnywyh nbnunpnid
64
198.4=2494q; d=10dd/ il — A JE
7* | Huwdwuh hpdph dhwény pinnt B20 d3 0,0 77950 0,0
8* | Shuwdwuh hpwuh dhwdny pivinl B20 43 0,0 105840,0 0,0
g+ | dwph b hEuwluwht wnwdh dhwany) pbinnt B20 43 0,0 77950 0.0
10° Funnndwlh opwdblynuwgnd Bipkpbpn twp phunwing- 0 0.0 1830.0 0.0
10.8gé.4/
1| <Bwnwnwnd |hgp 1184 Yupgh puwhnntpny d3 0,0 106,0 0.0
8".Cunwdkup 0,0 0,0
Vill | Ubnwnwlwl funnnjwl d=1020dd /Mu446+02/ 0.0
1 <nnuwiht wptuwwnwupubp 18y Ywpgh puwhnntpnud hnih d3
nuinndwt hwdwp/nbquithnfunud paynngbipny 504/, 0.0 950.0 0.0
pwpénw tpulwldwinnpnd /1,003/ w/hupuwpwihtph Jpw
2 nbnwihnfunud jgulnywn 7.04d nnu 0,0 700,0 0,0




3 | ®nunpwlh thapnud 1184 gpniiintbpnud d3
Epulwywinnpny/1.0d3/, nnbnnud Ynunwlnwing hnwnwnd 0,0 480,0 0,0
(hgph hwdwn
Fubwihu hhdp h=20ud d3 0,0 13750,0 0,0
Udwquynwsdwiht hhdp h=10ud d3 0,0 5720,0 0,0
Ubunwnuwlwl d=10204d4 funnnqwyh nbnwnpnid qd.d 0.0 261000.0 0.0
1g&.0=249Uq; d=10dd/
7 | Yuwdwuh hhdph dhwdny, pbwnu B20 J3 0,0 77950,0 0.0
8 | Suwdwuph hpwuh dhwany| picnnu B20 d3 0,0 105840,0 0,0
9 | dwph U hbbwlwiht wnwdh dhwany| pinnu B20 J3 0,0 77950,0 0,0
10 | lunnnulh opwdbynwwgnd Bplobpn nwp phinnudng- u2 0.0 1830.0 0.0
10.8g8.4/
1| <bwnwnwnd (hgp 1118y Ywnpgh puwhnnbipny a3 0,0 106,0 0,0
8.Cunwdkup 0,0 0,0
IX | 6/p unnqnulubph b hbbwwwinbph JEpwtnpngnud b 0.0
ybpwywnnignud '
LJd37+511.5 01.5d b/p b dbvnwnuljwl funqnyuwy, 0.0
dnunpp dwluhg '
1 funnnywlh dnunph , biph b dheh dwppnud gpniuwnhg g3 16.0 1970.0 31520.0
&bnpny, Ynyuwdnpnud
2 pwpénud dtinpny wywnnhtplwpwih b inbnwihnfunw nnu 28.0 1090.0 30520.0
lgwlnywn 74d hEnwynpnieiwl Ypw 11334
3 | b/phnnub b dbnwnulwu funnndulubph Ygnprdwu d3
hwindwédnud dhwény| pininuh hpwlwbwgnud dupdwu 0,0 56830,0 0,0
nwl’ ubpwpynuwing, B20, F100:
4 | &/p unnndulh Ywpbph jpuignud gbd.wdwquht d3 0.0 50820.0 0.0
ownwhuny M200
5 dnunphg 7-pn, 11-pn b 15-pn B/pbninub ppnlubipp Unpngby d2
gbd.wwquiht 2wnwiuny M200, H=0.03d" dbwnwnuwljwl 0.0 5090.0 0.0
guugh dpw, (100x100)dd @4 Bp- |, P=0,0281uwn:
6 Ununpnud b ipnud gqifuwdwubiph hpwlwtwgdwl hwdwn d3
thnunpwlutph thnpnud 0.6543 2bpbthny Epuljwiwinnpny, 5,4 670,0 3618,0
gpniuinh wwhbunwynpnu IV(10G)'
7 | guwdwuh hpwlwtwgdwl hwdwp u3
1
Lwhiwwywnpwuwnwlwl sbpun fuéing: 9 e G250
8 | Ununpnul b Bipnud dhwidny| pbinntl qluwdwubph d3
hpwlwlwgnud B20, F100, swih 3.6x3.0x0.44: 7.2 J05ESA.0 veEiagn
8" | htUwluyht wwnwdh dhwany) pbnnu B20 d3 0,0 77950 0,0
9 | <& a 0.65d3/,9pnud
nwnuwné (hgp Epulwlwwnnpnyd/0.65d3/,9pnuiny L u3 5.4 1220,0 6588.0
futnwgdwdp
Lu37+765 01.0d b/p funnnywl* 0.0
1 funnnywyh dnuwnph |, Gph U dheh dwppnid gpntunhg u3
abnpnd, Ynywwdnpnud 1133y/ A 19200 2Eo80,0
2 wnanud dtinpn tnnhlpl L wb d u
P nt, by bk tn ey i 245 1090,0 26705.0

[gulynywn 74d hnwdnpnigjuit Ypw 1133y

4u39+100.0 2.0x2.0d nupqulyniu b/p funnnyuwl

0,0




1 funnnywyh dnunph b Bph dwppnud gpniunhg 0.6543 d3
2bpbthny Fpuljwywwnnpny, pwpand huptwpwih, 38,0 560,0 21280,0
inbinwthnpund [gulnywn 7yd hbn. ypw:/
2 nbnwihnfunud (gwynywn 7.04d wnnu 66,5 700,0 46550,0
3 funnnuwyh dhoh dwppnud gpniiinhg dbnpnd, d3 141 1970.0 27777.0
Ynywwdnpnud 1133y
4 pwpanu dbnpny wywnnhuptwpwih b nbnwihnfun wnnl 24.7 1090.0 26923.0
[guynyw 74d henwynpniejwt Ypw 1133y
4* | Ununpnud b Bpnd dhwdny) pbnnub giluwdwubph d3 3.8 65874 250322.7
hpwlwuwgnud B20, F100,
5% | hbuwlwjht wuwnwdh dhwanyp phinnu B20 d3 0,0 77950 0,0
5 Funnnduwlyh dnunph b Giph pbninub plbph L J2
giuwnhpubph yepwunpngnud gbd.wdwquyht swnwpuny 0.0 4920,0 0,0
M200, Hdhg.=0.044
6 | &/p tunnnqulh Ywpbph pwignud gbd.wywquht i3 0.0 50820.0 0.0
uurnuifuny
7 Funnnyuwlh bbpuh wwwnbph ujwn gbd.wywquiht u2 0.0 4020.0 0.0
awnuwfuny M200, H=0.034:
8 Funnnuwlh wnwuwnwnh ujwn gbd.wjwquyht swnwpuny u2
0,0 4520, 0,0
M200, ninpypbunwgnuing, H=0.034:/ SRR
9 | tunnnywlh dbg jwwnnyh hpwlwliwgnud dhwany d3
pbiwntny, B20, F200, h=10ud .0 e .
Li39+410 @1.04 &/p unnniwl* 0,0
1| unnnuwlyh dnunph |, biph b dhoh dwppnud gpniiinhg u3
’ 1970,0 19700,
dbnpny, Ynyunwynpnud 11334/ W00 S Al
2* | pwpanud dbnpny wyunnhUptwpewt b nbnwihnfunud nnu
1 1907
lgwlnywn 744 hbnwynpnipjwl Ypw 1133y h3 i PSS
4d40+340.0 @1.5d b/p funnnywly, dnunpp dwhuhg 00
1 funnndwlh dnunph | biph L dheh dwppnud gpnitinhg u3
sbinpny 1133/ 0,0 1970,0 0.0
2 anu ab upl b
pwpén dbnpny wwnnhtupuwpwih b inbrwihnfunu tnnu 0.0 1090.0 0.0
[gulynywn 74d hbnwynpniejwt Jpw 1334/
3 | b/ptunnn b d ghd. u d3
P funnnyuwlh Guptiph puggnud gbd.wywquh 0.0 50820.0 0.0
awnwfuny/
4 Ununph gfuwdwuh unpngnud gbd.wwquiht ownuituny 2
M200, h=3ud::/ B3 — L
5 | bph gluwdwup unpngnul gbd.wydwquiht swnwiuny u2
M200, H=0.04d" dbunwnuwlwt gwgh Ypw (100x100)dd 0,0 5550,0 0,0
@4 Bp- 1, P=0,0495wn:/
L4U40+150 @1.0d b/p fjunnnyuwly, dnunpp &wfuhg 0.0
1 funnnywlh dnunph b Biph dwppnud gpnituinhg 0.6543 d3
2biptthny Epuljwduwnnpny, pwpand huptwpwth, 6.8 560,0 3808.0
wbnwihnfunud lguilnywn 74d hbn. Ypw:/
wnbnwihnfund gulnywn 7.044 nnu 11,9 700,0 8330,0
Funnnquwlyh dhoh d d gpniu dtinpny, d3
nnwlh dhoh dwppnul gpniuinhg dtinpny, 35 1970.0 6895.0

Gnywnwynpnud 11334




4 pwpdnud dtinpny wywnnhtupwpwth U inbnwdnfunud tnnl 6.1 1090.0 6676.3
lguwlnywn 74d hinwdnpnipywt gpw 133Y/
5 | &/p unqndulh Yupbph puignud gbd.wdwquht d3 0.0 50820.0 0.0
ownuwfuny M200
6 | Gph gnniejnlu niubignn punnul qluwdwuh Yugdwnnu d3
wubdwgnpdhpny, peynpubiph pwpdnu 0.65d3 2GpGhny 0,0 26780,0 0,0
Epulwywwnnpny wywnnhuplwpwth
nbnuithnfunwd (guynywn 7.04d nnu 53 700,0 3696.0
Ununpnud b bpnud giuwdwubph hpwlwiwgdwu hwdwn d3
thnunpwlubiph thnpnud 0.65d3 2bpbthing tpuljwdwinnpny, 9,5 670,0 6365,0
gpniuwnh wwhbuwnwynpndd 1IV(10L)/
9 guwdwubph ppwlwiuwgdwu hwdwp d3 0.5 13750.0 6325.0
Uwhiwwwwnpwunwlwu 2bpn fuéng
10 | Unwnpnud b Bipnud dhwdény| pewnnub gluwdwubph u3 8.5 1058500 899725.0
hpwlwuwgnud B20, F100, swih 4.0x3.0x0.44:
10* | hbbwlwjpt wwnwdh dhwany pbunu B20 d3 0,0 77950 0,0
1 Lhwnwnwnd hgp Epuljwdwnnpnd/0.65d3/,9pnuing U U3 9.5 1220.0 11590.0
fuinwgdwdp
L4Ud40+350.0 @1.0d b&/p funnndwy, dnunpp dwtuhg 0,0
1 tunnnuwyh dnunph b Bph dwppnid gpniinhg 0.6543 u3 0.0 560.0 0.0
2bpbthny Epulwydwunnpny, pwpénw huptwpwih,
2 | wbnuihnpund lguynywn 7.0yd nnu 0,0 700,0 0,0
3 | hunnnulh dheoh dwppnid gpniunhg dbnpnd, d3
Ynywwynpnwd, pwpdnd wynnhtptwpewth L 0,0 1970,0 0.0
wbnwihnfunwd (guynyw 74d hbnwdnpnijwu Jpw 1133y
4 pwpand dbnpny wywnnhuptwpwih b inbnwithnfunid wnnu
0,0 1090,0 0.0
[gwlynyw 74d hbnwynpnipjwt Ynpw
5 Ununph ophnprwth Jpwih gwugh wwwdnUuwdnid, nnl 0.0 53470.0 0.0
Ybpwnwnd ubithwlwuwnhpnep:
6 | Ununph pwpwht qwupwdpny oppunniuhsh Yugdwwnnud u3
,0 17680, ,0
&bnpny, pwpanud wywnnhuplwpwih . RRRE .
7 | wbnwithntunw (gwynywn 7.04d nnu 0,0 7000,0 0,0
8 G b d gbd. u
/p funnndwlh Yupbph puignud gbd.wdwquih a3 0.0 50820.0 0.0
wnuituny
9 | Bph gnynipjniu niubignn pbunnut glfluwdwuh Yugqdwwnnd u3
wulidwgnpdhpnd, pEynpubiph pwpénd 0.6543 bptithny 0,0 26780,0 0,0
Epulwdwinnpny wywnnhupliwpwih
10 | mbnwidhnfund (gulynywn 7.04d tnnl 0,0 700,0 0,0
1 Ununpnud dhwdny| pnnnul 9ppunniuhsh hpwlwtiwgnud, Ul
swith 2.6x1.24, h=1.7d, b=0.44: 0.0 gy 9.0
12 | ppunniuhsubph Jdt U guil bl U
ppunnuhsubph dEnwnwlwt gwugh wwunpwuwnnu nn 0.0 214180.0 0.0
nbnwnpnud:
L63x63x6ud/mm P=105.2g/kr gé.d 0,0 4660,0 0,0
-5x80dd/mm P=106.8g/kr gé.d 0,0 3510,0 0,0
13 | Genu gluwdwuh hpwlwuwgdwt hwdwp thnunpwlyh d3
thnpnud 0.6543 2bpthny tpuljwduwwnnpny, gpntunh 0,0 670,0 0,0
wwhbuwnwynpnud 1V(10E)
14 dwub uwgdwl hud d
A . . 0,0 13750,0 0,0

Lwhwwwwnpwuinwlwy gbpn fuéng




15 | benud dhwany| peunnub gluwdwuh hpwlwuwgnud B20, d3 0.0 105840.0 0.0
F100, swth 4.0x3.0x0.4d
15% | hbbwlwiht wnwdh Jhwany) pbnnt B20 d3 0,0 77950 0,0
16 | <bwnwnwpd thgp bpulwywwnnpny/0.65d3/,9pnuing b d3 0.0 12200 0.0
funwgdwdp
Y4U40+690.0 @1.5d b/p funnnywl, dnunpp dwfuhg -
@1.5m '
1 tunnnduwyh dnunph Lbiph W Biph Jwppnud gpniuinhg u3
gbinpnd, Ynywnwdnpnwd, pwpdnud wywnnhupuwpwih 133y 2,0 1970,0 3940,0
2 pwnénw danpny wywnnhupuwpwth b inbnwinfunu wnlu 35 1090.0 3815.0
lgulynywn 74d hEnwynpnipjwt ypw
3 &/p funnnduwlh Yupbph (pugnud gbd.wdwquiht d3 0.0 50820.0 0.0
winwfuny
4 Ummgfj U Gph giuwdwubph dwybpunypubph dwppnu U2 0.0 1530.0 0.0
abnpny’ dbfuwthlwlwl Enwuwlyny
5 | Ununph b Gph guwdwubph unpngnud gbd.wywqujht u2
ownwfuny M200, H=0.044" dbnwnuwlwl guwugh Ypw 0,0 5550,0 0,0
(100x100)Jd @4 Bp- |, P=0,0693wn
Y4U40+780 01.5d b/p funmnywl, dnunpp dwjuhg 0,0
1 funnnquwyh dnunph b Gph dwppnd gpniunhg 0.6543 u3 5.0 560.0 2800.0
stiptthny Epulwywnnpny, pwpdnud huptwpwih
2 | wbnuihnfund (gwynywn 7.04d wnl 8.8 700,0 6125,0
3 Funnnywlyh dheh dwppnud gpniiinhg &bnpnd, u3 05 1970.0 985.0
Ynywnwynpnud, pwpdnd wynnhupuwpwtih
4 pwpanu dbnpny wywnnhupliwpwi U nbnwihnfuna nnl
1 8
lgwlnywn 74d hnwynpniejwt Ypw e e 963
5 | b b d ghd.
/p unnnduwlh Yupbph puignad gbd.wdwquiht u3 0.0 50820.0 0.0
2wnufuny
6 | Ununph U bph pwjpwjdwé phinnub gifuwdwubiph u3
Ywqudwwnnud wubdwgnpdhpny, pwpdnid 9.8 26780,0 2624440
wywnnhuptwpwh 0.65d3 2tipkthny tpulwlwwnnpny
7 nbnuwihnpund (gulnyw 7.04d wnnu 23,5 700,0 16464,0
8 | Ununpnud U Gpnud gifuwdwubph phpwlwbwgdwu hwdwp d3
thnunpwlubiph thnpnud 0.6543 2bpbthing Epuljwywwnpny, 10,0 390,0 3900,0
gpniunh wwhbunwynpnu
9 | giuwdwubph hpwlwbwgdwu hwdwp u3
bwhiwwwwnpwunwlwt obpn fung G5 Taroms GonOR
10 | dhwény| pbnnub giuwnhpubph hpwywuwgnud B20 d3 7,1 105850,0 751535,0
10* | hbbwluwyht wunwdh dhwany pbunnu B20 d3 0,0 77950 0,0
1 | <k a 0.65d3/,9pnudng b d3
s thgg kpulandn o) hennuing 10,0 1000,0 10000,0
funwgdwdp
L4d41+550 @1.0d b/p funnnyuwl, dnunpp dwfuhg 0.0
1 funanjulh dnunph \Biph U Gph Jwppnud gpniunhg d3
abnpny, Ynywnwynpnud, pwpdnud winnhupuwpwdh 11334 45 1970,0 8865,0
2 anwd ab upl btk d u
pwndn npny wywnnhtplwpwh U inbnwihnfunt nn 79 1090.0 8583.8

lgulnywn 74d hEnwynpnipjwu Ypw 11334




E/p funnnqwlh Yuptiph |pwignud gbd.wywquihl

d3

0,0 50820,0 0,0
Junuwhun
4 Ununph b bph pwjpwjdwé phunnub gfuwdwubph u3
Yugdwwnid wulidwgnpdhpny, pwpand 6.2 26780.0 166036.0
wywnnhuptwpwth 0.6543 2tipkthny tpuljwdwinnpny L
nbnuwihnfunud gwlnyw 74d hbinwdnpnipjwt Ypw
5 nbnwihnfunud \gulnywn 7.04d wnnl 14,9 700,0 10416,0
6 Ununpnud b Bpnud gfuwdwubiph hpwlwiwgdwt hwdwp d3
thnunpwlutiph thnpnud 0.65d3 sbpkthing Epuljwduwwnnpny, 6,4 390,0 2496,0
gpnuunh wuwhbBuwnwynpnud 11{334)
7 glfuwdwubph hpwjwuwgdwu hwdwnp d3 0.5 13750.0 6875.0
Lwhwwwwnpwunwlwl 2bpn futing
8 dhwdny| pbwnub giuwnhpubph hpwlwuwgnud B20 d3 10,1 105850,0 1069085,0
8* | hbuwlwht wwwdh dhwény| phinnt B20 u3 0,0 77950 0,0
9 | <bwnwnuwpd hgp tpuywyuwinnpnd/0.65d3/,9pnwing L u3 6.4 990.0 6336.0
futnwgdwdp
LYd41+810 @1.0d b/p funnnyuwl, dnunpp wohg 00
1 funnnulyh dnunph Giph L Giph dwppnud gpniuinhg U3
dbnpny, Ynywnwydnpnud, pwpdnid wywnhupbwpwih 1334 3,5 1970,0 6895,0
2 pwpdnud dbinpny wyunnhuptwpwih b wtnwdnfunud wnnl 6.1 1090.0 6676.3
(gwlnywn 74d hbnwynpnipyw dpw 11334
3 B/p funnnywyh Ywpbpp ppuignud gbd.wjwqujht d3 0.0 50820.0 0.0
wnuiuny
4 Ununph b bph pwjpwjdwé phinnub gqfiuwdwubph d3
Ywguiwwnnud wubdwgnpdhpny, pwpdnid 3,0 26780,0 80340,0
wywnnhupuwpwth 0.65d3 stiptithny Epulwlwinnpny
5 | wbnwihnfunud |gwynywn 7.04d tnnu 7,2 700,0 5040,0
6 | Unwnpnud b bpnd giluwdwubiph hpwlwuwgdw hwdwp d3
thnunpwyubph thnpnuw 0.6543 pbpbthny Epuljwywwnnpnd, 1.6 390,0 585,0
gpniunh wwhbuwnwdnpnu 1(334)
7 giuwdwubph hpwlwtiwgdw hwdwp d3
) 13750, 6875,0
Uwhwwwwnpwunwlwu 2bpnn fubny 6.5 B750.0
8 | dhwany pwnub gqiuwnhpubph hpwlwuwgnd B20 d3 6,9 105850,0 730365,0
8" | hkbwlhwjht wuinwdh dhwény| phnnt B20 d3 0,0 77950 0,0
9 Geh glfuwdwuh unpngnud gbd.wdwquiht awnwiuny U2
M200, h=5u 0,0 5820,0 0,0
10 |4k & 0.65d3/,9pnuiny L d3
nwnwnd (hgp tpulwdwwnpny/ /,opnudny 5 990.0 1485.0
futnwgdwdp
4YWi41+960.0 @1.5d b/p funnnywl, dnunpp wehg 0.0
1 funnnywyh dnunph dwppnud gpnitiinhg dbnpnd, d3
Ynywnwynpnud, pwpédnd wwnnhuptwpwdh 1133y e 100 18,0
2 dnwd ab upl b b d u
puwpant npny wyinnhuptiwpwt b wnbnuwinfunt nn 18 1090.0 1907.5
lgwlnywn 74d hbnwynpnipiwt dpw 11334
3 | &/pfunnn b d ghd. u J3
p funnnyuwiyh Yuptiph puignud gbd.wlwquih 0.0 50820.0 0.0
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4 Ununph gnjnignit niubignn pwjpudwé glluwdwuh d3
Ywgdwwnnud wubidwgnpdhpny, pwpdnu wynnhuptwpwtih 4,5 26780,0 120510,0
0.65u3 gbpbthiny Epulwydwwnpny,
5 nbnwihnfunud |gulnywn 7.044d nnl 10,8 700,0 7560,0
6 | Unwnpnud bt bpnud qiluwdwubiph ppwlwliwgdwt huwdwp d3
thnunpwlubph thnpnud 0.6543 2tpbithny Epuljwdwwnnpny, 1,5 390,0 585,0
gpniuwinh wwhbunwynpnu 11(334)
7 | gluwdwuh hpwywbwgdwl hwdwp u3 0.5 13750.0 6875.0
Lwhiwwwwnpwunwlwu sbpwn funyg
8 dhwany) pennub gfuwnhph hpwlwuwgnud B20 d3 6,2 105850,0 656270,0
8" | hbuwlwht wwnwdh dhwanyp painnu B20 d3 0,0 77950 0,0
9 Giph giuwdwuh unpngnud gbd.wdwquiht swnwfuny u2
492 0,
M200, h=4ud 0.0 = 0
10 | <Bnwnwpd (hgp tpulwdwinnpny/0.65d3/,9pnwing b d3 15 990.0 1485.0
funwgdwdp
Ld42+340 @1.50 b/p funnnywl, dnunpp wghg 0.0
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2bpbthny bpuljwdwwnnpny, pwpdnw huptwpwih 0.5 60,0 > )
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pwpénul dbnpny wywnnhuptwpwih b wbnwihnfunud wnnl 10.2 1090.0 11063.5
lwynywn 74d hbnwynpnieywt pw 1133y
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qwnuwfuny
6 Ununph gnjnipjnit niubignn pwjpwidwsd qifuwdwuh a3
Juqdwwnnud wubdwgnpdhpny, pupdnwd wynnhpbwpwi 45 26780,0 120510,0
0.65u3 ptptithny Epulwywinpny,
7 innwithnfunud \gwlnywn 7.04d wnnu 10,8 700,0 7560,0
8 Ununpnud gifuwdwuh hpwjwtwgdwt hwdwp d3
thnunpulutiph thapnud 0.6543 2tipkithny Epuljwywinnpnd, 1.5 390,0 585,0
gnniuinh wwhbuwnwynpnud 11(33y)
9 gluwdwuh hpwlwuwgdwt hwdwp d3
Lwhiwwwwnpwunwlwy sbipnn funyg o 13750,0 T80
10| dhwany| pbunnub gifuwnhph hpwlwlwgnu u3 8,1 105850,0 857385,0
10" | hbUwlwiht wnwdh dhwany| pbnnt B20 d3 0,0 77950 0,0
1 Giph giuwdwuh unpngnud gbd.wywqught 2wnwfuny u2
M200, h=5ud 0,0 5820,0 0,0
12| <bnwnwnd Epuljwluinnpny/0.6543/,9pnudny u3
nwnd |hgp tpulwdwinnpny gnnuiny 15 990.0 1485.0
futnwgdwdp
4d42+630 @1.5d b/p unnnywl, dnunpp wehg 0.0
1 | runnnyuilyh dnwnph b Biph dwppnud gpntiinhg 0.6503 43 ]
nnywlp dnunph L biph dwppnud gpnitinhg 17.0 560.0 9520,0
2bptthny bpulwydwinpny, pwpand wywnnhuplwpwih
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4 pwndnw dbnpny wywinhupbwpwih b nbnwihnfunwd wnnu 2.9 1090.0 23843.8
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5 &/p funnnyuwlh Ywpbph puwignud ged.wdwquihu d3 0.0 50820.0 0.0
unwifuny
6 Ununph gnjnipyntt niubignn pwjpwydwd gfuwdwuh d3
Ywgdwwnnud wulidwagnpdhpny, pwpdnud wywnnhuplwpwih 3,5 26780,0 93730,0
0.65d3 gbptithny Epulwywinpny
7 nbnwihnfunud \gwynywn 7.04d wnnu 8,4 700,0 5880,0
8 Ununpnud glfuwdwuh hpwlwiwgdwl hwdwp d3
thnunpwlubph thnpnud 0.6543 obipbithng Epulwywnnpny, 1,5 390,0 585,0
gpniunh wwhbunwdnpnud 11(334)
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4d42+920 01.0d b/p funnnyqul, dnunpp wehg 6.0
1 funnnjwlh dnunph b Bph dwppnud gpniuinhg 0.6543 d3
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punuiuny
6 | bph guwdwuh Unpngnud gbd.wdwquyht swnwhuny d2
M200. h=5ud 0,0 5820,0 0,0
7 Gieh gnjnuegniu niubgnn pwipwywd guwdwuh u3
Jugqdwwnnuw wubdwgnpdhpny, pwpdnud wywnnhtpuwewth 3,5 26780,0 93730,0
0.65d3 2tipbithny Epulwywwnpny
8 nbnwthnfunud |gwlnyw 7.04d nnu 8,4 700,0 5880,0
9 Gieh giiuwdwuh hpwywuwgdwl hwdwp thnunpwlubph d3
thnpnud 0.65u3 ptpkthny Epuljwlwwnnpny, gpniunnh 3,5 390,0 1365,0
wwhbuwnwnpnud 11(334)
10 | gfiuwdwuh hpwhwbwgdwy hwdwp u3
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1 dhwdény| pEunnub qluwnhph hpwlwbwgnud d3 4,5 105850,0 476325,0
11" | hbuwhwih winwdh dhwany| ptiinnu B20 d3 0,0 77950 0,0
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gwlynywn 74d htinwynpnejwu Ypw 11334
5 t/p unnnquyh Ywpbph pwignud gbd.wdwquiht d3 0.0 508200 0.0
qunwfuny
6 Ununph b bph pwjpwyqwéd pbnnub glluwdwubph u3
Yugdwwnnud wubdwgnpdhpny, pwpdnud wywnnhlpbwpwih 75 26780,0 200850,0
0.65d3 gbpbthny Epuljwywwnpny
7 inbnwihnfunud |gwlnywn 7.04d tnnu 18,0 700,0 12600,0
8 Unuwnpnud b Gipnud giuwdwubph hpwlwiwgdwu hwdwn u3
thnunpwlubph thnpnud 0.65d3 2bipbthny Epuljwduwiinnpny, 10,0 390,0 3900,0
gpniuinh wwhbuwwynpnd 11(334)
9 | giuwdwubph hpwlwtwgdwl hwdwp d3 0.5 13750.0 6875.0
Lwhwwwwnpwunwlwu 26pn fjubng
10 | dhwény) pbnnub gluwnhph hpwlwbwgnud u3 8.1 105850,0 857385,0
10* | huwlwihtu wwnwdh dhwény] pbinnu B20 U3 0,0 77950 0,0
1| <hwnwnwpd hgp Epuljwdwinnpny/0.65d3/,9pnuiny L d3 10.0 990.0 9900.0
futnwgdwdp
Ld43+790 @1.0d b/p funnnyqul, 0,0
1 d :
funnnuyh dnunph b Gph dwppnud gpniiinhg 0.6543 d3 15.0 560.0 8400.0
sbipbthny Epulwduwuinpnd, pwpand wywnnhuplwewth
2* | mbnwihnfunwd guynywn 7.0yd wnnl 26,3 700,0 18410,0
3 | U
nunpnud b Bpnud giluwdwup hpwlwuwgdwt hwdwp u3 05 13750.0 6875.0
Lwhwwwwnpwuinwlwy 2bpn fubng
4 U d b Bpnud dhwad
nunpnt ienwd dhwany| pbwnnub gluwnhph d3 40 105850.0 423400.0
hpwlwuwgnul B20
5* htuwlywjht winwdh dhwany| picnu B20 u3 0,0 77950 0,0
L4i43+960 2.0x2.0d nunnutlyniu b/p funnndwy, dnunpp 0.0
swhuhg '
1 funnnquwlyh dnunph b bph pbwinut pUubph L d3
qUiuwnhputiph Yuquwnnu wibidwgnpdhpny, ptlynplitiph
pwndnwd wyinnhuptwewi 0.65d3 sbpkhny 6.2 Breee 2ree0A
Epulwywinnpny
2 nbnwihnfund (guynywn 7.04d nnl 20,4 700,0 14280,0
3 |& ] d ghd.
p funnnduwlh Yupbph (puignad gbd.wywquyht J3 0.0 50820.0 0.0
2wnuwfuny
4 Ununpnud unp plbph hpwlwtwgdwu hwdwp d3
thnunpwlubph thnpnud 0.6543 pbpbthny tpuljwduwnnpny,
30% gpniuinh pwpdnud wynnhuplwpwh b 1,4 560,0 756,0
nbnwihnfunwd |gwynywn 7Yd hbn. Jpw
5 | wbnwihntund gwlnywn 7.04d nnb 2,4 700,0 1653,8
6 | Unuwnpnud unp plbph ppwlwbwgdwt hwdwn d3
thnunpwlubiph thnpnut 0.65d3 gbipbthng tpulwduwwnnpny, 3.2 390,0 1228,5
gnpnitnh wwhbuwnwynpnu 11(334)
7 | <bnwnwpa k 0.65u3/,9pnuiny b d3
nuwnd (hgp tpuljwywinnpny/ gnnuiny 3 990.0 3118.5
futnwgdwidp M3
8 Unun Ltph hhdpt wlwlwgdwl hwd d3
Bb A RAGSAR prwaljuug il hadup 09 13750,0 12650,0
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9 Ununph pUtiph hhdptiph hpwlwluwgnud dhwany| pbnnting | d3m3 0.0 64000.0 0.0

10 | Ununph plbiph hpwutbph hpwlwbwgnud dhwényg u3 0.0 65870.0 0.0
phitnnuny

" Ununpnud U bpnud giiuwnhpubph hpwlwtwgnd dhwany| u3 47 65870.0 309589.0
phunnuny

11* | hEbwywihu wnwdh dhwany pbnnt B20 u3 1,5 77950 116925,0

12 | Giph gnjnueinu niubignn piwinub pubiph Jepwunpngnud u2 0.0 5820.0 0.0
gbd.wlwquiht swnufuny M200, h=5ud

13 | bpnuwd hnwp dbg pwpwiht thgph hpwlwtwgnul d<0.3d d3 3,0 6030,0 18090,0
Li45+280.0 01.04 b/p funnnduwly, dnunpp dwhuhg 0.0

1 runnnyuwlh dnunph dwppnud gpniuinhg 0.6543 obipbithny a3 20 560.0 1120.0
Epuywywwnnpny, pwpdnud wyunnhtplwpeuwth

2 ntnwihnfund [gulnywn 74d hkn. pw wnnl 35 700,0 2450,0

3 t/p funnnquwlh Ywpbph pugnd gbd.wdwqught U3 0.0 508200 0.0
2wnuwifuny

4 Ununph U bph pwjpwyqwé pbnnub gqfluwdwubph u3
Ywagdwunnud wubdwgnpdhpny, pwpdnud 7,5 26780,0 200850,0
wywnnhupuwpwt 0.65d3 stiptithny tpulywlwinnpny

5 nbnwihnfunud (gwynywn 7.04d ninl 18,0 700,0 12600,0

6 Ununpnud b bppnud giuwdwubph hpwlwiwgdw hwdwn d3
thnunpwlh thnpnud 0.65d3 26pkthny Epuljwywwnnpny, 6,0 670,0 4020,0
gpniunp wwhbuwnwynpnu 1V(10k)

7 | giuwdwubph ppwlwtwgdwt hwdwp d3 0.6 13750.0 82500
Lwhwwwnpwunwlwl bpn jutng

8 | guwdwubph hpwlwlwgnud B20, F100 d3 4,5 105850,0 476325,0

8" hbuwyuwiht wnwdh dhwany pnnu B20 u3 0,0 77950 0,0

9 | <hunwnuwpd |hgp tpulwduwinnpnd/0.65d3/,9pnuwding b d3 6.0 1220.0 7320.0
funwgdwdp

10 | bpnud hnwh dbe pwpuyht (hgph hpwlwtwgnid d<0.3d d3 7,0 6030,0 42210,0
YuJ45+410 @1.04 b/p funnnyuwly, dnunpp wehg 0.0

1 tunnnqwlyh dnwnph b bph dwppnud gpniunhg 0.6543 u3
obpbthny Epuwdwwpny, pwpanud wywnnhuplwpwdh 30 560,0 1680,0

2 nbnwihnfunud |gwynywn 7.04d tnnu 53 700,0 3675,0

3 funnnuwyh Jheh dwppnu gpniiinhg dkinpnu, u3 0.5 1970.0 985.0
Ynywwynpnud 1133y

4 | pwpdnul dbnpny wywnnhuptiwpwih b mbnwinfund tnnu
[gulynywn 74d hbnwydnpnipjwu Ypw 1133U/norpyska TOH 0,9 1090,0 953,8
BPYUHYHO NEpeBo3Ka B 0TBan /KM

5 | B/p unnnduwlh Yupbph (puignud gbd.wduquiht d3 0.0 50820.0 0.0
qunwfuny

6 | Unwnph U bph pwjpwjwé phnnub guwdwubph d3
Yuwgqdwwnnud wulidwgnpdhpny, pwpénud 8,5 26780,0 227630,0
wywnhuptwpwth 0.65d3 2tptithny Epuljwdwnnpny

7 wbnwihnfunw (gwynywn 7.04d wnnu 20,4 700,0 14280,0

8 Ununpnd b Bpnud unp plbph ppwlywiwgdwt hwdwp u3
thnunpuwlyubiph thnpnud 0.65d3 gbpbthny Epulwydwwnnpnd, 6,0 390,0 2340,0

gnniuinh wwhbuwnwynpnd 11(334)




9 | gluwdwubph hpwlwbwgdwu hwdwp d3 0.6 13750.0 8250.0
Uwhwwwinpwunwywu 2tpun fubng
10 | giuwdwubph hpwlwuwgnud B20, F100 u3 8,0 105850,0 846800,0
10* | hbuwlwht wunwdh dhwény pbnnu B20 i3 0.0 77950 0.0
11| <bwnwnwné thgp bpulwywinnpny/0.6543/,9pnuing b d3 6.0 990.0 5940.0
funwgdwdp
Y41i46+150.0 @1.0d b/p funqnyuwly, Ununpp wehg 0.0
1 funnnywlh dnunph b Gph Jwppnud gpniinnhg 0.6543 d3 6.0 560.0 3360,0
obiptthny bpulwywwnpny, pwpdnud wynnhuplwpewth
2 wbnwithnfund |gwlnywn 7.04d wnnu 10,5 700,0 7350,0
3 funnnywyh dheh dwppnu gpniuinhg &tinpny, U3 10 1970.0 1970.0
Ynywnwnpnud, pwpdnud wunnhuptwpewth 11334
4 | pwpanud dbnpny wyunnhuptwpwih b inbnwihntunud wnnl 18 1090.0 19075
(gwlynywn 74d htnwynpnyejwu Ypw 11334
5 G/p funnnquwlyh Ywpbph pugnud gbd.wdwquyht u3 0.0 50820.0 0.0
qunuifuny
6 Ununph pujpwywéd piinnub gluwdwuh ugdwwnnud d3
wuldwgnpdhpny, pwpénd wyunnhtupuwpwih 0.6543 3.5 26780,0 93730,0
gbntithny bpubuidwinnpny
7 nbnwihnfunud (gwynywn 7.04d nnu 8,4 700,0 5880,0
8 funnnyuwlh Gph ubppht hbuwwwwnh Jbpht hdhe.=0.84 u3
pwjpwjwd hwndwsh Yugdwwnnd wubidwgnpdhpnd, 6.4 26780.0 171392.0
dhwppbgnud, peynpubph pwpdnid wywnnhupuwpwih
0.65d3 tipbithny Epulwywinnpny
9 | wbnwidnfund gwynywn 7.04yd wnnl 15,4 700,0 10752,0
10 | Unwnpnud giiuwdwuh hpwlwbwgdwt hwdwp hwdwp d3
thnunpwlubiph thnpnud 0.65d3 obpkthny bpuljwdwnnpnd, 6,0 390,0 2340,0
gpnunh wwhbuwnwynpnud 11(334)
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glluwdwubph hpwlwiuwgdwu hwdwp u3 0.6 13750.0 8250.0
Uwhiwwwwnpwumnwlwl sEpwn funyg
12| gliuwdwup hpwlwuwgnd B20, F100 d3 11,4 105850,0 1206690,0
12* | hEuwlywiht wwnwdh dhwany| pnnu B20 d3 0,0 77950 0,0
13 | &b a4 0.6543/,9pnuinyg b d3
tnwnwnd (hgp fpuljuywnnpny/ /,gnnuiny 6.0 990,0 5940.0
futnwgdwdp
14 | Giph hbuwwwinh Yepwunpngnud gbd.wywquiht d2
ownuwfuny h=5ud’ bwhiwwbu dewnwnwlwu guwugh 0,0 6160,0 0,0
nbnuwnpnuiny, (100x100)dd @4 Bp- |, P=0,139wn
15 | bpnuw hku b '1,2x0.44
[ent wwjwinh wébgnid dhwany) pnnuny’ 1,2x0.44, d3 0.0 65870.0 0.0
L=20.04
L4U46+540 @1.0d b/p funnnywl, dnunpp wehg a0
1 funnnyuwlh dnunph b Gph dwppnud gpniunhg 0.65d3 d3
obnbthnyg Epulwywinpny, pwpénud wyinnhuptiwpwth L 759 560,0 4200,0
wbnwihntunwd (gwynywn 74d hen. dpw
2 | wb nfunud nywn 7.04d u
uhnfunul iguiynyun 7.0 He 3.1 700,0 9187,5
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3 |k dhoh d d u ab . d3
anndulih dhsh dwppnud gpntuinhg dtnpny o5 — P
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wdpwuh wwpniiwynueniup @10 Alll=219.48lq:
Alll @104d/mm nnl 0,0 734940,0 0,0
8 Swdwpnipnuwiht 100 dd wnipkphituwhu gd.d 0.0 25800 0.0

funnnduwlibn




9 | Chuwwwinh Ypw dhwdny pininub hpwlwlwgnud B20 , d3
F200" hwdwhwnprbgnuiny, 0,0 72710,0 0,0
2uwih' 0.3x0.55, L=11.04,
10 | <huwwwinh Ypw wwpwwbiinh hpwlwiwgnud dhwany| gd.d
phinnund, swih 3.4x0.6x0.44 (Jhwény| pnnub 0.0 284100 00
wwpwwbnh pinlutinh dholt hinwynpnygniup punniiby
0.44)-3 hwun:
LU¥50+773.0 Uhwany| pbiwnub Jbpht hbuwwwn wehg,
L=60.0d, hdhg.=2.54 0,0
1 Chuwwwinh Eptuh dwppntd gpniunhg denpny, pwpdnud d3 0.0 1970.0 0.0
wywnnhtpuwpwth 1133y
2 pwndnid dbnpny wywnnhUptiwpewth b nbnwthnfunu nnl 0.0 1090.0 0.0
jgwlnywn 7yd hnwynpnigjwt Ypw 1133y
3 ZEuwwwnh Bipluipny fupwdninne thinpnud dbinpny, d3 0.0 5090.0 0.0
gpniinh Ynynwydnpnud
0,
4 | 30% pwpdnw dtnpny wywnhuptwpwth b nbnwthnfunud wnl 0.0 1090.0 0.0
jgwynywn 7yd hinwynpnugjwt dpuw 1133y
5 Zhbwwwinh funnnsubiph (pwgnud Jhwényg pennund, B20, d3 0.0 63710.0 0.0
F100:
6 | <buwwwinh hpwunw hnphgnuwljwl hnpwnwugptph hwwn 0.0 13000 0.0
hnpwnnud quyihynudwu dhengny L=0.2d, d=0.03d
b 16 A
7 Chuwwwinh hpwunwd wynnuwwnb fuwphufuutiph @16 Alll nnl 0.0 739850.0 0.0
wwinpwuwnn b nbnwnpnad L=0.324d:
8 Swdwpnipnwiht @100 JJ wnihtph{Euwhl gb.d 0.0 23200 0.0
funnnywlyubp
8 Chuwwwwh hpwh Yepwunpngnud dhwany u3
wdpwlwnpdwd pnnung B20 , F200,hdhe.=15ud, 0,0 78350,0 0,0
wdpwuh wwpniwwynuyeniup @10 AllI=1108.54g:
Alll Q10dd/mm nnu 0,0 734940,0 0,0
9 Zbuwwwinh Ypw dhwany) pennul hpwlwiwgnud 820 , d3
F200' hwiwhwpplignuiny, uih' 0.1x0.55, L=604, 0,0 72710,0 0,0
LWi50+818.0 Uhwény) phwnub Ubppht hbuwwwwn dwfuhg, 0.0
L=19.0d, hdhg.=1.04d '
1 <kl ubi d dhwaé tiinnuny, B20, a3
wuwwinh funnnsubiph pwgnud dhwény| pivnung, B 0.0 63710.0 0.0
F100:
2 | <& b u d ; u3
Guwwwwnh bphuyupny upwdnigne thnpnud dnpny 0.0 5090.0 0.0
gpniuwnh Ynynwynpnid
3 | 30% pwpanuw dbnpny wnnhuptwpwih W inbinwthnfunud wnnl 0.0 1090.0 0.0
gwynywn 7yt henwydnpnuejwi ypw 1133y
4 Chuwwwnh hpwunw hnphgnuwlwt hnpwnwugptiph hwtn
hnpwwnnut quyihyntudwt dhengny L=0.2d, d=0.034d: i el &0
5 | <hku unu b ub 16 Alll u
wijuinh fpwbinud wnuwinb fuwphufultph @ i 6 P "
wwinpwuwnnd b wnbnunpnad L=0.324d:
6 | <bbwwwwh hpwih yepwunpngnud dhwdny| d3
wdpwuwynpwsd phwnnuny B20 , F200,hdhe.=15ud, 0.0 87060.0 0.0
wdpwuh wwpniwynuygjnup @10 Alll=140.414q:
Alll @10dd/mm nnu 0,0 734940,0 0,0




huwwwinh Ypw Jhwany| punnub hpwlwtwgnd B20
F200" hwdwhwprbgnidnd,
Quith' 0.1x0.55, L=19d

u3

0,0

72710,0

0,0

Wi50+826.7 Uhwdny| pbiinub ubppht hblwuwww wehg,
L=50.04, hihe.=3.84

0,0

Chuwwwwnh funnngutiph (pugnud dhwany) pbnnund, B20,
F100:

u3

0,0

63710,0

0,0

Chuwwwuinh Ybpwunpngnud gbd.wdwquiht gwnwiuny
hihg.=6ud’ Lwhiwwbu dEnwnwywl gwugh
inbnwnpnuing, (100x100)dd @4 Bp- |, P=0.376u:

u2

0,0

6480,0

0,0

Zhuwuywinh hpwunud nipnwhwjwg hnpwnwugptiph
hnpwwnud quyihynudwl dhengny L=0.24, d=0.034d:

hwun

0,0

1030,0

0,0

Chuwwwnh hpwunw wnnwwwnt fuwphututtiph @16 Alll
wwwnpwunnd b nbnwnpnad L=0.324d:

nnu

0,0

822060,0

0,0

Swdwpnipnught 100 dd wnhkphGuwhu
funnnjuwlubp

qgé.d

0,0

2580,0

0,0

Chuwwwinh Jpw wwpwwbnh hpwlwlwgnd dhwény)
pEwnuny, swih 4.0x0.6x0.44 (Jhwanyp pbinnub
wuwpwwbwnh pinubph dhole hbnwdnpnuygyniup punniuby
0.6U)11 hwuwn

gbd

0,0

28270,0

0,0

Y4d50+877.5 Uhwdny| phininub guuijwuwwin dwiuhg,
L=60.04, hdhg.=0.84

0,0

Chuwwwinh Yepwnpngnud dhwany| pivintit wwhlyny’
hihe.=10.0ud’ bwiuwwbu dEnwnwlwl gwugh
wnbnwnpnuiny, (50x50)dd @4 Bp- I, P=0.19un:

d3

0,0

87060,0

0,0

guiug 50x50uUd

u2

0,0

3230,0

0,0

L4i50+896.8 Uhwdny| pitnnub ubppht hEbwujwn whg,
L=58.04, hdhg.=2.8d

0,0

CBuwwwnh funnansutiph nugnud dhwany| pinnund, B20,
F100:

u3

0,0

63710,0

0,0

Swdwpnipnuwiht @100 dd wnihkphiGuwhu
funnnquwyutip

go.d

0,0

2580,0

0,0

Zhtwwwnh uligphg L=46.04 hwwndwdh Jepwunpngnud
gtd.wywquiht wnwfuny hihg.=6ud’ Uwhiwwkbu
denwnulwl gwugh nbnwnpnuing, (100x100)dd @4 Bp- |,
P=0.255u:

u2

0,0

6480,0

0,0

Chuwwwwnh Ybpghg L=12.0d hwwndwadnud hEbwwwinh
Bplwjupny fupwdniqnt thnpnud dknpny, gpniuwnh
Ynywwnpnd

d3

0,0

5090,0

0,0

30% pwpanu dtnpny wywnhuptwpwth b nbnwihnfunud
(gwilynywn 74d henwynpnyejwt Ypw 11334

nnl

0,0

1090,0

0,0

Chbwuwwwinh Ybpghg L=12.0d hwwndwénud hbuwwwinh
hpwunw hnphgnuwlwt hnpwwnwugpbph hnpwwnnud
quylhynudwu dhongny L=0.2d, d=0.03d:

hwwn

0,0

1300,0

0.0

L=12.0d hwndwédnid hbbwwwwnh hpwunwd wynnuwunb
fuwphupuitbph 16 Alll wwwnpwuwnnud b nbnwnpnud
L=0.324:

wnnl

0,0

822060,0

0,0




8

| <buwwwnh Ytipghg L=12.0d, h=2.0d hwwnywdnid
hEUwwwwnh hpwth Jepwunpngnd dhwany
wdpwuwynpywsd phwnnuny B20 , F200, hdhe.=20ud,
wdpwuh wwpniwynyeiniup @10 Alll=221.04g

0,0

87060,0

0,0

Alll @10d0/mm

wnnl

0,0

734940,0

0,0

Chuwwwinh Ybpghg L=12.0d htlwuwwwh hpwunw
ninnwhwjwg hnpwunwtgptiph hnpwwnnud quyhyntdwl
dhengny L=0.24, d=0.034:

hwn

0,0

1030,0

0,0

Zhuwwwinh Ybpghg L=12.0d hEuwwwnh hpwuntd
wnnuwnt fuwphututubph @16 Alll wwwnpwunnu b
nbnunpmud L=0.324:

unnl

0,0

822060,0

0,0

Zhuwwwwinh ybpghg L=12.0d hbuwwuwwnh Jpw
wwpwwbwnh hpwlwuwgnud dhwanyg penntnd, swih
3.6x0.6x0.44 (Jpwény| phivinub wwpwuwbnh pinubph
dholt hinwynpniugyniup punniuby 0.64):-3

g

0,0

28340,0

0,0

Li50+940.0 Uhwdny| pivinub ubppht htbwwwn wghg,
L=38.0d, hdhe.=2.54

0.0

Chuwwwwnh unnnsubiph |pugnud dhwaény) phinnung, B20,
F100:

d3

0,0

63710,0

0,0

Chbwwwinh BpYwjupny fupwdninnt tnpnud dknpnd,
gpnwunh Ynyunwynpnid

d3

0,0

5090,0

0,0

30% pwpanud dbnpny wywnnhupuwpwih b nbnwinfunud
wwlnywn 740 hbenwynpnigyw Ypw 11334

unnl

0,0

1090,0

0,0

Chuwuwwinh hpwunwd hnphgnuwlwt hnpwinwugpbiph
hnpwunnud quiyhynudwu dhengny L=0.24d, d=0.034:

hwuwn

0,0

1030,0

0,0

Lhuwwwinh hpwnu wnnujwint fuwphufutbiph @16 Alll
wuwinpwuwnnd b nbnunpnad L=0.324:

nnu

0,0

822060,0

0,0

Bwdwpnipnught @100 dd wnihbehituwhu
funnnyuwlubin

qb.u

0.0

2058,0

0,0

Lbuwwwwnh hpwuh Jepwunpngnud dhwany|
wdpwuwynpywd phinnung B20 , F200, h=15ud, wdpwuh
wwpniuwynipniup @10 Alll=842.5q

u3

0,0

87060,0

0,0

Alll @10dd/mm

nnu

0,0

734940,0

0,0

Chuwwwnh Yapgnud L=23.0d hwwndwfunud hbbwwwnh
hpwuh Jpw ninpnuhwjwg hnpwwnwugpbiph hnpuwwnnud
gquyhynudwt dhengny L=0.2d, d=0.03d:

hwin

0.0

1030,0

0,0

CBUwwwinh hpwund wnnuwnt fuwphufutbph @16 Alll
wwwpwuwnnd b inbnunpnud L=0.324d:

nnu

0,0

822060,0

0.0

Zhbwwjwwnh Ypw wuwpwwbnh hpwlwbwgnud dhwény|
pbunnuny, swip 4.0x0.6x0.44d (dhwény| pbwnnub
wuwpwwbinh pinyubph dhole hnwynpnieniup punniu)
0.64):-5 hwwn

qdd

0,0

30630,0

0,0

4Yii51+000 Uhwdny| pbunub Jbpht hbuwwwwn dwuhg,
L=76.04, hdhe.=2.84

0.0

Lhuwwwnnh Jepwunpngnd gbd.wdwquiht gwnwtuny
hdhe.=5ud’ bwfuwwbu Jonwnulwu guugh
wnbnwnpnuing, (100x100)dd @4 Bp- |, P=0.421wn:

a2

0.0

6020,0

0,0




Swdwpnipnwihu @100 dd wnihkphbuwhu

gd.d

0,0 2580,0 0,0
funnnywyubn
Lui51+063.0 @1.5d &/p tunnnywly, dnunpp dwfuhg 0,0 0,0
runnniwyh dnunph U Bph dwppnud gpniuinhg 0.65d3 d3 0.0 560.0 0.0
obiptthny Epuywdwuinpny, pwpanud wynnhpliwpwih
nbnwihnfunud (guynyw 74d hbn. Ypw wnnl 0,0 700,0 0,0
hunnnqulh dhoh dwppnud gpniiinhg dinpnd, d3 0.0 1970.0 00
Ynywwynpnud 11334
pwpanw wywnnhtptwpewih b nbnwihnfunud [gulnyn 748 nnl 0.0 1090.0 0.0
hbnwynpnuejwt Ypw 11334
Ununpnud b Gjpnud gfluwdwubiph hpuwlwiwgdwl hwdwnp d3
thnunpwlh thnpnud 0.6543 sbipbithny bpuljwywinnpny, 0,0 670,0 0,0
gpniunh wwhbuwnwdnpnu IV(106)
giiuwdwubiph hpwlwtwgdwt hwdwp d3 0.0 13750.0 0.0
Lwhwwwwnpwunnwlwu gbpn fuéng
Ununpnud b Gipnid dhwdény) pbunnub guwdwubiph d3 0.0 105850.0 0.0
hpwlwuwgnud B20, F100, swih 3.8x3.4x0.44
Chnwnuwpd hgp tpulwlwunnpny/0.65d3/,9pnudny b d3 0.0 1220.0 0.0
funnwgdwdp
Yui51+074.0 Uhwdny pbwinut Jephtu hbuwwwwn dwluhg, 0.0
L=12.04, hihe.=2.04 '
Chbwwwwnh Gplwjupny fupwdnunt thnpnud dbnpnd, U3 0.0 5090.0 0.0
gpniuinp Ynyuwdnpnid
Chuwwwwnh Bpluwiupny upwdninnt thnpnud dbnpny, wnnl
gpniunh Ynynwynpnud, 30% pwpanud wiinnhupliwpuwih 00 1090,0 0.0
L nbnwithnfunwd jgulynywn 74d hen. Jpuw:
CEUwwwwnh funnnsubiph (pwgnd, Bgpliph ninnnud dhwany d3 0.0 63710.0 0.0
pbwnnuny, B20, F100:
h
Lhuwwwwh hpwunw hnphgnuwlwu hnpwwnwugpbph wn 0.0 1300.0 0.0
hnpwwnud gujihynudwu dhongny L=0.2d, d=0.034:
16 Alll
LEuwwwwnh hpwunud wnnuwnt fuwphufutbiph @16 nnl 0.0 822060.0 0.0
wwwnpuwunnud b nbnunpnud L=0.324d:
Swdwpnipnuwiht - 9100 dd wnihkphituwhu gd.u 0.0 2580.0 0.0
funnnquwlubip
Lbuwwwwnh hpwuh yepwunpngnud dhwany| d3
wdpwuwynpdwsd pbinnuny B20 , F200,hdhg.=15ul, 0,0 87060,0 0,0
wdpwuh wwpniiwynigniup @10 AllI=221.74g
Alll @10dd/mm wnnu 0,0 734940,0 0,0
Lhuwwwwnh Jpw dhwanyp peunnub hpuwljwiwgnud B20 , u3
0,0 72710,0 0,0
F200" hwdwhwppignuwny, 2w’ 0.15x0.54d, L=124,
41d51+107.0 Uhwaény pbuinnut Jbpht hbbwwwwn dwhuhg, 0.0
L=39.0d, hdhg.=1.0d '
Chuwwwnh Ypwunpngnud gbid.wdwquiht gwnwfuny a2
hdhe.=5ud’ bwfuwwbu Jbwnwnwlwu guwugh 0,0 6020,0 0.0
nbnuwnpnuing, (100x100)dd @4 Bp- |, P=0.0772wn
Chuwwwwnh Ypw dhwadny| pbininub hpwlwtwgnud B20 , d3
) : ,0 72710,0 0,0
F200" hwdwhwpptgnuwny, 2w’ 0.2x0.54, L=394, 2
Yd 51+142.0 Lnp Jbpht hbbwwwn dwuhg L=20.04, 0.0

h=2.0d




Unp htuwwwnh Yunnigdwl hwdwp gnjnignit niubignn

d3

phnnup (htbwwwnh) Yugdwnnu wubdwgnpdhpny 10,5 26780,0 281190,0
2 | whnuihnpund lguynywn 7.04d wnnl 252 700,0 17640,0
3
3 V10t gpniuwnh Jpwynud Epuljwyuwinnpnd/0.65%/, pwn&nud d3 529 8200 43378.0
w/huptwpwthbph pw
4 wntinwihnfunid \guwlnywn 7.04d nnl 103,2 700,0 72208,5
5 | Lnyup wbnnu Ynunwynwind, hnwnwnd (hgph hwdwn u3 84, 490,0 41209,0
6 ®nunpwlh Jepouwdawlynud dtinpny d3 24,5 6040,0 147980,0
7 Udwquynwsuwht gipin h=10ud d3 6,9 6300,0 43470,0
8 ZBuwwwinkph hhdptiph hpwlwuwgnud dhwany| d3 28.0 64000.0 1792000.0
pbwnnuhg B20
9 | Chuwwuwwh hpwutbph hpwlwuwgnd  B20 phnnthg d3 24.0 65870.0 1580880.0
10 | e$npdwghnt Yupbph ppwlwtiwgnd 2 obpn d2 5.2 9830.0 51116.0
nniptpnpnny phuinwh dwdnyny (d=2,0ud)
"
Spntuwnh hbin 2thynn dwybpunypubph spwdtynwwgnd u2 0.0 1250.0 0.0
EpYystipun nwp phunudny
12 | Swdwpnipnh hpwlwlwgnid g&.d 0,0 8610,0 0,0
13 | Swdwpnipnuwiht 100 dd wnhkphbuwhu gd.d 76 2580.0 19608.0
funnndwlubp
1 )
4 | Zhinwnwnd (hgp tpulwyuwinnpny/0.6543/,9pnuiny b d3 0.0 1220,0 0.0
futnwigdwdp
L4i51+216.7 Uhwany| phinnub Jbpht hbbwwwwn dwiuhg, 00
1 100 d 5.
Swdwpnipnuiht ¢ d wnipkehtuwihu gd.u 0.0 2580.0 0.0
funnnywlubp
2 Lhuwwwinh funnngubiph (pwgnud dhwény| punung, B20, d3 0.0 63710.0 0.0
F100:
3 | <buwwuwinh Yepwunpngnut gbd.wywquiht gwnwfuny u2
hdhe.=6ud’ Lwfuwwbu dEwnwnuwlwlu guugh 0,0 6480,0 0.0
inbnwnpnuwinyg, (100x100)dd @4 Bp- |, P=0.193un:
4 c’.bhu‘JLunmh Upw dhwdny) pbmn‘bb hpwlwuwgnud B20 d3 0.0 72710.0 0.0
F200' hwdwhwppignunyg, 2wih’ 0.1x0.5d, L=394,
4§51+377.5 Uhwdny| pbwnul gwuljwuwn dwfuhg, 0.0
L=67.04, hdhg.=1.70/ ‘
1 Muwinh Ybpwunpngnud gbd.wdwquiht 2wnwfuny u2
hdhg.=5ud’ twhuwwbu dhwnwnulywl gulgh 0,0 6020,0 0,0
wnbnwnpnuing, (100x100)dd @4 Bp- |, P=0.238w:
L1§51+430.0 Uhwany) pliunnub gutwwwn dwfuhg, a0 i
L=26.94, hdhe.=1.5d . 1
1 Muwuwnh Ypwunpngnud gbd.wywquiht gwnwtuny U2
hihe.=5ud’ bwfuwwbu JEnwnwywl gwugh 0,0 6020,0 0,0
wnbnwnpnuing, (100x100)dd @4 Bp- |, P=0.08wn:
4d51+460.0 Lwpwiht swpywdpny guwulwwjwwn dwluhg, 0.0 1
L=26.24, hihg.=2.54 '
1 Muwwnh Yepwunpngnud gbd.wywgquiht gwnwiuny 2
hdhg.=5ud’” bwhuwwbiu JEnwnwlwl guugh 0,0 6020,0 0,0

inbinwnpnuing, (100x100)dd @4 Bp- 1, P=0.13w:




Ui 51+567.0 Linp ytipht hbbwwwn dwfuhg L=30.04,

0,0

h=4.0d

1 Unp hbtwwwwnh Yunnigdwl hwdwp gnjniygynit niubignn d3
hwywpnyh phwinup wwububph Yuqdwwnnud Suin pinuw 15.1 19540.0 294663.2
pwpdnnnuejwdp hupbwguwg upwpwnp wdpwnpdhsny:
Ybpwnwpd ubthwlwuwwnhpngp:

2 Phwnub wwububph nhdwghg whnuwwnb Gplunwypbph il
(N10) wwwdnuwnwdnid 5w pbntw pwpdnnniejwdp 0.3 34880.0 10934.9
huptwguwg upwpwynp wdpwnpdhsny: Lepwnwnd
ubthwlwuwwnhpnop:

3 IVI0E gpniuwnh dawlynud Epuljwdwinnpnd/0.65%/, pwpanud U3 124.0 8200 101680.0
w/hupuwpwthbph dpw

4 wbnwihnfunud (gulnywn 7.04d nnu 241,8 700,0 169260,0

5 | Lnyup b Ynunwynwdnd, hbnwnwpa |hgph hwdwp u3 519.5 490.0 254555.0

6 ®nunpwlh Ybpouwdawlynid dinpny d3 7.0 6040.0 428840.0
[LopaboTka Bpy4HIO

7 UJwqulinwBuiht gbpun duptiph nwl h=10ud d3 0.0 6300.0 0.0
MecuaHo-rpasuiiHbIii NnoaroTosuTenbHbIM cnoit h=10cm

8 | <buwwwwnbph hhdpbph hpwlwtwgnud dhwény) d3 110.4 64000.0 2065600.0
pbiwinuhg B20

9 | <hbwwwwh ppwutbph ppwlwuwgnd  B20 phinnupg u3 1215 65870.0 8003205.0

10 | Hbnpdwghnt  Yuwpbph ppwlwlwgnud 2 ghpn u2 0.0 9830.0 0.0
nnipbipnhany phunwh dwdniyny (d=2,0ud) ’ ' '

1 Spniunh htwn othynn dwhbipunypubph opwdbynwwgnid d2 0.0 1250.0 0.0
Gplobpun twp phuninuing

12| Swdwpnipnh hpwlwiwgnud gd.d 0,0 8860,0 0,0

13 | Swdwpnipriwhu 8100 dd wnihkphGuwhu gd.d 0.0 2580.0 0.0
funnnyuwljubp

14 | <hwnwnuwpd thgp bpulwywunnpny/0.65d3/,9pnuiny a3 0.0 1220.0 0.0
funwgdwdp ’ '
L4d51+785 @1.54 b/p funnnywl, dnunpp dwluhg 0,0

1 funnnquwyh dnunph b Giph dwppnud gpniuinhg 0.65d3 u3 6.5 560.0 3640.0
obptthny Epulwywinpnd, pwpénud wdnnhuptwpuwdy/ ' '

2 nbrnwthnfunid |gwyniywn 7.04d wnu 1,4 700,0 7962,5

3 | hunnnduyh dhoh dwppnid gpniuinhg dknpny, d3 25 1970.0 49250
Ynywnwynpnud 1133y/ ' ' '

4 pwnanw dbnpny wywnnhuplwpwih b wbnwihnfund wnl
|gwlnywn 74d hbnwynpnueyw Jpw 1133y 4.4 s —

5 Ununpnud b Bipnud gqiiuwdwubph hpwywtwgdwt hwdwn d3
hwdwp thnunpwlubph ginpnud 0.65d3 pbipkithng 6,5 390,0 2535,0
Epulwdwnnpny, gpnitnh wwhbuwnwynpnud

6 | guwdwubph hpwlwtwgdwu hwdwp d3 06 13750.0 8250.0
bwhwwwnpwunwlwl obpun fuing: ' ' ’

7 | pbunub guwdwubph hpwlywuwgnid B20, F100 d3 6,8 105850,0 719780,0

7* huwluwht winwdh dhwény pbinnu B20 d3 0,0 77950 0,0

8 Chnwnwnd thgp tpulwywwnnpnyd/0.65d3/,9pnudnyg L u3
" 6,5 990,0 6435,0
4u52+180 ©0.7d b/p funnndwly, dnunpp dwfuhg 0,0




funnnyuwlh dnunph b bph dwppnud gpnitiinhg 0.6543

d3

1.5 560,0 840,0
stiptithny tpuljwywwpnd, pwpdnul wywnnhupUwpwih
2 tnbnwihnfunud |gulnywn 7Y4d hein. Jpw wnnu 2,6 700,0 1837,5
3 Unuwnph U bph pwjpwydwé phnnub gjfluwdwubph d3
Luwgqiwwnw wubdwgnpdhpny, pwpénu 4,5 26780,0 120510,0
wwnnhuptwpwt 0.654d3 skptithny bpulwywinnpny
4 inbnuwihnfund jgulnymn 74d hbn. Jpw nnl 10,8 700,0 7560,0
5 Ununpnud b Bpnud guwdwutiph hpwlwuwgdwt hwdwp d3
hwiwp thnunpwlutph thnpnud 0.6543 2tpkthny 4.8 390,0 1872,0
Epulwywwnnpny, gpniunh wwhbunwynpnud
6 | quwdwubph hpwlwtwgdwl hwdwp U3 0.6 13750.0 7562.5
Lwhiwwwwnpwunwlwy 2tpwn fubnyg
7 | pbwnub giluwdwubph hpwlwuwgnud B20, F100, d3 33 105850,0 349305,0
s hUwlwiht wnwdh dhwany| piinnt B20 u3 0,0 77950 0,0
8 | <hwnwnwpd thgp tpuljwdwinnpnd/0.6503/,9pnuiny u3 48 990.0 4752.0
funwgdwdp
4§53+730.0 2.0x2.0d ninnuulynu b/p funnnyul, 00
dnunpp &wfuhg '
1 funqnyuwlh dnunpnd inbnunpyuws hwdwpndh pinlubph d3
0, 50820,0 0,0
Yupbph pwgnu gbd.wjwquyht aunwmny M200: O
2 Bph dwh wwh gnjnueiniu niubignn puypwwé ptinnub d3
puh Juqdwwnnud wubdwgnpdhpnd, peynpubph pwpénud 38 26780.0 101764.0
wywnnhtptwpwth 0.6543 sbpbihny Fpulwywinnpny
3 | wbnuwihnfund \guynywn 74d hbn. Jpw nnl 91 700,0 6384,0
4 | bpnw unp plbph hpwlwbwgdwt hwdwp thnunpwlubph d3
0,
thnpnud 0.65d3 sbpbthny Epuljwydwinnpnd, 30% gpniunh 0.0 820.0 0.0
pwpdnul wywnnhupUwpwih
5 wnbnwinfunwd |gwlynywn 74d htn. Ypw nnl 26 700.0 1842.8
6 | Linyup wtinnu Ynwnwlynwing, hbnwnwpé hgph hwdwp/ u3 32 490.0 1543.5
7 1& Lbtph hhdpt uwgdwu h
leh RULPh hhuptinh hpwlwlwgdwl hwdwp d3 0.0 13750.0 0.0
Lwhwwwwnpwunwywl obnpnn futng: /
8 |b Lbph hhdpk u d dhwd Guinuny, d3
B;%h putinh hhdpbiph hpwjwwgnud dhwdny| pivinuny 0.0 64000.0 0.0
9 |b ub uub u d dhwa b ; d3
teh pltiph hpwutbph hpwlwlwgnud dhwany| pivnuny 0.0 65870.0 0.0
B20, B20
10 | Gpnw guwnhph hpwywtwgnd Jhwény peununy B20, d3
F100,swth 2.8x0.6x0.44: e 65870, o
11| Ununpnud gnjnipjntt nitubignn plbiph b gfuwnhph d3
tunnngttinh (nuwignud dhwény| pbnnunyg B20, F100: 0.0 a1 28
12| <bhwnwnwpd u 0.65d3/,9nnuiny L d3
rund (hgp tpuluidwnnnnd/ annuind 0.0 1016,0 0.0
funnwgdwdp
13 | Ununph gnjnupintt niubignn peuinnub plibph b gluwnhph u2
Bpwunpngnud gbd. u M200, h=6ud
Jtpwunpngnud ghid.wywquiht gunwfuny u 0.0 8230.0 0.0

bwhwwbu deunwnulwu gwugh wbnwnpnwing, (50x50)dd
04 Bp- 1, P=0,099un:




14 | Lwhwwbuynud £ funqnduyh dbg hpwlwuwguby dhwényg d3
phwnnub jwwnny B20, F200, h=10ud’ lunnnduwyh hwwnwlu 0,0 54320,0 0,0
wdnpwgubnt bwywwnwlyny:
15 | tunnnywlh L=23.0d dhwény| pivinub hwwnywdnud d3 0.0 63710.0 0.0
funnnsutiph (pwgnud dhwany| peninuny 820, F100:
16 | Uhwany| pliintib dwdlih uwih utippht dwlytipunyph d2
Epwunpngnud gbid.w U gwnuwfuny M200, h=0.054,
Jepwlnpngnud g ‘ Jwquiht qunwtuny 0.0 6800.0 0.0
wnnplpbnwgnuing’ bwhiwwbu denwnulwu gwugh
inbwnnpnwing, (50x50)dd @4 Bp- |, P=0,228w:
(50x50)dd @4 Bp- |, P=0,228u: d2 0,0 3490,0 0,0
17 | Upwadny| pbwinub hbbwpwulbph Jepwunpngnud
gbd.wdwquiht 2wnwhuinyM200, h=0.054 twuwuybu 0 0.0 6020.0 00
Jhtnwnwlwl gwtgh wnkwnapnuwing, (100x100)dd 04 Bp- |,
P=0,228w:
18 | bpnul hntuh dbg pwpwiht (hgph hpwlwlwgnud d<0.3d: u3 0.0 6030,0 0.0
19* | bpnuw phnnub gruwdwuh hpwlwbwgnud B20, F100, d3 2,0 65875 131750,0
20" | hbtwlwht wwnwdh dhwany| phinnt B20 u3 0,0 77950 0,0
Li53+780.0 @1.54 b/p funnnywy, dnunpp dwtuhg 0.0
1 0] 0.
runnnyuwyh dnunph b Biph dwppnud gnntuinhg 6543 d3 6.0 560.0 3360.0
otiptithny Epulwijwinnpny, pwpénid huplwpwih/
2 unbnwthnfunu |gwynywn 74d htn. Ypw tnnu 10,5 700,0 7350,0
3 tunqnwlh dheh dwppnui gpntinhg dtnpnd, d3
Ynywwynpnud, 1334/ 2.4 EEy .
4 pwpanwd dbnpny wywnnhuplwpwih U nbinwihnfunud wnnu
. 1090, 3815,
igwynytn 74 htnwdnpnieiw Ynw 11334/ 30 = al5
5 | Ununpnud quwdwuh hpwlwbwgdwt hwdwn thnunpwlh d3
thnpnwd 0.6503 gtiptithny Epuljwyuwinnpnd, gpniuwnh 6,5 670,0 4355,0
wwhtuwnwynpnud IV(108)/
6 | quwdwuh hpwlwuwgdwy hwdwp u3
Lwhuwwywnpwunnwywl 2Epun fudng: Bk 1a750,0 HEH0
7 phnnUb qiluwdwubph hpwlwuwgnu B20, F100, u3 6,3 105850,0 666855,0
7* | hbuwlwjht wnwdh dhwany pinnu B20 d3 0,0 77950 0,0
8 | <k & 0.65d3/,9pnuiny L d3
wwnwnd (hgp bpulwywnnpnd/ /,opnudng 6.5 1220.0 7930.0
futnwgdwdp /
4i54+280 @1.50 b/p funnniwly, dnunpp dwfuhg 0.0
1 hu d b byph d d u 0.65d3
nnnywlh dnunph b biiph dwppnud gpniunhg a3 10 560.0 560.0
ostipbthny Epulwywinnpny, pupdnu huptwpewd/
2 wbnwihnfunut (gwynywn 74d htin. Ypw wnnl 1.8 700,0 1225,0
3 | Ununph b bph pwpwiht swnpdwdpny guwdwubinh a3
Juqiwwnnuw wubidwgnpdhpny, pwpdnud wynnhtptwpuwh
0.6503 2tpkthny Epulywywwnnpny U wbnuihnfunwd o 17680.0 2.0
[guynywn Syd hbn. Jpuw:
4 Ununpnid guwdwuh hpwlwiwgdwl hwdwp thnunpuwlh d3
dinpnud 0.6503 pkpbithny bpuljwywwnnpny, gpnttnh 6,5 670,0 4355,0
wwhbiunwynpnud 1V(10b)"/
5 wdwuh hpwlwbwgdwl hwd u3
SN PR R A 0.6 13750,0 8250,0

bwhwwwwnpwunwlwl 2tpwn juénd: /




6 phnnub quwdwubiph hpwlwuwgnuw B20, F100, a3 2,8 105850,0 296380,0
6* | htuwlwiht wnwdh dhwany| ptitinu B20 d3 0,0 77950 0,0
7 | <bwwnwpa hgp tpulwywinnpny/0.65d3/,9nnuiny L u3 6.5 1220.0 7930.0
fuinwgdwidp
4544755 @1.50 b/p funnnqwl, dnunpp dwfuhg 0.0
1 tunnnywlh dntnph b Gph dwppnud gpniuinhg 0.6543 u3 10 560.0 560.0
ostpkthny Epuljwywinnpny, pwpénud hupbwpwi,
inbnwihnfunu (guynywn 74d hbn, Ypw wnnu 1,8 700,0 1225,0
Ununph U Gph pwjpwiwd pbnnub gfuwdwutiph u3
Yugdwnnud wubdwgnpdhpny, pwpénu wywnnhuplwpwih 45 26780.0 120510,0
0.65u3 stpbhny Epulywywwnnpny b winbnwihnfunud
(gwlynywn 74d hbn. Ypuw:
4 Ununpnud giuwdwuh hpwlwtwgdwl hwdwp thnunpuwlh d3
thnpnud 0.6503 gbiptithny bpuljwywinnpnd, gpniuwnh 6,5 670,0 4355,0
wwhbuwnwynpnud 1V(10k)'
5 | giuwdwuh hpwlwiwgdwt hwdwp d3 0.6 13750.0 82500
Uwuwwwwnpuunwywl gtpn fubny:
6 phunnub qruwdwubph hpwlwbwgnut B20, F100, d3 3.0 105850,0 317550,0
6* | hbuwywiht wwnwdh dhwany| pbnnt B20 d3 0,0 77950 0,0
7 A I < & 0. ; d
bunwnwpd (hgp tpuywdwnnpnd/0.6543/,9pnuiny b 3 6.5 1220.0 7930.0
futnwgdwdp /
4J54+995.0 @1.0d b/p junnnwy, dnunpp &wluhg 0.0
1 tunnnywlh dnunph b bph dwppnud gpniunhg 0.65d3 J3 00 560.0 0.0
stiptithny Epulwywinnpny, pwpdnud huplwpuwih/ ' ' '
2 nbnwihnfunud (guynyw 74d hen. Jpuw:/ winl 0,0 700,0 0,0
3 Ununph L bph pwjpwwé phinnub guwdwutiph u3
Yuqdwwnnd wulidwgnpdhpny, pwpénud wwnnhtplwputh
0.6543 stipkthny Epuywywinnpny L inbnwihnfunwd 0.8 AR GE
lgwynywn 7yd hbn. Jpuw:
4 | Ununpnud giluwdwuh hpwlwbwgdwl hwdwp thnunpwlh d3
thnpnuf 0.6543 obptithny Epuljwywwninpny, gpniuwnh 0,0 670,0 0,0
wwhbuwnwynpnud IV(10k)/
5 | giuwdwuh hpwlwuwgdwt hwdwp d3
bwhiwwwwnpwunwwu obpwn fubnd: / 0.0 TR 0.0
6 phiwnnub giruwdwubph hpwlwuwgnul B20, F100, u3 0,0 105850,0 0,0
7 | <Bnwnwnd k wwnnpny/0.65d3/,9pnuiny u3
nwnd thgp tpuljwywnnpny, gpnudny 0.0 1220.0 0.0
funwgdwdp /
9.Cunwdkup 0.0 49475678,0
X | W 41+472.2 &/p Yudnipg 0.0
1 Gpplbynientup Ywpgwynpnn Swtwwwphwht bpwutbp/ hwn
hbwnwguw Ywgdwwnnwing b ybpwnwnd 50%/ B Sty A
2 Ubunwnulwl pw ubph Yugdwuwnd wywnngbuny: u
il pwgnhpubnh Yuq R l 0.4 28020,0 10087,2
dbpwnwnd ubhwwuwinhpnep:
3 | f@nhgpwiht Ywnnigwdph baph b/ duwnnud d3
hspuyht Ywnnigdwdph tiqph b/p uqdwwnnt 8.9 31890.0 2838210
wulidwagnpdhpny
4 Pwpéanwd w/h dbnpny b inbnwihinfunud lguynywn 74d: wnnl 22,3 1090,0 24252,5




5 bpelblwiht dwuh fbwlwah Yugdwunnud gpantpny, d3
Ynywwynpnudny: Pwpanud hupuwpwth 0.6543 gkiptithh 1,3 720,0 8136,0
tnwpnnnuejwdp fpuljwdwnnpny/

6 Stnwthnfunud \guilnyun 74d/ wnnl 19,2 700,0 13447,0

7 Ununpnid U bigpnud hntuh dwppdwt b nipndwu 03 2.4 820.0 17548.0
woluwinwbptbip 0,6543 Epulwywinnpny:

8 Stnuwithnfunud |gwlynyun 74d/ tnnu 41,7 700,0 29211,0

9 @ubph hhdpbiph funnngubinh (pwignud dhwény| phiwnuny: d3 32 61580.0 197056.0

10 | Rutph unpngnw (50x500d gwugny P=515yq) M200 u2 57.5 7760.0 446200.0
gbdbuwnwiht pwnwuny:

11| <uwpwuutph hhdptiph Gplujupny fupwdninhubiph
thnpdwl hnnwjht wpluwwnwupubp knpny’ pwg 03 7.4 9260.0 68524.0
gpniunnud opwhbinwgnuing - oph hnupp dhtgl 3043 dwid/

12 | <npwunwtigpbiph hnpwwnnid (hnphgnuwluwt) d=40dd hwwn 190.0 1610,0 305900.0
(L1=15u), hbwnwgw Yhpwunpngdwl buwmnwynd/

13 | <buwpwulbph hpwtbpnw wynnwwnt uwphutuutbph 016 wnnl o 807700.0 65423.7
Al winpwuwnnud b nbnunpnud/

14 | bpwuubph yapwunpngnud dhwdny wdpwbwynpywsd a3 142 92610.0 1315062.0
phunnuny, w.w. Alll=57,94g/d3
w.w. Alll=57,9Yyg/d3 nnl 0,8 699030,0 574728,5

15 | <buwpwtubiph gpniunh hbwn 2thynn dwytplnypubiph u2 0.0 1250.0 0.0
pujwdpwiht ppwdbyniuwgnul/

16 | tupwdninhutiph hbwnhgp dbinpny: Spniiinh inbnwnpnw u3 0.0 2080.0 0.0
sbpuntipny b futnwgnid wuldwinnihwund/ ' ' '

17 | Cwpprbigunn sbpinh gbdbunwht 2wnwiu wudwhphsubiph d3 05 50610.0 26722.1
pinybph wnwly H=2ud/

18 | <nupwjht Gnwblniunt hpwlwiwgnud dhwany| pivinuhg d3 6.9 55540.0 383226.0
rwu B20/

19 | @n. Junnigwdplubph unubdwiht gpwdbynwwgnid d2 128.0 2050.0 902400.0
bnlztipwn hanguwidny/ ' ' '
wwounwwlihs otpwnh dhwany pinnu B25 W6, H=4ud/ 2 100,0 3790.0 379000.0
Swug wdpwuwyht 100x100 Jdd) G4 Bp-| d2 100,0 1780,0 178000,0

20 | Cwppbgunn otpwnh gbdbbnwht Jwnwhu wujwhphsubiph d3 05 50610.0 26823.3
pinbEph wwly H=2ud/ ' ’ '

21 | Cwywpnyh bB/p dwjpbph pinlubph wwnpwuwnnd b hwn
nbnwnpnud. 2uih. 71x140x299ud, puipp - 1,75u;: U, 8,0 324510,0 2596080,0
Al=94,144g/J3, Alll=130,04g/u3:

22 | nb$npdwghnt Yupbph ppwlwbiwgnul/ aecbopmaunorHbie qdd 200 42140.0 842800.0
LWBbI

23 | Uwupwhwwhly w/p h=4ud d2 99,8 4190,0 418162,0

24 | Uwupwhwuwhy w/p h=3ud 2 0,0 3210,0 0,0

25 | Mnnuuwunt pwgnhpubiph hpwlwtwgnud-24q6.4, wnnu
ubpg/ 0,5 46440,0 24297 .4
L63x63x64ud/mm P=90.4Yq/kr gbd 15,7 4660,0 73068,8
L50x50x50d/mm gd.d 47.0 3090.0 145353.6

| P=177.6 Lg/wr




e qod 23.8 5350,0 127116,0
P=152yq/kr
012 L=110.884/m nnl 0,1 701430,0 69020,7
-5x50uU/Mm P=4.8lq/kr q0.d 23 1760,0 4118,4
26 | Uwjpbph Jwupwhwwhy w/pbunnt h=4ud U2 0.0 4290,0 0,0
27 | upwdnuihubph thinpdwt hnnuyht wphuwnwupltp u3
&bnpny Ygnpndwt wudwhphsubph nbnunpdwu 1,7 1930,0 3184,5
hwdwp/11334/
28 | Wwqulynwbuwiht bwhiwwwnpwunnd Ygnpndwt 43 05 6300.0 2835.0
wuywhphsubiph pinlbph wwly h=10ud
29 | wlwpnyh b/pEnnul wudwhphsubph pinbubph hwun
ntinwnpnul. 2wih. 15(50)x75x150ud, P=0,53w, w.u. = 4,0 68150,0 272600,0
83,15yg/d3
30 | Uudwhphsubph ninqwhwjwg gdwuonud u2 0,0 810,0 0,0
10.Cunwiktp 0,0 10298004,7
Xl | Bwbwuwphh uwhwynpnud 0.0
O6ycTpoiicTeo goporu '
Upgbjwithwyngubn 0.0
1 Lnp dbnwnulwt wpgbpudhwyngubiph vibnwnpnud qo.d 2236.0 22300.0 49862800.0
(d=4d1)/
2 Cl whwh wwunhly wgnwbawluwihlu unibiph hwwn 0.0 5440.0 0.0
nbnwnpnul/
Bwiwwwphwiht unp bpwutbph nbnunpou/ 0,0 0,0
Ubunwnwlwu funnndwl 57x3,00d qd.d 0,0 5460,0 0,0
ptinnu B15 u3 0,0 47560,0 0,0
Lwhuwggnipwgunn hwwn 0,0 18960,0 0,0
Unwybnipjwu hwtn 0,0 18960,0 0,0
Upgbnn hwn 0,0 18960,0 0,0
Cwwnnily phjwnpwuph hwtn 0,0 18960,0 0,0
Stnbywwnyniewu hwwn 0,0 15510,0 0,0
Gpplbyth dwuh Uzwgdnd , |nLuwunpwnwpdhs
qunhlubph ogunwgnpddwp 0.354g-14? 02
Cwdwunwpwsd 1.1; 1.2 J’O.Jd [wyu. yd 0.0 136000.0 0.0
Cnnownas 1.1; /c wnpunoit 0.1m/
Cunhwwn 1:3 (1.5) /0.1d jwyu. yd
Npepbisuctaal:3(1.5) /c wupuHoit 0.1m/ 09 S0000.0 G
Cunhwwni 3:1 (1.6)/0.1d jwyu./ yd
Mpepsisucran 3:1 (1.6) /c wupuroii 0.1m./ 0.0 106800,0 0.0
Cunhwwnd 1:1 (1.7)/0.14 (wyt. yd
Mpepsisucran 1:1 (1.7) /c wupuroi 0.1m/ 0.0 B1627.3 G:0
Atinpny Upwgdnud 1.14.1;1.17 /Pyyrana pasmetka 1.14.1;1.20 a2 0.0 2090.0 0.0
Gppubyth dwuh bpwgdnd | pEpdnwwuwnng U2 0.0 9695 0.0
/304 hwuwnniejwdp/
11.Cunwdbup 0,0 49862800,0
Xl | Lpwgnighy wluwwnwupubp 0,0
&/p hwjwpniyh Jupkp
C6opHbie #/6 notku %0
1 Udwqulnwéwht sbpin h=10ud d3 0,0 6557 0.0




2 &/p hwdwpnih Jupbph nbnunpnud L=3.04d; 34x30ud hwun 0.0 54070 0.0
swihuh-414g6.0/
3 Ywptiph 9pwdbiynuwgnid Bplptipn nwp phuinudng d2 0,0 1236 0,0
4 | Phwnnub bgpwpwpbph nbnwnpnud 15x30ud gd.d 0.0 8340 0.0
Jwuyunwugnipjwl pwqphpubip/
Swudwybp b dbpht unnwwl qyninbpp 00
gpwidwnwljwpwpdwt hwiwlwpgh pwpbpuygnid ’
Rpwghs-1 /W1/ 0,0
<nnuwjht wluwnwupubp 0,0
1 tupwdninnt b thnunpwh dowynd V Yupgh a3 311.9 1329 414515.1
gpnuuinubpnid, Ynnwihgpny
2 hupwdninnt b thnunpwlh dowlynd IV Yupgh d3 727.7 985 716784.5
gpniunubipnud, Ynnuwihgpny
3 Fupwdninnt b thnunpwlh (pudwynid dknpnd, hwunwyh u3 36.4 6593 239985.2
hwppbgdwdp
4 Udwgh bwhiwwwnpwunwlwl gpnh hpwlwbwgnud d3 64.8 7960 470448.0
h=10ud hwuwnnipjwdp
5 Udwah wwpunwwuhs sEpunh hpwwtwgnud d3 162,1 7261 1177008,1
6 fupwdnunnt U‘Lhnunpmlm Bwhgp, Unnwihgph dowlydwsd d3 7991 462 369184.2
gpniuinubiphg’ ninthwunuwing
7 Ugbjwgwé gpniuntbph hwpebgnd wnbnnud u3 240,4 453 108901,2
Skfutininghwljwt wtuwwnwbptibp 0,0 :
1 Snjnigyniu niubignn enigt (Ci) @150 funnnduwubiph Yupnud wnkin 20 4699 9398.0
2 Mnhtehitub (HOPE) bnwygynn funnndwlubph gd.u
dnuwnwdnud fupwdninhbipnud DN160, PN=1,0 UMw, 500,0 8572 4286000,0
thnpadwnpynud
3 Mnihkehibub (HDPE) bnwlygynn funnndwlubph gd.d
dnuunwdnud fupwdninhubpnud DNIO, PN=1,0 530,0 3245 1719850,0
UMNw, hnpdwpynud
4 | Mnjpkehiut (HDPE) Gnwlygynn funnnjwlubph gd.d
dnuunwdnud fupwdninhubpnud DN63, PN=1,0 UMw, 50,0 1776 88800,0
thnp&wpynuwd
5 Mnjhtehitut (HDPE) nwlygynn funnnwlutiph gd.d
dnuwnwdnud fupwdninhubipnd DN32, thnpawplynud 20.0 7eA Bas0.g
6 Mnihkehitut (HDPE) bnwlgynn lunnndwlubiph gd.d
dnunwdnid upwdninhbpnud DN25, thnpdwplynud 40,0 SES SEE
7 Ut uubph d N =
wwiynp thwhwuubph dnunwdnud DN150, PN=1,0UMw hwn 10 138714 138714.0
8 | Uswwnp thwlwtiubph dnunwdnid DN50, PN=1,0UNw huwn 1,0 43430 43430,0
9 | Mnnuuwwnb Ygwynipeliph dnunwdnud DN150, hwn
PN=1.0UMw 2,0 15716 31432,0
10 | M b =
nnuwwnb Ygwanippbph dnuunwdnid DN50, PN=1,0UMw | hww 20 4475 8950 0
1 m tu (HDPE) DN160 - db DN150 (St h
nihERhiEU ( ) wuwn (St) bgnpnhgh wn 10 25090 25090.0
dnuwnwdnud (HC)
12 1M tu (HDPE) DN63 - Jb DN50 (St
nihERhiEU ( ) tnwin (St) Ygnpnhgh hwuwn 10 6509 6509.0
dnuunwdnud (HC)
13 | Mnjhkphbut (HDPE ubiph &l dwub h
IhErhiBub ( ) tunnnyuwlubph dbwdnp dwutip wuwn 3.0 10335 31005.0

DN160xDN90




14 | Mnjhtphtub (HOPE) funnndwlutiph dLwynp dwubp huin 40 3802 15208.0
DN9OXDN63 '
15 | Mn|htehibut (HDPE) tunandwlubph duwynp duwubip hwuwn 30 2380 7140 0
DN63xDN25 ' '
16 | Mnjhtehiiub (HDPE) funnnywyubiph dhwgntd hwn 70 6468 45276.0
fuwdnyewiht wugniiny DN160xDN32 ' '
17 | Mnjhtphitut (HDPE) funnnywlutiph dhwgnud hwtn 20 6296 44072.0
fuwdniewht wugnuing DN160xDN25 ' '
18 | Mnihkphitut (HDPE) funnndwlubiph dhwgnud hwn 30 4287 12861.0
huwdniewht wugnuiny DNIOXDN32 ' '
19 | Mn|htphisut (HDPE) funnndwljutinh dhwgnud hwn 70 4137 28959 0
uwdnipwihl wugnuwing DN9OxDN25 ' '
20 | Mn|hkehtut (HDPE) lunnnjwlubiph dhwgnud hwwn 20 2652 53040
hiwdnipwiht wugnuing DNE3xDN25 ' '
21 | Mnjhtphiul wwpnipwlwihu Ygnpnhsubinh dntunwdnud hwuwn 10.0 2193 21930.0
DN32 ‘ ’
22 | Minjhtehibut wwpnipwlught Ygnpnhsutiph dntwnwdnud hwwn 160 1985 31760.0
DN25 ' '
23 | Onwhwu DN20 hwn 1,0 11135 11135,0
24 | Mn|htphtub (HDPE) DN160 funnnwlutiph , Ywgnud, yd 05 153670 26835.0
whutnwhwunwd ' '
25 | Mnjhkphitub (HDPE) DN9O funnnywlubiph thnpdwnlynud, yd 05 109831 58210.4
(wgnud, whunwhwunu ' '
26 | Mnjhtehbub (HDPE) DN63 funnnduwlubiph , wgnud, yd o _— A5
whunwhwuntd ' '
27 | Mn|hkehibut (HDPE) DN32 funnnyuwlutiph thnpdwplynud, yd 0.0 92809 1856.2
Hwgnud, whunwhwunud ' ’
28 | Mnjhtehibub (HDPE) DN25 tunnnduwlutiph , qwgnid, yd 0.0 92809 2969 9
whunwhwund 4 '
2pwqhé-2/W2/ 0,0
<nnujht wluwwnwupubp 0.0
1 rupwdninnt b thnunpuilh dawlynud V wpgh d3
apitteiarinid, linriogn 49,1 1329 652539
2 fupwdninnt b thnunpulih dawlynad IV uipgh d3 1145 985 127825
gpniuinubpnud, Ynnuwihgpny ' '
3 | hupwdninnt U thnunpwyh (pudzwynid dkinpny, hwwnwlh d3
7
———_—m 5, 6593 37580,1
4 Udwagh twhiwwwinpwunwlwl gtpunh hpwlwlwgnud d3 10.2 2961 24062.2
h=10ud hwuwnnipjwdp ' '
5 Udwgh wwownwwuhs 26pnh hpwywuwgnd u3 23,4 7261 1699074
6 fupwdninne b thnunpwyh twihgp, Ynnwihgph dawldwd d3
gpniunubphg’ tinthwunwnyg 1232 e A
7 Uybjwgws gpniuntibph hwppbgnd wnbnnu u3 34,7 453 15719,1
Skjutininghwljwt wluwwnwuptbp 0,0
1 Mnhkphibut (HDPE) bnwlgynn tunnnwlubph qd.d
dntunwdnid fupwdninhubipnud DN9O, PN=1.0 170,0 3245 551650,0
UMNw,thnpdwpynid
2 | Minjhkphitt (HDPE) DNIO - dbwnwn DN8Y (St) lgnpnhsh hwtn 20 9972 19944.0

dnuwnwdnud (HC)




3 Mnihtrhiaul (HDPE) DN9O tunnnywlubiph thnpdwpynud, yd 02 109831 186713
(Jwgnw, wiunwhwunuw '
puwghd-3/W3/ 0,0
Znnujht wyluwwnwpubp 0,0
1 rupwdninnt b thnunpwlh dawlnud V upgh 43 733 1329 97415.7
gpniunubipnud, Ynnwihgpny '
2 tupwdninne b thnunpubh dwynud 1V Ywngh d3 711 985 168533.5
gpniinubipnud, Ynnwihgpny ' '
3 fupwdninnt b thnunpwlh ipwdwlynd sbnpny, hwwnwyh d3 86 6593 56699.8
hwppbgdwdp ' '
4 Udwah bwhiwwwnpwuinwlwl 2epunh hpwlwwgnud U3 5.2 7961 1103672
h=10ud hwuwnntejudp ' '
5 Udwgh wwawnwwlhs 2bpnp hpwlwlwgnud d3 35,0 7261 254135,0
6 | tupwdninnt b thnunpwlh Buhgp, Ynnwihgeh dowlywd d3 1927 462 89027 4
gpniuintbiphg” tnthwnwdng i '
7 Uybjugws gpniuntbiph hwppbgnud wnbnnud d3 51,8 453 23465,4
Skhutnpnghwlwl wiuwwnwupbp 0,0
1 %njnieynil niubignn wnnwwunb (St) @50 funnnywlutinh wnbin 40 1644 6576.0
Yuwpnid ’ '
2 Mnihtphbut (HDPE) bnwlygynn funnuwlutph gd.u
dnunwdnw fupwdninhubipnud DNG3, PN=1,0 UNuw, 254,0 1776 451104,0
thnpdwnlynud
3 Mnjhtehitut (HDPE) tinwlgynn funnnjwlutiph gd.\d 20 666 1332.0
dntnwdnud fupwdninhubipnud DN25, thnpdwpynud ' '
4 Mnihkphisu DN63 (HDPE) funnnywlubph Guwynp hwwn 3.0 2185 6555.0
dwubp ’ '
5 | Mnihtehiiu (HDPE) DN63 - dtitnwn DNSO (St) Ygnpnihsh hwn
1
Sribuiusdnu (HC) 2,0 6509 3018,0
6 Mnihkehibut (HDPE) funnnqwlubiph dhwgnud hwwn 10 2652 26520
fuwdnipwiht wugnuiny DNE3xDN25 ’ ’
7 Mnihkphitu DN25(HDPE)- dbuwnwn DN20(St) Ygnpnhsh hwwn 10 3710 3710.0
dnunwdnud denwnuljwl wpunwpht wwpnpuwng ' '
8 Ubtnwnuwljwl qunwiht thwlwt Gpyynndwuh ubppht hwin 10 6083 6083.0
wwpnipnwyny DN20 ’ '
9 DN63(St) unnnuwlh binwlgnud DN50(St) funnndwlhl wnkn 2,0 1644 3288,0
10 | Minjhkphitub (HDPE) DN63 tunnnywlubiph , dwgnud, yd 03 92809 23573 5
whutnwhwund i ’
11| Mnjhtphitut (HDPE) DN25 funnnywlubiph , (wgnid, yd o 92809 (856
whunwhwuntd ’ ’
Uj; wafuwnwptbp 0,0
<nnujht wfuwwnwupubp 0,0
1 fupwdnunnt b thnunpuwlh dawlynud V upgh d3 16 1329 28706 4
gpniunubpnud, Ynnwihgpny ’ '
2 fupwdninnt b thnunpwyh dawlnud IV wpgh d3
apnitnlibpaul, Ynquihgend 50,4 985 49644,0
3 fupwdninne b thnunpwbh pwdpwynud dknpny, hwnwlh d3
—— 25 6593 16482,5
4 tupwdninne U thnunpwyh twihgp, Ynnwihgph dawldwd d3 )
gpniunubphg’ tninthwunwdny 794 e s2584,6
Skhuninghwlwt wfuwnwuptbp 0,0




1 Mt (St) E/Gnwlgdnn unnndulutiph dnunwdnud go.d

tupwdninhutipnud DN273x5 npwbu wwunjwu 9,0 42147 379323,0
ub dnu 5.4
2 Mnnuwwnt (St) Eynwlgynn funnnjuwlubinh dntnwdnt Qi 5.0 17194 257910.0
upwdninhubipnud DN159x4,5 npuwjbiu wwunjwl
3 Mt (St) Ey/enwlgdnn unnnyuwlutph dnuinwdnud go.d
tupwdninhutipnud DN102x2,5 npujbiu wwiinjw 54,0 6147 331938,0
4 Mnnwwwnt (St) Eybnwygdnn funnndwlubph dnunwdnid gd.d
hupwdininhtbpnud DNB9X2,2 npujbu wuwitnjuit 340 5235 282690,0
5 Mk (St) E/Enwlgdnn unnndulutph dnunwdnud gd.d
fupwdninhubpnud DN57x2,2 npuybu wwiinjwt 18,0 3551 63918,0
12.Cunwdkup | 14176765
1775693220

Ehr}hwhmpnl

vuduLumRtre-LUuluucuchy
£-46, /U-2/-Swpl-Unjwth-/U-2/ (Ujniuhp) hwipuwbnwlwy bywbwynipywt w/6-h WU 37+500-
LU55+000 hwindwsdh hhduwlunpngiwt wiluwwnwupubph
(2022 pyuwlwbiht hpwlwbwgyihp)

c
&
3
NN = Uhwynph Cunhwunip
U b £
o/l ofuwwnwuptbiph wudwunup é wuwlyp aipdn wdbgp
=
3
197
1 2 3 4 5 6
| Lwundiwl wiluwwnwuptbp
1 Snjnipniu ntubignn dwlwwwphwiht bpwllbiph hwwn
wwwnbinulwjnud, yepwnwpd ubthwlwuwnhpngp 0.0 4400,0 0.0
1.Cunwibup 0,0 ‘ 0,0
Il | Ennujht wluwwnwupubp 0.0 |
1 1. <nnujht woluwwnwuptbp hwihinly gpndunubpnud 0,0 |
2 18 niuwnh d Jd bwb d bpny 504 d3
mgs/qn h dgwynui L wbnwihnfunud pynngipny 0.0 437.0 0.0
3 | 18y gpniunh dpwynud Epulwdwinnpnd/1,08%/, pwpénud d3
w/hupuwpwthbph dpw 0,0 640,0 0,0
nbnwhnfunud (guynyunn 7.04d wnnl 0,0 700,0 0,0
V10t gpniuwnh dowlynud b inbnwithnfunud pnynngtpny 504 d3
Ihge 0,0 450,0 0,0
6 | IVIOb gpniiwnh dowynwd Epulwdwwnnpnd/1,00%/, pwpanud u3
w/hupbwpwihbph pw 0,0 820,0 0,0
nbnwthnfunud \gulnywn 7.04d wnnl 0.0 700,0 0,0
8 | 18y gpniuwnp dowlnud tpulwywwnnpnd/1,00%/, pwpanud d3
w/huptwpwihtph Ynpw 0,0 640,0 0,0
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7 Ubwn. unnnuwlh giiuwdwuh gpwdbynwgnud biplgbpun d2 40 1250 0 52500.0
wnwp phunnuing ' '
4.Cunwdbup 0,0 . 20614514,5
v Unnuwlubp 0.0
1 Bwdwpnipnuyht  gpninp pwpdnud Iy 1468,4 650,0 954460,0
2 Bwdwpnipnuwiht - gpninh inbnwidinfunud wwhnwnhg nnu '
dhghup 104d-hg Ynnuwlubnh hpwlwbwgdw huwdwn 2859,6 40,0 SIAA
3 Unnuwlubph hwppbgnud /4827802/ L futnwgnud u3
wulidngnnuny 1 htinnpny 4 wugnudnyg h=24ud ptipinh 14483 4 660,0 9559044,0
hwuwniejwdp, eoph nwpwdnuing
5.Cunwdkup 0,0 | 13029978,4
VI | Uwjpbp 0.0
1 | UWwqulnwswiht hhdp h=10ud u3 100,4 5040,0 506016,0
2 [ Phunub uwihlubph nbnwnpnid 12 1004,0 8088,0 8120352,0
3 Pwqunk bqpupwpbph nbnwnpnud 15x30ud  swihuh gd.u
pbunnbb hhdph Ypw 1849,0 14450,0 26718050,0
3* | Phwnnub bgpupwpbiph nbnwnpn 15x30ud  swithuh gd.d
pbunnbb hhdph dpuw 170,0 8340 1417800,0
4 | Cwjwpnyh pannub bqpuizwp 10x20ud qd.d 1675,0 6940,0 11624500,0
6.Cunwdkup 0,0 48386718,0
Vil | dbpht hbwwwwnkp 0.0
U. | 4d45+700 unp Jbpht hbbwwwn wehg 0,0
1 M8y gpnitiinh dpwlynud Epulwywinnpny/0.65%/, pwpanud 43
2 nbnwihnfunwd gulynywn 7.04d wnnu 0,0 700,0 0,0
3 Lnyup nbnnud Ynun Und, ht 4 hwd d3
nytp wnbnnud Ynunwynwing, hwwnwpé (hgph hwdwp 0.0 490.0 00
4 | dnunpwlh enguwdawlynud bnpnd:/11i8y 43 0,0 3420,0 00
S | Ujwqulnutwht obpn Jupbiph wiwl h=10ud u3 0,0 6300,0 0,0
6 | <buwwwunbph hhdpbiph hpwywtwgnud dhwdny d3
pbuntihg B20 0,0 64000,0 0,0
7 | <hku uub u d  B20 pbunu d3
wwunnh - ppwtitbiph - hpwlwwgn pbinupg 0.0 65870.0 0.0
8 | Mdnpdwghnu  Ywpbph hpwlwlwgnu 2 sbpin u2
nniptipnhnny phinnuh dwdniyny (d=2,0ud) 0.0 9830.0 0.0
9 | Spnwuwnh htiwn 2thynn dwlbipunypubiph epwdklnwwgnid u2
Gpltinun nwp phunnuing 0,0 12500 0,0
10 | Swdwpnipnh hpwlwliwgnud gd.0 0,0 8610,0 0,0
1 Swdwpnipnuwiht - @100 Jd wnihkehbuwhu gd.d
hunnnduwlubn 0,0 2580,0 0,0
12| <bwnwnwpa Epubwyduwinnpnd/0.65d3/,9pnuwiny L d3
g L S 108,6 1120,0 121632,0
7-U.Cunwdbtp 0,0 121632,0
R. | L53+300 unp Ybpht hbbwwwn wehg 0.0
1 18y gpniuwnh dowlynud tpuljwdwwnnpny/0.65%, pwnanid d3
: . o 0,0 700,0 0,0

w/huptwpwthbph Ypw, wbnwihnfund igwlnywn 7.04d
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®nunpwlih thnpnud 118 gpniintbpnud

3+ | bpulwywinnpny/1.0d3/, nbinnid Ynunwynwing hbwnwnwna d3 12,0 480 5760,0
(hgph hwdwi/
4+ | uBwyht hhdp h=20ud d3 6,9 13750,0 94875,0
5+ | Uwquynwbuwiht hhdp h=10ud u3 6,6 5720 37752,0
. | Ubnwnulwt d=102044 funnndwlh inbnuwnpnud 4 261000 90828000
6" | 195.0=249g; 3=10uy/ ao.d 348 ‘
7+ | Sthuwdwuh hhiph dhwany| pbinn B20 d3 14,4 77950 1122480,0
g+ | SHhuwdwuh hpwtp dhwany) ptinnt B20 u3 15,6 105840,0 1651104,0
g+ | Ywph U huwluyht wwnwdh dhwény| phnnu B20 g3 9,6 77950 748320,0
10* :Englng[tl.;qh opwidbiynuwgnud bplbpun twp phinnudng- 02 103.8 1830.0 189900, 4
.8q6.
11* | <hwnwnwpd (hgp 11184 Ywpgh puwhnnbipny d3 12,0 106,0 1272,0
8*.Cunwdbup 0,0 13009503,4
Vil | Ubnwnuwlwy funnnjuwly d=102044d /MU446+02/ 0.0
1 Znnuiht wotuwinwtpubp N8y Ywpgh puwhnnbpnud hniuh d3
ninndwt hwdwp/nbnuihnfunwd pnynngbpny 504/,
pwndnut kpuljuwdwinnpny /1,003/ w/huptwpwihbnh Ypw 11,0 950,0 10450,0
2 | wbnuiinfundd guynywn 7.04d wnb 20,9 700,0 14630,0
3 | ®nunpwlh thnpnud  HI8Y gpniiintipnud d3
Epulwydwnnpnyd/1.0d3/, inbinnud Ynunwlynuwny hbwnwnwpd 4.0 480,0 1920,0
thgeh hwdwp
4 | hubwht hhdp h=20ud d3 2,3 13750,0 31625,0
UJwquynwtwhu hhdp h=10ud d3 2,2 5720,0 12584,0
Ubiinwnuwlwu d=1020dd funnnqwlh inbnwnpnud gd.d
1q8.022494q; 3=1004/ 11,6 261000,0 3027600,0
7 Gfuwdwuh hhdph dhwany phwnnu B20 d3 4.8 77950,0 374160,0
8 Ffuwdwuh hpwup dhwany| phunnt B20 d3 5,2 105840,0 550368,0
9 | dwph b hbuwluyht wunwdh dhwény( punnt B20 d3 3.2 77950,0 249440,0
10 | runqndwlyh opwdbynwwgnd Bplzbpun tiwp phuinwdng- u2 34.6 1830.0 63300.1
10.8q8.4/
1 Lhwnwnwnad |hgp 1184 Ywpgh puwhnnbpny d3 4,0 106,0 424,0
8.Cunwdkup 0,0 4336501,!
IX | 6/p junnndwlubph L hbbwwwwbph Jepwinpngnud L
yEpwlywnnignid 0.0
LE37+511.5 01.5d &/p b dbnwnwlw funngnduly,
dniinpp dwfuhg 0.0
1 hunnnduwyh dnunph , Giph W dheoh dwppnid gpniunhg u3
dbnpny, Ynywnwynpnid 0.0 1970.0 0.0
2 pwpanul dtnpnd wywnnhuptwpewi b nbnwgnfunwd nnl
([gulynywn 74d hinwdnpnipjwu Ypw 11334 a0 1090,0 0.0
3 | 6/pbwnnub b dbinwnwlwt unnnywlubph Ygnpndw d3
hwundwénid dhwdény) pEnnth hpwwtwgnud Gupdwl 1.0 56830.0 56830.0
wnwl’ ubpwpynuing, B20, F100:
Z G/p funnnyuw wpk J gbd. u U3
p funnnyulh Juptph ipwignud gd.wywquh 0.6 50820.0 325248

swnuwfuny M200




5 dnunphg 7-pn, 11-pn L 15-pn b/pbinnub pinlubipp unpngby u2
gbd.wjwquiht pwnwfuny M200, H=0.03J" dbtnwnwwu
guitigh Unw, (100x100)dd @4 Bp- 1, P=0,0281un: 14,2 5090,0 72278,0
6 | Ununpnud b bppnud guiuwdwubph hpwlwlbwgdwt hwdwp d3
thnunpwlutiph thnpnwt 0.6543 tiptichny Epuljwuwinnpny, 0,0 670,0 0,0
apninh wwhbunwnpnad IV(106)°
7 giiuwdwuh hpwlwbwgdwy hwdwp d3
Uwuwwwnpwunwywt gbpn fubnd: %0 167200 0.0
8 Ununpnud b Bipnud dhwdény) punnub gluwdwubph a3
hpwlwwgnut B20, F100, swih 3.6x3.0x0.4d: g 10565410 Y
8* | hbuwlwiht winwdh dhwény| phinnu B20 u3 1,0 77950 77950,0
9 | <hwnwnuwpd |hgp Epuljwywinnpny/0.6543/,opnudng L 3 0.0 1220.0 0.0
funwgdwdp
wii37+765 01.04 &/p fjunnnwl® 6.6
1 funnniuwlyh dnunph , Bph L dheh dwppnud gpniuinhg u3
&tnpny, Ynywwdnpnud 1334/ Sl 12200 0
2 pwpénuwt dtnpny wywnnhupuwpwth b nbnuwihnfunud wnl
gwlynywn 74d htnwynpnuejwu Ypw 11334 0.0 1090,9 G0
4U¥39+100.0 2.0x2.0d nunnuiulynwu b/p funnnyuwly 0.0
1 funnniuwlh dnunph b Gph dwppnud gpniuinhg 0.65d3 d3
2biptithny Epulwywinnpny, pwpdnud hiptiwpwih, 0,0 560,0 0,0
nbnwihnfund \gulnywn 74d hen. gpw:/
2 wnbnwihnfund guinywn 7.04d wnnl 0,0 700,0 0,0
3 | unnnuwyh dhoh dwppnul gpniiinhg dhinpny, d3
Ynywwynpnud 11334 0.0 1970.0 0.0
4 pwpanud dbinpny wywnnhtuptwpwih b inbnuidnfunud wnnu
(guynywn 7Yd hinwynpnipywt Ypw 1133y 0.0 1090.0 7.2
4* | Ununpnud b Bpnd dhwany| phnnub gluwdwubph d3
hpwywbwgnut B20, F100, 0.0 . 0.0
5% | hbuwlwihtu wunwdh dhwany| pbwnnu B20 a3 1,0 77950 77950,0
5 | lunqnulh dnunph L Gph pbnnub plubiph W d2
qiuwnhpubiph Ybpwunpngnud gbid.wywquhl gunwhund 35,0 4920,0 172200,0
M200, Hihe.=0.04d
6 G/p funqnquwyh Yuwpbpp (puignud ged.wdwquihu d3
pwnuluny 0,1 50820,0 5082,0
7 funnnywlh ubpuh wwwnbph udwn gbd.wdwqujht d2
suwnuiuny M200, H=0.034: 64,0 4020,0 257280,0
8 funqnuwih wnwunwnh udwn ghd.wywquiht wnwpuny u2
M200, winpypbunwgnuwing, H=0.034d:/ 32,0 4520,0 144640,0
9 | tunnnyuwyh dbg qwinnyh hpwlwuwgnud dhwdany) d3
pbnnting, B20, F200, h=10ud 1.6 54320,0 86912,0
Li39+410 ©O1.0d &/p lunnndul* 0,0
1* | unnnjwlyh dnunph , Giph U dhoh dwppnud gpniliinhg d3
dbnpnd, Ynywnwnpnud 11334/ 0.0 1970,0 0,0
2* | pwpénud dbnpny wywnnhupuwpwih b nbnwintunid nnu
pny wynnhlptiwrewith U inbnuwihnfu 0.0 1090.0 0.0

[gwynyw 74d htnwynprejwt Jpw 1133y




Yd40+340.0 P1.5d b/p tunnnywl, dnunpp dwhuhg

0,0
1 funnnyuwlh dnwnph , Gph U dheh dwppnid gpntlinhg d3 0
&tnpny 11334/ 9 1920,0 -
2 pwpanwd dbinpny wywnnhuptwpwih b tnbnwinfund nnl
lgwynywn 74d hbnwynpnuzgwt Jpuw 1334/ %0 ik 0.0
3 | t/p unnwlh upbph pwignud gid.wdwgquih d3 0.0 50820.0 00
qwnufund/ : : '
4 Ununph guwdwuh unpngnud gbd.wdwquiht gunuwtuny U2
M200, h=3ud:/ 0.0 4020,0 0,0
5 Geh giiuwdwuh unpngnud gbd.wwquiht awnuwfuny U2
M200, H=0.04d" dbunwnwlwu gwugh Ypw (100x100)dd 0.0 5550,0 0,0
04 Bp- |, P=0,0495wn:/
L4i40+150 @1.0d &/p funnnywy, dnunpp dwtuhg 0.0
1 funnnyuwlh dnunph b Bph dwppnud gpniiinhg 0.6543 d3
gtipbithing bpuljwdwiinnpny, pwpdnu huptwpuwih, 0,0 560,0 0,0
wnbnwihnfunid (gwynywn 74d hen. dpuw:/
2 nbnwithnfund |gwynywn 7.04d wnnl 0,0 700,0 0,0
3 tunnnqwlh dheoh dwppnud gpniinhg dtinpnd, u3
Ynywnwynpnud 11334 0.0 1970.0 0.0
4 pwpdnw dtinpny wywnnhtptwpewih b nbinwtnfunu wnnl
lgwynywn 74d hbnwdnpnipjw dpw 11334/ 0.4 10,0 8.0
5 &/p funnndwlh Yupbph puignd gbd.wywaquyhl d3
swnuluny M200 0,6 50820,0 32524,8
6 | bph gnjnipyniu niutignn pbininut gluwdwuh Yugdwnnud d3
ujulidwagnpdhpnd, pbynpubiph pwnanu 0.65d3 Zipbithny 2.2 26780,0 58916,0
Epulwydwwnnpny wyinnhuptwpwih
7 nbnuwihnfunud |gulynywn 7.04d nnl 0,0 700,0 0,0
8 Ununpnud b bpnud guwdwubph hpwywbiwgdwt hwdwp d3
thnunpwlubiph thnpnwi 0.65d3 gtipbithny Epuljwuinnpnd, 0,0 670,0 0,0
gpniiinh wwhbunwynpnud 1V(106)'/
9 | gluwdwubph hpwlwlwgdwt hwdwp a3
Lwuwwwwnpwuinwywl g6pnn fubng 0.0 13750,0 0.0
10 | Unwnpnud b bipnud dhwdény| pEnnub gfuwdwubph u3
hpwlwuwgnud B20, F100, swih 4.0x3.0x0.44: 0.0 1058500 0.0
10* | hbuwyuwiht wwnwdh dhwany| pkininu B20 d3 1,0 77950 77950,0
11 | <bwnwnwpd thgp tpulwduinnpnd/0.65d3/,9nnudiny L d3
4d40+350.0 01.0d b/p funnnyuwy, dnunpp &wiuhg 0,0
1 funnnuwyh dnunph b Gph dwppnud gpntunhg 0.6543 d3
| oiptithny puljwdwinnpny, pwpénu huptwpwdh, 5 560.0 3080.0
2 | wbnuihnfund lgwlnyn 7.04d nnu 9,6 700,0 6737,5
3 tunnnuwlh dhoh dwppnid gpniuinhg dkinpnd, d3
Ynywwnpnud, pwnénud winnhuptwewih U 1,5 1970,0 2955,0
nbnwihnfunud igulnywn 74d hinwdnpnieywt Ypw 1133y
4 pwpdnud dGnpny wywnnhuptwpwih b inbnwihnfund nnu
[gwynywn 74d hbnwydnpnipjwt Jpw 26 1090.0 2861,3
5 Ununph gphnpriwth Jpwih gwugh wwwdntnwdnd, nnl 01 53470.0 2673 5

Ybpwnwpd ubthwlwlwwnhpngp:




6 Ununph pwpuwiht gwpdwsdpnd gppunniuhsh Yuqdwnnud d3
stnpny, pwpénud wyinnhuplwpwih L 17680.0 265280
7 nbnwihntunw |gulnywn 7.04d nnu 3,6 7000,0 25200,0
8 | b/p funnndwlh Yupbph ppuwignud gbid.wdwquihu d3 0.0 50820.0 508.2
gunuwifuny
9 teh gnjnuent niibignn phinnub gluwdwuh uqdwnnud d3
wulwgnpdhpnd, ptynpubiph pwpanud 0.65d3 2tipkithny 1,8 26780,0 48204,0
Epulwywunnpny wiinnhtupliwpwih
10 | nbnwihnfunud jgwlnywn 7.04d tnnl 43 700,0 3024,0
1 Ununpnud dhwanyy pinnutb oppunniuhgh hpwljwwgnud, g2
sith 2.6x1.20, h=1.74, b=0.4: 36 761700 276497,
12 | Qppunniuhsubph Jenwnwlywl guugh wwinpwuwnnu b wnnu
inbnunpn: 0,1 214180,0 16305,5
L63x63x6Ud/mm P=105.2la/kr god 7.6 4660,0 35416,0
-5x80du/mm P=106.8q/kr qéd 10,4 3510,0 36504,0
13 | bpnud gluwdwuh hpwywuwgdwl hwdwp thnunpwyh d3
thnpnud 0.6543 2tptiing Epulwywinnpnd, gpntuwnh 5,5 670,0 3685,0
wwhbunwynpnud 1V(106)
14 | giuwdwubph hpwywtwgdw hwdwn J3
uwhiwwwnpwunwywl gbnn fubny 0.2 13750,0 3162,5
15 | Gppnud dhwany| phnnub gfuwdwuh hpwlwwgnud B20, U3
F100, suwith 4.0x3.0x0.44 52 10uBa0e 506G,
15* | hbuwlwjhu winwdh dhwany plnnu B20 d3 1,0 77950 77950,0
16 | <hwnwnwnd thgp tpulwywinnpny/0.65d3/,9pnudny L d3
4i40+690.0 @1.5d b/p funnndwl, dnwnpp &wtuhg
1.5m 0.0
1 funnnywlh dnunph Biph L biph Jwppnud gpniuinhg d3
abnpny, Ynywnwynpnwd, pwpanud wynnhuptiwpwdh 1334 0.0 1970,0 0,0
2 pwpanwd dbnpny wywnnhtptwpwih b inEnwithnfunu tnnu
lgwynywn 74d hbnwynpnigiwt Ypw 0.0 1090,0 0.0
3 | b/p unnnquh Ywnptiph ppwignud gid.wlwquih d3
swinuwtuny 0,0 50820,0 0,0
4 | Ununph U bph guwdwubph dwybplnypubph dwppnud u2
abinpny’ dbfuwlhwlwl bwtiwyny 0.0 1530,0 0.0
5 Ununph b bjph guwdwubiph unpngnud gbd.wwquiht d2
ownwfuny M200, H=0.04d" dawrnwnwlwu guugh Ypw 0,0 5550.0 0,0
(100x100)Jdd @4 Bp- |, P=0,06931n
L4i40+780 @1.5d b/p funnndwy, dnwnpp dwfuhg 0,0
1 funnnywlh dnunph b Bph dwppnud gpniuinhg 0.6543 d3
sbiptithny Epuljwdwunnpny, pwpdnud hupuwpwth 0.0 560.0 0.0
2 | wbnwiinfund guynywn 7.04d nnu 0,0 700,0 0,0
3 funnnyuwyh dhoh dwppnud gpniuinhg dGnpnd, d3
Ynywwynpnwl, pwndnud wynnhuplwpwih 0.0 1970,0 0,0
4 pwnanw dbinpny wywnnhtptwpewih b nbinwtnfunu tnnu
lgwynywn 74d hinwdnpnigjwt Jpw 0.0 1090,0 0.0
3] &/p funanquwyh Ywpbph ppwignd gbd.wydwquiht d3
b lyiphi ipghid GHOWHRULK 0,1 50820,0 5082,0

2winuifuny




6 Ununph b bjph pwjpwydwsd peunnub giuwdwutiph d3
Ywguiwwnnw wubdwgnpdhpnd, pwpdnud 0,0 26780,0 0,0
wywnnhupbwpwth 0.65d3 sbpkihny Epujwdwinnpny
7 nbnwihnfunud (guynywn 7.04d nnl 0,0 700,0 0,0
8 | Ununpnu U bppnud giiuwdwubiph hpwlwuwgdwt hwdwp d3
thnunpwyubiph thnpnwd 0.6543 2biptthny Epuljwyuwinnpny, 0,0 390,0 0,0
gpnunh wwhbuwnwynpnuwl
9 giuwdwubph ppwlwbwgdwl hwdwnp U3
bwhiwwywwnpwunwlwl 2tpn funyg 0,0 13750,0 0,0
10 | Jpwany| pivnub gluwnhpubph hpwlwbwgnd B20 u3 0,0 105850,0 0,0
10* | htbwlwiht wwnwdh dhwaény) pbnnt B20 u3 1,0 77950 77950,0
. ; J3
1 Chwnwnwpd thgp tpuywywunnpny/0.65d3/,9pnudny L 0.0 1000.0 0.0
funwgdwdp
4U41+550 ©1.04 t/p funnnywy, dnunpp dwfuhg -
1 funnnywyh dnunph Giph W Giph  dwppnud gpniuinhg U3
abnpny, Ynynwynpnud, pwpanud wunhuplwppwih 11334 0,0 1970,0 0.0
2 pwpdnul dtnpny wywnnhuptwpwih U inbnwhnfunud wnnl
gwynywn 74d hnwydnpnipywt Ynpw 11334 0.0 16900 0.0
! u3
3 &/p unnnyuwyh Ywpbph (puignud gbd.wdwquiht o1 50820.0 5082.0
qunwfuny
4 Ununph b bph pwjpwydwd phinnnub gluwdwubiph d3
Yuwgdwwnu wuldwgnpdhpny, pwpanud
wywnnhuptwpwt 0.65d3 stipbthny Epulwduwwnnpny L 0,0 26780,0 0,0
nbnwihnfund jgwlynywn 74d henwynpnipjwt Ypw
5 | mbnwdhnfund (gulnywn 7.04d tnnl 0,0 700,0 0,0
6 | Ununpnud b Gipnud gluwdwubph hpwlwlwgdwu hwdwp d3
thnunpwubiph thnpnud 0.6543 2bpbthny Fpulwdwwnnpny, 0.0 390,0 0,0
gpniunh wwhbiunwynpnud 11(334)
7 gluwdwubph hpwlwuwgdwu hwdwp d3
Uwhiwwwinpwunwlwl Epwn fuing 0.0 13750,0 0.0
8 dhwany| pewnnub giuwnhpubph hpwlwuwgnu B20 d3 0,0 105850,0 0,0
8* | htuwlwhu wwnwdh Jhwény| pbuint B20 d3 1,0 77950 77950,0
9 Chunwnwpd |hgp tpuljwdwnnpnd/0.6543/,9pnudny L d3
hunwgdwdp 0,0 990,0 0,0
4U41+810 01.0d b/p funnndwl, dnunpp wghg 0.0
1 Funnnquwyh dnwnph Giph W Giph  dwppnud gpniunhg d3
&bnpnd, Ynynwdnpnud, pwpdnd wywnnhuptwpewih 11334 0.0 1970.0 0.0
2 pwpanu dbnpny wywnnhuptwpwih b inbnwidnfund nnu
lgwynyw 74d hbnwynpnipjwt Jpw 11334 0.0 1090,0 0,0
3 &/p funnnwyh Yupbph puwignud gbd.wdwquht d3
swnwfuny 0.1 50820,0 5082,0
4 | Unuwnph b bph pwjpwjjwé pbinnub gluwdwubph d3
YJugdwwnu wulidwgnpdhpnd, pwpanud 0.0 267800 0,0
wywnhuptwpwid 0.65d3 stiptithny Epulwywwinpny
5 | mbnwihnfunid guynywn 7.04d Nl 0,0 700,0 0,0
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8 Unuwnpnud gluwdwup hpwfwbwgdwt hwdwn d3
thnunpwlutiph thnpnud 0.6543 gbptithny Epulwdwinnpny, 0,0 390,0 0.0
gpntunh wwhbunwynpnud 11(334)
9 gluwdwuh hpwlwtwgdwl hwdwn d3
vwhiwwwnpwunwlywl obpn fuéng 0.0 13730.0 b
10 | dhwény| pbininut gfuwnhph hpwlwtwgnud d3 0,0 105850,0 0,0
10* | hbuwlwjht wwnwdh dhwany phnnt B20 U3 1,0 77950 77950,0
1 biph guwdwuh unpngnud ghd.wywquiht pwnwiuny u2
M200, h=5ud 9,5 5820,0 55290,0
12 | <bnwnuwpé (hgp tpuwywinnpnd/0.6543/,9pnuwiny L u3 0.0 990.0 0.0
funwgdwdp
LYi42+630 @1.5d b/p funnnyuwly, dnunpp wehg s
1 funnnywlh dnunph b biph dwppnud gpniinhg 0.65d3 d3 0.0 560.0 0.0
stiptithny Epuljwywinpny, pwpdnwd wyinnhuplwpwih ' * !
2 ntnwhnfunid (gwlynywn 7.04d wnnlu 0,0 700,0 0,0
3 funnnywlh dhoh dwppnud gpniuinhg dtinpny, d3
Ynywwnpnud 11334 0.0 1970,0 0.0
4 pupdnd dbnpny wiwnnhtptwpwih U nbnwihnfunu nnu
lgwlynywn 7Yd hbnwynpnuejwi Ypw 1133y 0.0 1090.0 0.0
bd.
5 | &/p unqnywyh Yuptbiph puignud gbd.wwquiht a3 o1 50820.0 5082.0
quinufuny
6 | Ununph gnjniejnit niubignn puypuydws gifuwdwuh d3
Yuwqdwwnnwd wubidwgnpdhpny, pwpdnul wywnnhtpuwewih 0.0 26780.0 0.0
0.65d3 gbiptithny kpuljwdwwnpny
7 | wbnwihnfund gulynywn 7.04d nnu 0,0 700,0 0,0
8 | Ununpnud gluwdwuh hpwlhwbwgdwt hwdwp d3
thnunpwlutiph thnpnwd 0.6543 ptptithny Epulwywinnpnd, 0,0 390,0 0,0
gpniunh wwhbuinwdnpnud 11(334)
9 | guwdwuh hpwwiuwgdwl hwdwp u3
whiwwwwnpwunwlwl 2tpunn fubng 0.0 13750,0 0.0
10 | Jhwény| pEwnnub glluwnhph hpwlwuwgnd B20 d3 0,0 105850,0 0,0
10* | htuwlwipt wwnwdh dhwadny| pinnt B20 u3 1,0 77950 77950,0
1 Gph guwdwuh unpngnud gbd.wwquyhl pwinwtuny u2
M200. h=5ull 10,0 5820,0 58200,0
12 | <hnwnwpé |hgpe tpuywlwnnpnyd/0.65d3/,9pnudny b d3
I-umwgdwljp 0,0 990,0 0,0
L4d42+920 @1.0d b/p funnnduwy, dnunpp wohg 0.0
1 funnnywlh Ununph b Biph dwppnud gpnitiinhg 0.6543 d3
otiptithny Epuwywinpnd, pwpdnud wywnnhupuwpwih 0.0 560,0 0.0
2 | wbnuihnfund (guynywn 7.04d nnl 0,0 700,0 0,0
3 funnnywlh dheh dwppnud gpniuinhg &bnpny, u3
Ynyunwynpnud, 11334 0.0 1970.0 0.0
4 wpanuwd dbin nnhupliw L wb d u
pwn pny wywnhuplwpwi nuihnfuny wn 0.0 1090.0 0.0
(gwlnywn 74d hbnwydnpnigjut Ypw 1133y
5 | &/p unnnyuwlh Ywnpbph puignud gbd.wdwquht u3
pwnuwuny 0,1 50820,0 5082,0
6 o] wdwuh unpngnud gbd.wydw u n u2
1eh gifu h unpngnud gbid.wdwquiht aunuwfuny 70 5820.0 40740.0

M200, h=5ud




7 | beh gnnieinit niubignn pujpwjywd gluwdwuh d3
Yuquiwwnnd wubidwgnpdhpny, pwpdnuy wywnnhuptiwpwh 0,0 26780,0 0,0
0.6543 stiptithny Epuljwywinpny
8 wnbnuwihnfunwd |guynywn 7.0yd wnnl 0,0 700,0 0,0
9 Giph guwdwuh hpwlwuwgdwl hwdwp thnunpwyutiph d3
thnpnud 0.6503 2bptthng bpuljwiwwnnpnd, gpniuwnh 0,0 390,0 0,0
wwhbuwnwynpnud [1(334)
10 | guwdwuh ppwlwiwgdwt hwdwp d3
vwhiwwwnpwunwlwy 2Epn fuéng 0.0 13750,0 0,0
1 dhwaény| pbwnub gluwnhph hpwlwuwgnud u3 0,0 105850,0 0,0
11* | hEuwywyhu wnwdh dhwanyp pannu B20 d3 1,0 77950 77950,0
! 3
12 | <twnwnwnad thgp tpulwywinnpny/0.6503/,9npnuing b d 0.0 990.0 0.0
funwgdwdp
Ld43+330.0 @1.54 b/p funnnduwl, dnunpp wehg 5
1 funnnwyh dninph b Gph dwppnud gpniiinhg 0.6543 d3 B 60.0 0.0
sbiptithny Epulwywnpny, pwpanu wynnhupUwpwth ’ 208, ’
2 nbnwithnfund (guynywn 7.04d wnnu 0,0 700,0 0,0
3 tunnnuwyh Jheh Jwppnuw gpniuinhg dlinpnd, d3
Ynyuwwynpnud 1133 0.0 19700 0.0
4 | pwpanuw dtnpny wywnnhuptwpwth b nbnwihnfunud nnl
lgwlnywn 7yd hbnwynpnueiwt Yypw 1334 0.0 1090,0 0,0
5 | b/p unnulh upbph jpuignid gbd.wdwqught u3
swnuifun 0.1 50820,0 5082,0
6 Ununph b Gph pwjpwjjwé punnub gfuwdwubnh d3
Yugdwwnud wubdwgnpdhpny, pwpdnud wwnnhupuwpwih 0.0 26780.,0 0,0
0.6543 bipbihny tpulwydwwnpny
7 nbnwihnfunud |gulnywnn 7.04d tnnu 0,0 700,0 0,0
8 | Ununpnud b Gpnud gruwdwubiph ppwlwbwgdwt hwdwp d3
thnunpwlubph thnpnud 0.6543 gbipkithny Epuljwydwwnnpnd, 0.0 390,0 0.0
gpniunh wwhbuwnwynpnud 1(334)
9 | gquwdwubph hpwlwbwgdwt hwdwp u3
bwhiwwwwnpwunwlwl 2bpn fubny 0.0 13750,0 0.0
10 | dhwdény pivnul gifuwnhph hpwlwuwgnu d3 0,0 105850,0 0,0
10* | hbbwlwihu wwwdh Jhwény) ptnnt B20 d3 1,0 77950 77950,0
11| <bnwnuwpd thgp tpulwyuwwnnpny/0.65d3/,9nnuiny b d3
I’umwgdwdp 0,0 990,0 0,0
L41i43+790 @1.0d &/p funnnyuy, 0,0
1* | hunnnulh dnwnph L Giph dwppnud gpniuinhg 0.65d3 d3
stipbithny Epulwdwinpny, pwpdnud wywnhuptiwpwih 0.0 560,0 0.0
2* | mbnuihnfund guynywn 7.04d nnu -0,1 700,0 -35,0
3* | Ununpnud b Gipnud gluwdwuh hpwlwbwgdwt hwdwp d3
uwhiwwwwnpwunwyuwl gbpn fubng 0.0 13750,0 -550,0
4* | Unwnpnud b Gipnud dhwéing| pninub qfuwnhph u3
hpwlwbwgnu B20 0,0 105850,0 0,0
or hEuwlwht wunwdh dhwaény pbnnt B20 u3 1,0 77950 77950,0
Li43+960 2.0x2.0d nunnuilyniu b/p funnnywy, dnunpp 0.0

Guwhuhg




funnnyuwlh dnwnph L Giph phwnnub pLbiph L
qfuwnhputiph Yuqdwinnu wbldwgnpdhpny, pinputiph

u3

pwnanu wywnhtuptwpeuwth 0.6543 otipkthny 0.0 26780,0 0.0
bpuljuwwunpny
2 | wbnuithnfund guynywn 7.04d tnu 0,0 700,0 0,0
3 &/p funnnywlh Yupbph jpugnud gid.wdwquihu d3 o 508200 5082.0
quinuituny
B Ununpnud unp plbiph hpwlwlwgdwl hwdwp d3
thnunpwlubph thapnut 0.6503 gbpbthny Epuljwywinnpny,
30% gpniuwnh pwpanud wynnhutptwpwih U 0.0 560,0 0,0
wnbnwihnfund guynywn 74d hbn. Ypw
5 wnbnwihnfunud |gulynywn 7.04d nnl 0,0 700,0 0,0
6 | Ununpnud unp plbph hpwlwtwgdwt hwdwp d3
thnunpwlubiph ginpnud 0.6543 gbpbithny Epuljwywnnpny, 0,0 390,0 0,0
apniuinh wwhbunwynpnud 11{334)
.65
7 | €bwnwnuwpé |hgp Epulwduwinnpnd/0.65d3/,9pnuding L d3 0.0 990.0 0.0
funnwgdwdp m3
8 Ununph plbiph hhdptph hpwlwuwgdwy hwdwp u3
Lwhwwwnpwunwlwy sbpo fubng 0.0 137500 0.0
hhdpb Jd dhwd buinu d3
9 | Ununph plubph hhdpbiph hpwlwuwgnud dhwény) piinnuny 5 6.3 64000.0 403200.0
10 |U b uubs u d dhwa d3
phunnuny
1 Ununpnud b bpnud gluwnhpubph hpwywtwgnud dhwény; d3
abiuntini] 0,0 65870,0 0,0
m* htuwlwht wwnwdh dhwény| pbnnu B20 d3 0,0 77950 0,0
12 | Gph gnnieyntu niubignn pbwnnub plbph Jbpwunpngnid u2
gbu.wiwquiht ownwfuny M200, h=5ul 6,0 3620.0 MF00
13 | Gpnwd hnwh dbg pwpwiht (hgph hpwlwuwgnd d<0.3d u3 0,0 6030,0 0,0
Ld45+280.0 @1.0d b/p funnnywly, dnunpp Gwluhg 0.0
1 funnnqwlh dnunph dwppnud gpniuinhg 0.6543 gbiptithny d3
Epulwywnnpny, pwpénud wyunnhuptwpwtih 0.0 560.0 0.0
2 | whnuihnpund lguiynyw 7Y4d hbn Ypw tnnu 0,0 700,0 0,0
3 | &/p unnnuwyh Ywpbph (puignd gbd.wywquiht u3
swinuluny 0,1 50820,0 5082,0
4 | Ununph b bph pwjpwiwd phinnnut gfuwdwubph d3
Yuquwwnu wulidwgnpdhpny, puwnénud 0,0 26780,0 0,0
wywnnhuptwpwt 0.65d3 stpbthny Epulwydwnnpny
5 | whnuipnfund [gulynywn 7.04d nnl 0,0 700,0 0,0
6 | Unwnpnu U bpnud gluwdwutph hpwlwiwgdwt hwdwp d3
thnunpwlh thnpnud 0.6543 2iptithny tpuljuwduinnpny, 0,0 670,0 0,0
gpnunh wwhbutnwynpnw IV(10k)
7 | giuwdwubph hpwlwlwgdwt hwdwp d3
bwhiwwwunpwunwlwl obpn futng 0.0 13750,0 0.0
8 | giuwdwubph hpwlwuwgnid B20, F100 d3 0,0 105850,0 0,0
8* htuwlwipt wwnwdh dhwany pbnnu B20 d3 1,0 77950 77950,0
9 Zhwnwnwpd hgp bpuywdwwninpny/0.65d3/,9pnuiny L u3
unwgdwdp 0.0 1220,0 0,0
10 | pnuwd hnwh dbg pwpwiht thgph hpwlwbwgnud d<0.34d d3 0,0 6030,0 0,0




LY45+410 @1.0d b/p tunnnduwl, dnunpp wehg

0,0
1 funnnyuwyh dninph b Bph dwppnud gpniuiinhg 0.65d3 U3 0.0 560.0 00
obiptithny Epulwydwwnpny, pwpdnu wyunnhuptwpwih ' ’ ’
2 nbnwithnfunu jguynywn 7.04d nnl 0,0 700,0 0,0
’ u3
3 funnndwyh dheh dwppnuw gpniiinhg &knpny, 0.0 1970.0 0.0
Ynywnwdnpnud 1133y
4 pwpanud dtnpny wywnnhuptwpwih b inbnwithnfunud wnnlu
lgwlynywn 74d hbnwynpnipjw ypw 11334Y/norpyska TOH 0,0 1090,0 0,0
BPYYHYHO NEPEBO3Ka B OTBaN 7kM
5 &/p funnnyuwlh Yupbph puignud gbd.wywquht d3 o1 50820.0 5082.0
wnuifuny
6 | Unuwnph U biph pwjpwyjwd phnnub glluwdwubiph d3
Juqdwwnnud wubidwgnpdhpny, pwpanu 0,0 26780,0 0,0
wynnhuptwpwit 0.65d3 ptptithny tpulwywinnpny
7 | whnuihnfundd (gulnywn 7.04d wnnl 0,0 700,0 0,0
8 Unwnpnid b Gipnud unp pubiph ppwlwtwgdwy hwdwp u3
thnunpwyubiph thnpnud 0.65d3 obiptithny Epulwydwwnnpnd, 0,0 390,0 0.0
gnniunh wwhbuwnwynpnad 11(334)
9 gliuwdwubiph hpwywuwgdwu hwdwp U3
Lwhiwwwnpwunwlwl 2tpn jung 0.0 13750,0 0.0
10 | g{uwdwubph ppwlwuwgnud B20, F100 u3 0,0 105850,0 0,0
10" h&u u dp Jhwa bunu B20
whuyhl unnuidh dpudnyg phun 43 1,0 77950 77950,0
1| <bwnwnwpd (hgp bpulwdwinnpnd/0.65d3/,9pnuing L d3
hunwgdwdp 0,0 990,0 0,0
L4d46+150.0 @1.0d b/p funnnyuwly, dnunpp wehg o
1 funnnquwyh dnuwnph b Bph dwppnud gpniuiinhg 0.6543 d3
2tipbthny Epulwdwunpny, pwpdnwd wywnnhuptwpwih 0.0 560.0 0.0
2 nbnwhnfund igulynywn 7.04d wnnl 0,0 700,0 0,0
3 | unnnyuwyh dhoh dwppnud gpniiinhg bnpnd, d3
Ynywnwdnpnud, pwpand wdunhupwpwd 11334 0.0 1970,0 0.0
4 | pwpanu dbnpny wyinnhuptwpwih b inbnwinfunud tnu
(gwlnywn 74d htinwdnpnueywu Ypw 11334 0.0 1090,0 0.0
5 | &/p unnndwlp Yupbph pwignd gbd.wdwquht U3
swinuwtuny 0,1 50820,0 5082,0
6 | Ununph puypwjywséd phuinnub gqluwdwup ugdwnnw u3
wubdwgnpdhpny, pwpénul wywnnhupiwpwth 0.6503 0,0 26780,0 0.0
gbntithny Epuljuwiunnpny
7 | wbnuipnpund lgwynywn 7.04d wnnu 0,0 700,0 0,0
8 | hunnnyuwyh bph Ubppht hELwwwwnh Jepht hdhe.=0.84 d3
puwjpwywd hwindwsh fugqdwunnud wulidwgnpdhpny,
dhwppbgnu, peynpubph pwpénud wywnnhuptwpwih 0,0 26780,0 0.0
0.65d3 2tiptithny Epuljwywwnnpny
9 | wmbnuihnfunud |gwlnywn 7.04d nnu 0,0 700,0 0,0
10 | Ununpnud glluwdwup hpwwbwgdwt hwdwp hwdwp d3
thnunpwlutiph thnpnud 0.65d3 2tipkithng Epuljwiwinnpnd, 0,0 390,0 0,0
gpniuwnh wwhbunwynpnad 1(334)
1| gluwdwub wlwuwgdwu hwdw d3
uwusubph huuiivig p 0,0 13750,0 0,0

Lwhwwwwnpwuwnwlwy obpwn fung




12 | guwdwuh hpwlwuwgnd B20, F100 u3 0,0 105850,0 0,0
12* | hbuwlwhu wnwdh dhwény| pinnu B20 d3 0,5 77950 38975,0
: ! 3
13 | <Biwnwnd (hgp tpulwdwnnpny/0.65d3/,9pnudny L d 0.0 990.0 0.0
funwgdwdp
14 | bph hEbwwwwnh Jepwunpngnud gbid.wdwquyht d2
qwnuiuny h=5ud’ bwhiwwbu danwnwlwt guigh 70,0 6160,0 431200,0
wnbnwnpnwny, (100x100)dd @4 Bp- |, P=0,139wn
15 | bpnud htbwwwinh wétignud dhwany| ptinnunyg’ 1,2x0.44, d3 9.6 65870.0 632352.0
L=20.0d
L4i46+540 @1.0d b/p funnnyuwly, dnunpp wehg 8.6
1 funqnywlh dnunph b Bph dwppnud gpniunhg 0.6543 d3
2tiptithny Epuljwyuwnpny, pwpdnud wynnhuptwpwih L 0,0 560,0 0,0
wnbinwihnfunud \gwynywn 74d hen. ypw
2 wnbnwihnfunud (guynywn 7.04d nnl
nepeso3ka B otean  /.0km 0.0 700,0 0.0
3 funnnquwyh dhoh dwppnu gpniuinhg dkinpnd, u3 0 1970.0 0.0
Ynywnwynpnw, pwpdnu wdunnhuptiwpwd b 1334 0, : ’
4 pwpanw dtnpny wywnhuptwpwih b inbnwihnfund wnnu
lgwynywn 74d hbnwynpnigjwt Ypw 11334 0:0 fuese 0.0
5 &/p unnnuwlh Yupbph jpuignud gbd.wyqwquihu d3
82,0
swnuwfuny 0,1 50820,0 50
6 | Ununph pwjpwjywd pbiunntb giluwdwuh Yugdwnnud d3
wulidwgnpdhpny, pwpanid wynnhuptiwpuwh 0.6543 0,0 26780.0 0.0
2bpbithny Epuluiduiinnpny
7 wnbnwihnfunud guiynywn 7.04d wnnu 0,0 700,0 0,0
8 Ununpnd gluwdwuh hpwlwbwgdwl hwdwnp hwdwp d3
thnunpwlubiph thnpnwd 0.65d3 gtpbithny Epuywywinnpny, 0,0 390,0 0,0
gpniuwnh wwhbuwnwynpnu 11(334)
9 | guwdwubph hpwhwuwgdwl hwdwp u3
Uwhiwwwwnpwunwlwu 2bpn fubng L 13750,0 0.0
10 | Unwnpnud dhwdény| phnnut guwdwuh hpwlwbwgnid U3
B20, F100, swih 4.0x3.2x0.40 0.0 105850.0 0.0
10* | hbbwlwiht wwnwdh dhwdny pbunnu B20
Ksionirsd d3 0,5 77950 38975,0
1| <hnwnwnd (hgp tpulwdwunnpny/0.65d3/,9pnudny L d3
hunwgdwdp 0,0 990,0 0,0
12 | Gph gluwdwuh unpngnul gbid.wywquiht punuwfuny u2
M200. h=5ud 15,0 5820,0 87300,0
4J46+680 01.04 b/p junnnduwly, Ununpp wehg -
1 runnnqwlh dnunph dwppnud gpnituinhg 0.6543 gtpkthnyg d3
Epulwywuinpny, pwpdnd wyinnhuplwpwih 0.0 960.0 0.0
2 nbnwihnfunud guynywn 7.04d wnnu 0,0 700,0 0,0
3 | 6/p unnnywlh Yupbph puignud gbd.wywquiht u3
swnuiuny 0,1 50820,0 5082,0
4 Ununph U biph pwjpwyqwéd pbnnub gluwdwubph d3
Yuwgdwunnuw wubdwgnpdhpny, pwpdnid
wywnnhuptwpwth 0.6543 sbptthny tpulywywwnnpny L 0.0 26780,0 0,0
inbnwihnfunud |gulinywn 7.0
5 nbnuwhnfunwd |gulnywn 7.04d wnnl 0,0 700,0 0,0
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2 nbnwhnfunwd [gulynywn 7.04d nnu 0,0 700,0 0,0
3 | t/p unpndwlh Yupbph puignud gbd.wydwquiht d3 0. 50820.0 5082.0
2wnuwfuny
4 | Ununph U biph pwjpwyywsd phinnub giuwdwubph K]
Yuqdwwnnd wuldwgnpdhpnd, pwpdnud 0,0 26780,0 0,0
wywnnhuptwpwih 0.6543 sbptithny tpulwydwinnpny b
5 inbnwihnfunud |gwlynywn 7.04d wnnu 0,0 700,0 0,0
6 Ununpnud b Gipnud giiuwdwubph ppwljwbwgdwl hwdwp U3
thnunpwlh thnpnud 0.6543 2tiptithny Epuljwywinnpnd, 0,0 670,0 0,0
gnniunh wwhbuwnwynpnd IV(10k)
7 glluwdwubph ppwiwiwgdwu hwdwp a3
Lwhiwwwwnpwunwlwl gbpwn futing 0.0 137500 0.0
8 | dpwdny pbuinub qluwdwubph hpwlwuwgnud B20 d3 0,0 105850,0 0,0
8" hEuwywiht wwnwdh dhwany pivinu B20 d3 1,0 77950 77950,0
< & 0.6543 dng b d3
9 bunwnwpd |hgp Epuwdwinnpny/ /,opnudny 0.0 1220.0 0.0
fuinwgdwdp
10 | bpnwd hnwh dbe pwpwiht thgph hpwlwbwgnud d<0.34d u3 0,0 6030,0 0,0
447+640.0 ©1.25d b/p unnnywy, dnunpp wehg 0.0
1 Funnnywlyh dnunph Jwppnud gnpntuiinhg 0.65d3 gbpbithnyg d3 0.0
Epulwdwwnpny, pwpdnud wdnnhupbwpwth 0.0 9600 :
2 | whnudinfund lgulynywn 7.04d nnu 0,0 700,0 0,0
3 Funnndwlyh dhoh dwppnud gpnitiinhg &knpny, d3
Ynywnwynpnud, pwpdnud wywnnhupuwpwi 1133y 0.0 19700 0.0
4 pwpdnud dbnpny wywnnhtptwpwih b nbnwgnfunud tnnu
gwlnywn 74d hbnwdnpnipywt dpw 11334 0,0 1090,0 0,0
5 &/p funnnquwlh Yuwpbph ppuggnud gbd.wdwquht u3
swnwfuny 0,1 50820,0 5082,0
6 Ununph pwjpwjywéd phwnnub gluwdwutbph Yugdwnnd U3
wulidwgnpdhpny, pwpdnud wywnnhuptwpwith 0.65d03 0,0 26780,0 0,0
2bptithny Epuljwwinnpny
7 | wbnuihnfundd lgulynyun 7.0yd nnu 0,0 700,0 0,0
8 Untnpnud gifuwdwuh hpwywuwgdwt hwdwp thnunpuwyh d3
thnpnwd 0.654d3 2bipbthny Epulywydwinnpny, gpniunh 0,0 670,0 0,0
wwhbuwnwynpnid IV(106)
9 | giuwdwuh hpwywuwgdwl hwdwp u3
bwhiwwwwnpwuwnwlwu obpn futnyg 0.0 13750,0 0,0
10 | Ununpnud dhwany) pbivnub guwdwuh hpuluwtwgnid u3
B20, F100, swih 4.6x3.2x0.4d B9 195830.0 $42065.0
10* | hbuwlwiht wnwdh dhwény| pbnnt B20 u3 0,5 77950 38975,0
1 Chnwnwpd (hgp tpulwdwnnpny/0.6543/,9pnuiny b d3
funwgdwdp 0.0 1220,0 0,0
12| Gph htuwwwwnh hhdph U hpwth funnngubph pugnud d3
Shwény| pbnntnd, B20, F100: 1.8 63700,0 114660,0
13 | Gph hbuwwwwnh JEpwunpngnud gbid.wywqught U2
awnwiuny h=5ud’ Uwfuwybu denwnwlul guiugh 70,0 6010,0 420700,0
inbnwnpnuiny, (100x100)dd @4 Bp- |, P=0.139un
14 | Gpnul hEbwwwwnh dpw wywpwwbinh hpwlwbwgnud 5.4
- o drus uppuinh hirulputing " 20,0 34260,0 6852000

dhwdny| piinuny’ 0.8x0.44, L=20.04:/6.443

4d47+960.0 @1.0d b/p funnnywly, dnunpp wehg

0.0




1 Ununph b bph pwjpwjjwd peinnub glluwdwubph d3
Yuwqdwinnud wulidwgnpshpny, pwpand
wyinnhplwpewth 0.6503 sbptithny tpuljwdwinnpnd b 0.0 26780,0 0,0
nbnwthnfunw lgulynyunn 7.0
2 nbnwihnfunw guynywn 7.04d wnnl 0,0 700,0 0,0
3 Ununpnud b Gipnud gqiuwdwubiph hpwwbwgdwy hwdwn d3
hwdwp thnunpwlubph thnpnd 0.6543 2biptithny
Fpulwdwinnpny, gpniuinh wwhbBuwnwynpnud [1(334) 0.0 900,0 0.0
4 glluwdwubph hpwlwlwgdwl hwdwnp d3
Lwhiwwywwnpwunwlwl bpun fubny G.a 13750:0 9,0
5 pbuinnub qluwdwubph hpwlwuwgnud B20, F100, d3 0,0 105850,0 0,0
57 hbbwlwiht winwdh dhwédny| pnntu B20 d3 1,0 77950 77950,0
: ; d3
6 ;l‘:nmwu;rsirl}dp thgp Epulwdwinnpnd/0.65d3/,9nnuiny L 0.0 990,0 0.0
L4U49+460 1.0d b/p funnnyuwly, dnunpp &wluhg 0,0
1 funnnquwyh dnunph dwppnu gpniuinhg 0.6543 skipkithng d3 0.0 560.0 0.0
Epuywywwnpny, pwpdnd wyunnhupuwpwih ) : !
2 nbnwthnfund |gwynywn 7.04d wninl 0,0 700,0 0,0
3 Ununph pwjpwdwd pbwnnub glluwdwuh Yugqdwwnnid d3
wulbidwgnpdhpnd, pwpdnud wwnnhuptiwpwih 0.6543 0.0 26780,0 0,0
2tptthny Epuluwnnpny
4 inbnwihnfund jguynywnn 7.04d il 0,0 700,0 0,0
5 | Ununpnud b Bjpnud gqluwdwubiph hpwlwbwgdwt hwdwp u3
thnunpwlh thnpnwd 0.65d3 stpbthny Epuljwduwinnpny, 0.0 670.0 0,0
gnniunh wwhbuwnwynpnud 1V(106)
6 | guwdwubph hpwywuwgdwy hwdwp a3
twhiwwywwnpwunwlwl gbpun fubny: 0.0 13750,0 0.0
7 Ununpnud dhwany| pennub giluwdwuh hpwlwbwgnud d3
B20, F100, swth 3.2x3.0x0.44 0.0 105850,0 0.0
7% | Ununpnud dhwdny| plnnub gluwdwup hpwlwtiwgnid d3
B20, F100, swih 3.2x3.0x0.44 0.0 105850,0 0.0
8* huwlwiht wunwdh dhwény| pnnu B20 d3 0,5 77950 38975,0
8 Chunwnuwiné (hgp Epuljwywnnpny/0.654d3/,9pnuiny L d3
futnwgdwdp 0,0 1220,0 0,0
4d49+370.0 Uhwany| pwnnub ubippht hEbwwwn whg,
L=40.04, hdhe.=3.04 0,0
1 <Buwwjuwnh Gpbuh dwppnud gpnitiinhg dbnpny, pwpdnud d3
winnhbptiwpwth 11334 3.5 1970,0 6895,0
2 | pwpénul dbnpny wynnhuptwpwih b nbnuignfuna nnu
lgwlnywn 74d hEnwynpnyeywt Ypw 11334 6.1 1090,0 6676,3
3 Chuwwwnh Bpluwjupny fupwdninnt thnpnwd &knpnd, d3
gnntunh Ynyuwynpne 10,0 5090,0 50900,0
4 30% pwpdnui wywnhuptwpwth pwpénwd dbnpny nnl
wynnhtpbwpwih U inbnuihnfunu iguynywn 74d 59 1090,0 6376,5
htnwynpnigjwt Ypw 11334
5 | <bUwwwwnh funnnsub wgnud dhwany| pEwnnuny, B20, u3
R R g Lt 15 63710,0 95565,0
6 LhUwwwin wunud hnphgnuwlwu hnpwwnwugpt h T
sl ¢ e e 240,0 1300,0 312000,0

hnpwwnnud quiyhynudwt dhongny L=0.24, d=0.034




16 Alll
7 | <bbwwwwnh hpwunwd wynnujwnb ruu,l[jlhu['u'ubph 016 All wnnu o 822060.0 99715.9
wwinpwuwnud b inbqunpnud L=0.324:
8 Swdwpnipnuwiht @100 dd wnjhkrhGuwhu gd.d 16.8 2580.0 43344.0
funnnywlubp
9 Lhuwwwwnh hpwuh Jepwunpngnud dhwdnyg u3
wdpwuwynpywsd phwnnuny B20 , F200,hdhe.=15ud, 18,0 87060,0 1567080,0
wdpwh wwpniwwyngniup @10 Alll=886.84g:
Alll @104d/mm nnu 0,9 734940,0 651744,8
8 Lhuwwwwnh Ypw dhwany) pbnnub hpwlwiwgnud B20 , d3
F200" hwiwhwppbgnuing, 2uwih’ 0.2x0.55, L=404, it A2 iasRat
41d50+040.0 ©1.04 b&/p funnnywl, dnunpp wehg 0,0
1 Ununph b tiph pwjpwyjwd ptivinub gluwdwutiph d3
Juqdwwnnud wulidwgnpdhpny, pwpanud 0,0 26780,0 0,0
wywnhuptuwpwth 0.65d3 2bpbihny tpuljwywnnpny
2 | wbnuihnfund guynywn 7.04d nnl 0,0 700,0 0,0
3 Unuwnpnud b Gipnud giluwdwubiph hpwwtiwgdwt hwdwp d3
hwdwp thnunpwlubph hinpnud 0.65d3 gbipkithny 0,0 390,0 0,0
Epulwwinnpny, gpniunh wwhbuwnwynpnwd
4 gliuwdwubph hpwlwuwgdwu hwdwp u3
Lwhiwywinpwunwlywl 2bpn funyg 0,0 1540,0 0,0
5 phwnnub gqluwdwubph hpwlywuwgnd B20, F100, d3 0,0 105850,0 0,0
H5* heuwlwiht winwdh dhwény| punu B20 d3 0,5 77950 38975,0
6 | <bwwnwpd (hgp tpulwduwinnpny/0.65d3/,opnudny L d3
futnwgdwdp 0,0 990,0 0,0
4i50+450 @1.0d b/p funnnqwly, dnunpp wehg 0,0
1 funnnquyh dnuwnph b Giph dwppnud gpntunhg 0.6543 d3
2apthny Epuluiuinpny, pwinénud wywnnhuptwpwh 0,0 560,0 0,0
nbnwthnfund iguynywn 74d hen. Ypw
2 | wbnuihnfund gwiynywn 7.04d nnu 0,0 700,0 0,0
3 | hunnndwlh dhoh dwppnud gpnitiinhg dtinpny, d3
Ynyinwynpnud, pwpdnud wynnhuptwpuih b 0,0 1970,0 0,0
nbnwihnfunud jguynywn 74d hbnwdnpnipjwu Ypw 11334
4 pwpénw dbnpny wywnnhtupuwpwih b nbnwihnfund wninl
lgwlnywn 74d hbnwynpnigywt Jpw 0.0 1090,0 0.0
5 Ununph b Gph pwjpwjjwd ptinnub giluwdwubph d3
Yuwqdwwnnd wulidwgnpdhpnd, pwpanud 0.0 26780,0 0,0
wyinnhupuwpwt 0.6543 2bpbihny tpulwywwnnpny
6 nbnwihnfunud jguynywnn 7.04d wnnl 0,0 700,0 0,0
7| Unuwnpnud b Gipnud gifuwdwubph hpuwlwtiwgdwy hwdwp d3
thnunpwlyh thapnud 0.65d3 ztiptithny Epuljwywinnpny, 0,0 670,0 0,0
gpniunh wwhbuwnwynpnd 1IV(106)
8 | quuwdwubph hpwhwuwgdw hwdwp u3
Uwhiwwwwnpwunwlwu 2bpn jubng 0.0 13750,0 0.0
9 | Ununpnud L Gpnud dhwény) pbwnntb gifuwdwutiph d3
hpwlywuwgnu B20, F100, 0.0 105920,0 0,0
9* hEuwlwjht wwnwdh dhwany| pbunt B20 d3 0,5 77950 38975,0
10 | <bwnwnwpd thgp tpuljwywwnnpnd/0.6503/,9pniing d3
funwgdwdp ’ 3 i g 0,0 1220,0 0,0
4Wi50+630 @1.0d b/p funnnyuwly,” @1.0m 0,0
1= | tunnndwlyh dnuwnph b Gph Jwppnud gpnituinhg 0.6543 d3
nny ph U tiph dwppnud gpnitnhg 0.0 560.0 0.0

2tipthny Epulwywwpnd, pwpdnd wywnnhiptwpwih




2* | wbnuwihnfunud |gulnywn 7.04d nu 0,0 700,0 0,0
3 | Ununpnud b bjpnud dhwany| pininub qfuwnhph u3

hpwlwlwgnud B20 0,0 105850,0 0,0
4x hEuwwjht wwnwdh dhwanyp pnnu B20 d3 1,0 77950 77950,0

4U50+680.0 Uhwany| ptwnnut Jbpht htbwwwin wehg, 0.0

L=15.0d, hdho.=1.54 '
1 Chbwwwnh Bphuyupny fupwdninnt tinpnud Ebnpny, u3

gpnitunh Ynywwdpnud 53 5090,0 26722,5
2 30% pwpénu dbnpny wywnhuptwpwih b nbnuihnfunud wnnu

[gwynywn 74d hEnwynpniejwu Ypw 3 99,9 S0t
3 :1%UOL{1u4wmh funnngubiph [pwgnud dhwény| piwinuny, B20, u3 05 63710.0 31855.0
4 Chuwwwinh hpwunud hnphgnuwlwt hnpwwnwtgpbph hwun

hnpwunnud quyhynudwt dhongny L=0.2d, d=0.03d 60.0 1300.0 780000
5 | <buwwwwnh hpwunwd wynnwwnb fuwphufulbph @16 Alll Nt

wwinpwuwnd b inbnunpnud L=0.324: 0.0 822060.0 24661,8
6 | <Buwwwwnh hpwuh Yepwunpngnud dhwany d3

wdpwuwdnpywd phnntng B20 , F200,hdhg.=15ud, 45 87060,0 391770,0

wdpwuh wwnpniwwlnuyeiniup @10 Alll=221.74g:

Alll @10dd/mm nnl 0,2 734950,0 162938,4

4d50+710.0 Uhwény| phwnnub Ybpht hbliwwwin wehg, 0

L=32.0.04, hihg.=1.24 .0
1 <hbu b d d u ab : anuw d3

wqmu:‘?;;mp”wb;h tppnitgnnlinihg GRGY, spanl 35 1970,0 6895,0
2 pwnanud dbnpny wywnnhtpuwpwih b wbnwihntunwd wnnl

lgwynywn 74d hbnwynpnugjw Ypw 6.1 1020.0 6676,3
3 <buwwwinh Gpluytpny fupwdninne thnpnwd dbnpny, u3

gpatinh Ynyunwynpned 8,0 5090,0 40720,0
4 | pwpdnu dtinpny wywnnhupiwpwth b nbnwidnfunud nnu

|gwlnywn 74d hbnwydnpniejwt Ypw 47 10900 5101,2
5 | <ku ub d dhwa Gunnuny, B20, u3

g T iR Ghisany phinlin] 1.2 63710,0 76452,0
6 | <blwwwinh hpwunwd hnphgnbiwlwt hnpwwnwugpbph hwn

hnpwwnnud quiihynudwu dhengny L=0.2d, d=0.034: 77,0 1300, 100100,0
7 CGuwwwwnh hpwunwd ninnwhwjwg hnpwinwugpbph hwn

hnpwnnud quyihyntdul dhengny L=0.24, d=0.034: 64,0 1030,0 65920,0
8 | <bbwwwwnh hpwund wnnwwnt fuwphutuitph @16 Alll nnl

wwwpwunnd b wnbnwnpnud L=0.324: 0.1 822060,0 98366,3
9 Cbuwwwinh hpwh Yepwunpngnud dhwany; u3

wipwuwynpdwd pawnnuny B20 , F200,hdhg.=15ud, 8.2 87060,0 710409.6

wdpwuh wwpniwynipiniup @10 Alll=402.024q:

Alll @10dd/mm nnl 0,4 734940,0 295592,9
10 | <Buwwwinh wébgdwl hwdwp hbuwwwwh Ypw dhwdny d3

pbunUh hpwluwtiwgnud, swih® 0.4x0.5x324: 6.4 72710,0 465344,0

4U50+724.0 Uhwéiny( pbnntib ubippht hEUwwwin

duwiuhg, L=11.04, hihg.=2.24 0.0
1 CEuwwwnh funnngut wgnu dhwany pewnnuny, B20, d3

Lo, Wasth punnaghiph ipusgnu shuising plunsitien 15 63710,0 95565,0
2 Cbuwwwwinh Eplwupn wdninnt thnpnud dknpnd, u3

A Pypra e g 2tagng 3,0 5090,0 15270,0

gpniuwnh Ynywnwynpnud




30% pwpanud dbinpny wywnnhptiwpwih U tnbnwthnunu
lgwynywn 74d hbnwynpnuyeywt Jpw 11334

nnl

1.8

1090,0

1913,0

CEbwwwwnh hpwtndd hnphgnuwlwl hnpwwnwlgptiph
hnpwwnnud quyhynudwt dhongny L=0.24, d=0.034

hwin

48,0

1300,0

62400,0

<bwwwiinh hpwunw! ninqwhwjwg hnpwwnwlgptiph
hnpwunnul quihynudwl dhengny L=0.24d, d=0.034:

hwwn

44,0

1030,0

45320,0

Chuwwwwnh hpwunw wnnuwwnb uwphututbph @16 Alll
wwinpwuwnnd b inbnunpmd L=0.324:

wnnl

0,0

822060,0

38225,8

Chuwwwinh ppwih Yepwunpngnd dhwany;
wdpwuwynpywd pkivinunyg B20 , F200,hdhe.=15ud,
wdpwuh wwpniuwlniginiup @10 Alll=219.48lq:

d3

4,5

87060,0

388287,6

Alll @10dd/mm

wnnu

0,2

734940,0

161304,6

Swdwpnipnuwiht - 9100 Jd wnihkphiBuwhl
funnnduwlubn

gd.d

2,0

2580,0

5160,0

CEuwwuwinh Ypw dhwany| peinnub hpwlwlwgnud B20 |
F200" hwdwhwpebgnuiny,
Quith’ 0.3x0.55, L=11.04,

u3

72710,0

132332,2

10

<buwwwwnh dpw ywpwwbnh hpwywtwgnud dhwényg;
phiinuny, swih 3.4x0.6x0.4d (dhwény| pbwnnub
wwpwuwtinnh pinyubiph dhgle hbnwynpnugjniup punnity
0.44)-3 hwuw:

qd.d

10,2

28410,0

289782,0

4U50+773.0 Uhwany| ptivinut bpht hbuwwjwn wohg,
L=60.0d, hdhg.=2.54

0,0

Cbuwwwinh Bptiuh dwppnid gpntinhg dknpny, puwndnud
wywnnhuptwpwth 11334

d3

25

1970,0

4925,0

pwnéanu dtinpny wiinnhtptwpwth U nbnwihnfunw
gwynywn 74d hinwdnpnipiwt Ypw 1133y

unnl

4.4

1090,0

4768,8

LGuwwwwnh Bpluyupny fupwdnnnt thapnw dbnpnd,
gpniuinh Ynyunwynpnud

U3

15,0

5090,0

76350,0

30% pwpdanu dbinpny wywnhtpbwpwih L nbnwidinfunud
(gwynywn 7yd hinwnpnipjwt Ypw 1133y

nnlu

8.8

1090,0

9564,8

Lbuwwwinh funangubiph (pugnud shwény) phunnuny, B20,
F100:

d3

63710,0

76452,0

CEuwwwwnh hpwunw hnphgnuwlwl hnpwinwgptinh
hnpwunnud quiihyntudwt dhongny L=0.2d, d=0.03d

hwn

300,0

1300,0

390000,0

LEUwwwwinh hpwtnwd wnnwwnt fuwphufutbph @16 Alll
wwwpwuwnnd b wnbnwnpnud L=0.324:

nnl

0,2

739850,0

112161,3

Swdwpnipnwihu 6100 dd wnihtphibuwhu
funnnuwlubp

gd.d

26,4

2320,0

61248,0

Cbuwwwinh hpwuh Ybpwunpngnud dhwany;
wdpwuwynpywd ptivinung B20 , F200,hihg.=15ud,
wdpwh wwpniwynipyniup @10 Alll=1108.5Ygq:

d3

22,5

78350,0

1762875,0

Alll @10dd/mm

nnu

734940,0

814681,0

bUwwwwnh Jnpw dhwény| pnntb hpwlwlwgnad B20
F200" hwidwhwpplgnuwiny, 2wth' 0.1x0.55, L=604,

u3

3,3

72710,0

239943.0

4d50+818.0 Uhwany pbnntb ubippht hblwwwn &wluhg,
L=19.0d, hdhg.=1.04

0.0

Cbuwwwnh funnngubiph Ipwgnud dhwdny pbwnnuny, B20,
F100:

d3

1,2

63710,0

76452,0




Chuwwwwnh BpYwjupny fupwdnunt thnpnud dbnpnd,
gpniunh Ynyunwydnpnid

d3

4.8

5090,0

24177,5

30% pwpdnw dbnpny wywnnhuptwpwth b nbnuwdnfund
lgulynywn 74d hbnwynpniejwt Jpw 11334

innu

2.8

1090,0

3028,8

Cbuwwwnh hpwunwd haphgnuwlwt hnpwunwugpbiph
hnpwunnud quythynudwt dhongny L=0.2d, d=0.03d:

hwin

38,0

1300,0

49400,0

CEuwwwnh hpwunwd wnnwwink luwphufuutph 16 Alll
wwupwuwnnid b inbnwnpnud L=0.324:

nnu

0,0

822060,0

15783,6

Chuwwwwinh hpwuh Jepwunpngnud dhwdnyg
wdpwuwynpdwd phwnnuny B20 |, F200,hdhe.=15ud,
wdpwuh wwpniwynuyziniup @10 Alll=140.414q:

d3

29

87060,0

248121,0

Alll @104d/mm

wnnu

0,1

734940,0

103192,9

LEuwwwinh ypw dhwdny pbunnub hpwlwtwgnd B20
F200" hwdwhwppbgnuwing,
Quith’ 0.1x0.55, L=19d

d3

72710,0

75618,4

4Ld50+826.7 Uhwdny| pbuinnub bbippht hbuwwwwn wehg,
L=50.0d, hdhe.=3.8d

Lbuwwwwnh funnngubph pugnd dhwdény) pivinunyg, B20,
F100:

d3

63710,0

114678,0

Cbuwwwnh Yepwunpngnud gbd.wdwquiht swnwiuny
hdhe.=6ud’ twfuwwbu dEnwnwlwu gwugh
nbnwnpnuiny, (100x100)dd @4 Bp- |, P=0.376un:

d2

190,0

6480,0

1231200,0

EUwwwwnh hpwunw ninnwhwjwg hnpwwnwugpbiph
hnpwwnud quyhynudwt dhgngny L=0.24, d=0.03d:

hwun

198,0

1030,0

203940,0

CEuwwwwnh hpwunwd wnnuwunb uwphufuttph @16 Alll
wwwnpwuwnnwd b nbenwnpnd L=0.324:

nnu

01

822060,0

82206,0

Swdwpnipnuiht 8100 dd wnihkphituwhu
funnnqwlubp

gd.d

21,6

2580,0

55728,0

CEuwwwwnh Ypw ywpwwbinh hpwlwtwgnud dhwany
phwnnund, swih 4.0x0.6x0.4d (dhwany| phnnub
wwpwwbwh pinyubiph dhole hbnwynpnuginiup punndutby
0.64)11 hwuwn

gd.d

44,0

28270,0

1243880,0

Ld50+877.5 Uhwany| pbiwnub gwlwuwjwin dwiuhg,
L=60.0d, hdhe.=0.84

0,0

Chuwuwwinh Ybpwunpngnud dhwény| phnnub swwhlyny'
hihe.=10.0ud’ bwhiwwbu denwnulwl guugh
wnbnwnpnuing, (50x50)dd @4 Bp- I, P=0.19un:

d3

4,8

87060,0

417888,0

guug 50x50dd

d2

48,0

3230,0

155040,0

L4d50+896.8 Uhwany| phunnub ubippht hbblwuwwn whg,
L=58.0d, hihg.=2.84

0,0

Chuwwwnh funnngubiph pwgnud dhwaény) pawnnund, B20,
F100:

a3

5,5

63710,0

350405,0

Swdwpnipnuwiht @100 dd  wnihkphtuwhu
funnnywlutip

gd.d

21,0

2580,0

54180,0

CEbwuwwnh ulgphg L=46.0d hwindwsh Ybpwunpngnud
gbd.wlwquiht wnwiuny hdhg.=6ud’ bwhiwwtu
dEnwnwlwl gwugh wnbnwnpnuwny, (100x100)dd @4 Bp- |,
P=0.255wn:

u2

128,8

6480,0

834624,0




LEbwwwinh Ytipghg L=12.0d hwwndwénud hbuwwwinh

tpywjupny fupwdninnt thnpnud dbnpnd, gpniunh
Ynywwynpnid

d3

3,0

5090,0

15270,0 -

30% pwpanu dbnpny wywnnhuptwpwith b inbnwinfunud
[gulynywn 74d hinwydnpnipjwu Jpw 1133y

nnu

1090,0

1913,0

Chuwwwwnh Ybipghg L=12.0d hwwndwédnid hbbuwwwinh
hpwunud hnphgnuwlwl hnpwwnwugpbph hnpwunwd
gqujihynudwt dhongny L=0.24, d=0.034:

hwwn

60,0

1300,0

78000,0

L=12.0d hwwndwdnwd hEuwwwwnh hpwund wynnwwwnb
fuwphutuubph @16 Alll wwwnpwuwnnd b nbnwnpnud
L=0.324:

wnnu

0,0

822060,0

24661,8

Zbuwwwuwnh Ybpghg L=12.0d, h=2.0d hwwnywdnud
hbuwwwwnh hpwuh Jepwunpngnud dhwany|
wdpwlwynpywsd pbnnunyg B20 , F200, hdhe.=20ud,
wdpwuh wwpniwynugniup 010 AllI=221.04g

u3

6,0

87060,0

522360,0

Alll @10dd/mm

nnu

0,2

734940,0

162421,7

Chuwwwunnh Ybpghg L=12.0d hGuwwwwnh hpwund
ninnwhwywg hnpwwnwugpbph hnpwnnud quyhynudwt
dhgngny L=0.2d, d=0.034:

hwwn

46,0

1030,0

47380,0

Lhuwwuwwnh Jbpohg L=12.0d hbuwwwinh hpwunud
wnnujwinb fuwphuputph @16 Alll Wwwnpwuwnnw b
nbnwnpnud L=0.324:

wnnl

0,0

822060,0

18907,4

Lhuwwuwinh dbpohg L=12.0d hbbwuwjwwnh Jpw
wwnwwtiinh ppwlwuwgnid dhwany| plininuny,
swih 3.6x0.6x0.44d (Jhwdany| pbintb wwpwwbunh
pinyubiph dhole hbnwynpnueyniup punniutk) 0.64):-3

gd.d

10,8

28340,0

306072,0

4d50+940.0 Uhwaény| phinnub Ubppht hbbwwuwin wehg,
L=38.0d, huhg.=2.54 -

0,0

Chuwwjwnh funnngubiph pwgnud dhwany) pennung, 820,
F100:

d3

2,5

63710,0

159275,0

CEUwwwwnh Eplujupny fupwdninnt thnpnud dbnpnd,
gpniuinh Ynynwdnpnud

u3

5090,0

7635,0

30% pwpanud dbinpny wywnhtptwpwih b nbnuihnfunud
[guynywn 74d hbnwynpnipjwu Ypw 11334

nnu

0,9

1090,0

956,5

Chuwwwinh hpwunud hnphgnuwlw hnpwwnwugptiph
hnpwwnnu qujhynudwl dhgngny L=0.24, d=0.03d:

hwun

190,0

1030,0

195700,0

Lhuwwjwnh hpwundd wnnuwwnb fuwphuputbph @16 Alll
wwwnpwuwnn b inbnunpnud L=0.324:

nnl

0,0

822060,0

36992,7

Swdwpnipnuihti 100 dd  wnhtehiGuwhu
funnnqwlubp

gb.u

13,0

2058,0

26754,0

LBuwwwnh hpwth Yepwunpngnud dhwdény
wdpwlwynpdwsd pbnnunyg B20 , F200, h=15ud, wdpwuh
wwpniwlyneiniup @10 Alll=842.5yg

d3

17,1

87060,0

1488726,0

Alll @10dd/mm

nnl

0,8

734940,0

619187.0

Cbuwwwinh Ytpgnud L=23.0d hwindwhunwi hbbwuwinh
hpwup Ypw ninquhwywg hnpwinwlgpbiph hnpwwnnad
qujihynudwl dhongny L=0.24d, d=0.034:

hwn

46,0

1030,0

47380,0

CEuwwwnh hpwunwd wnnuwint fuwphufutbph @16 Alll
wwwnpwuwnnd b inbnunpnud L=0.324:

nnu

0,0

822060,0

18907 4




10 | <bbwwuwinh Ypw wwpwwbnh hpwlwbwgnid dhwény; gdd
phwnnuny, swih 4.0x0.6x0.4d (Jhwdny) pbunnub
wwpwwbwnh pinyubph dhele hbnwynpnugyniup punnduby 19,2 30630,0 588096.,0
0.64):-5 hwwn
4d51+000 Uhwdény) pwnub Jbpht hbbwwwin dwhuhg, 00
L=76.04, hihe.=2.84 ’
1 CBLwwwuinh Yepwunpngnut gbd.wywquiht punuwiuny u2
hdhg.=5ud’ Lwhuwwbu dbnwnwlwl gutgh 212,8 6020,0 1281056,0
wnbknwnpnuiny, (100x100)dd 04 Bp- |, P=0.421w:
2 | Swdwpnipnuihtt 9100 dd wnihkphbuwhu qd.d 15.0 2580.0 38700.0
funnnduwubip
Ld51+063.0 @1.5d b/p unnnduwly, dnunpp dwhuhg 0,0 0,0
1 Funnnuwlh dnunph b Bph dwppnud gpniunpg 0.6503 u3 0.0 560.0 00
2tiptithny Epuljwlwinpny, pwnénwd wyunhupliwpwih ! ' '
2 nbnwithnfunud [guilynywn 74d hbn. Jpw Nl 0,0 700,0 0,0
3 funnnuwlh dheh dwppnud gpniiinhg dbinpny, u3
Ynywwynpnud 1133y 0.0 1970,0 0.0
4 pwpdnud wywnnpuptwpwih b ibnwithntunud gwlnywn 744 wnnl
hbnwynpuejuib dpuw 11334 0.0 1090,0 ep
5 Ununpnud b Bpnud giuwdwubph hpwlwbwgdwl hwdwp u3
thnunpwlh thnpnud 0.65d3 2bpbithny tpuljwdwinnpnd, 0,0 670,0 0,0
gnniuinh wwhbuwnwynpnud 1V(10k)
6 | gluwdwubiph hpwlwbwgdwt hwdwp d3
Lwhiwywwnnpwunwlwy 2bpun fung 0.0 13750,0 0.0
7 Ununpnud b Gipnud dhwany) pinntb giluwdwubph u3
hpwlwlwgnud B20, F100, swih 3.8x3.4x0.44 ol 1058500 0.0
8 | <bwnwnwna |hgp tpulwywinnpny/0.6503/,9pnuing L u3
hunwgdwdp 0,0 1220,0 0,0
4u51+074.0 Uhwany| pivinbb Jbpht htbwwwn dwhuhg,
L=12.04, hdhg.=2.0d 0.0
1 Cbuwwwinh Bplwjupny fupwdninnt thnpnud dtinpnd, u3
gpnilnh Ynywwdnpnid 3,0 5090,0 15270,0
2 | <Buwwwnh plwiupny fupwdninne thapnud dkinpny, wnnu
apninh Ynywwynpnud, 30% pwpanwd wyinnhptwpwih
L inbnwidnfundd (guwlnywn 74d hen. Ypw: 1.8 1090,0 1913,0
3 Chuwwuwinh funnnstbiph ipwgnud, bgpbiph nuipnnud dhwany; U3
pbuinuny, B20, F100: 2,5 63710,0 159275,0
4 | dBbwwwinh hpwlnud hnphgnwlwl hnpwnwtgpbph hwwn
hnpwnnud quihlnuduwt shongny L=0.2d, d=0.030: 48,0 1300,0 62400,0
5 | <Buwwwinh hpwunwd wnnwwint fuwphufutibph @16 Alll nnlu
wwwnpwuwnnd b inbnwnpnud L=0.324: 0,0 822060,0 20551,5
6 | Swdwpnipnwihi ¢100 dd wnjhkphibuwhu qd.d
hunnnyuwljubn 4,0 2580,0 10320,0
7 Cbbwwwinh hpwth YEpwlnpngnud dhwany u3
wdpwuwynpywd ptitninuny B20 , F200,hdhe.=15ud, 45 87060,0 391770,0
wdpwth wwpniwlnigyniup @10 Alll=221.7lq
Alll @10dd/mm wnnl 0,2 734940,0 162936,2
8 | <huwwwwnh Ypw dhwany| pbinub hpwlwl d B20, d3
wunnf dpws husdny p hpulubugnt 0.9 72710,0 65439,0

F200" hwdwhwpplignwinyg, uith' 0.15x0.54, L=124,




4Wi51+107.0 Uhwadny| pbinnub Jbppu hbbwwwn dwhuhg,

L=39.04, hdhg.=1.04 %d
1 CBuwwwinh Ybpwunpngnud gbd.wwquyhl punwiuny d2
hdhg.=5ud’ bwhiwwbu Jhnwnwlwl guwlgh 39,0 6020,0 234780,0
nbinwnpnuing, (100x100)dd @4 Bp- |, P=0.0772wn :
2 <bEbwwwwnh Ypw dhwany| phnnub hpwlwuwgnud B20 | u3
F200° hwiwhwppbgnwing, 2wih' 0.2x0.54, L =394, 3,9 2nge 2605362.0
Ld 51+142.0 Lnp Jbppt hbbwwywwn dwhuhg L=20.04,
0,0
h=2.0d
1 Lnp htuwwwnh Yunnigdwt hwdwp gnjnuyggnis niubignn d3
ptunuh (hbwwwnh) Yugdwinnd wulidwgnpdhpny 0,0 26780,0 0,0
2 nbnwihnfund (gwynywn 7.0yd wnnl 0,0 700,0 0,0
3 V106 gpniunh dpwlynud Epuljuwdwwnnpny/0.65%/, pwpanud d3
w/hlpUwpwihbnh Ypw 0.0 820,0 e
4 nbnwihnfunud (gulynyw 7.04d wnnl 0,0 700,0 0,0
5 | Lnyup wnbnnud Ynunwlynuwdng, hbnwnwnpd (hgph hwdwp d3 0,0 490,0 0,0
6 Pnunpwlp Ybapouwdawlnid dbnpny d3 0,0 6040,0 0,0
7 Udwquynwbdwhu sbipin h=10ud u3 0,0 6300,0 0,0
8 | hlwwwinbiph hhdpbph hpwywbwgnd dhwdny d3
pbinnbhg B20 0,0 64000,0 0,0
9 | <hku Lt u d  B20 pbwnu u3
wwwwh - hpwlttiph hpwlwwgnt pbunuhg 0.0 65870.0 0.0
10 | Hednpdwghnt  Ywpbph hpwlwlwgnd 2 gbpun d2
nnippnhnny phuinudh dwényny (d=2,0ud) 0.0 9830,0 0,0
1| Spniuwnh htin 2dhynn dwybpinypubph gpwdkynwwgnid 2
bplotinun nwp phunudng 91,2 1250,0 114000,0
12| Swdwpnipnh  hpwlwbiwgnud gd.d 20,0 8610,0 172200,0
13| Swdwpnipnwiht  ¢100 dd wnihkphbuwhl gd.d
h_]nrln[lw[{hhn 0,0 2580,0 0.0
14 | <buinwnwnd |hgp tpulwywinnpnd/0.65d3/,9pnuing b u3
huunwgtiudp 108,6 1220,0 132492,0
4d51+216.7 Uhwany ptivinu Ybpht hbwwuin dwfuhg,
L=39.00, huhg.=2.50 0.0
1 Swdwpnipnwih @100 dd wnhkphtuwihl gd.d
hunnnduliutin 8,0 2580,0 20640,0
2 | <huwwwwnh funnnsub wgnul dhwdny| pbwnnuny, B20, u3
i o R L HR 25 63710,0 159275,0
3 | <buwwwwnh Jepwunpngnud gbd.wywquihl swnwtuny u2
hihg.=6ud’ bwhiwujbu dbnwnwluwl gutgh 97.5 6480,0 631800,0
inbinwnpnuiny, (100x100)dd @4 Bp- |, P=0.193w:
4 Chbwwwinh Ypw dhwdny) phinnub hpwlwlwgnid 820, d3
F200' hwdwhuwppbgnuind, 2wth’ 0.1x0.50, L=394, 20 727100 141784,5
4U51+377.5 Uhwdiny| pivinub gwljuwwwn dwluhg,
L=67.00, hdpo.=1.7/ 240
1 Muwwnh Yepwunpngnud gbd.wdwquiht swnuwtuny d2
huhg.=5ud’ bwhiwubu dbnwnuwlwy guiugh 13,9 6020,0 685678,0
inbinwnpnuiny, (100x100)dd @4 Bp- |, P=0.238uwn:
451+430.0 Uhwdny pbintb gwlwwwin dwluhg, 0.0

L=269Lj, hdhg:l .5d
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6 | gluwdwubph hpwlwuwgdwu hwdwp d3
Lwhiwwwwnpwunwlwt 2bpwn futing: 0.0 18%50.0 0.0
7 pbwnnub gluwdwubph hpwlwbwgnud B20, F100 u3 0,0 105850,0 0,0
7 htuwlwiht wwwdh dhwany| pbnnu B20 u3 1,0 77950 77950,0
; u3
8 Lhwnwnuwpd |hgp tpuljwywninpny/0.6543/,9pnwdny b 0.0 990.0 0.0
futnwgdwdp
4W52+180 P0.7d b/p funnnywly, Ununpp dwluhg 0,0
1 funnnwlh dnunph b Bph dwppnid gpniunhg 0.6543 d3 0.0 560.0 0.0
obpbhny Epuljwywwnpnd, pwpdnud wdwnnhuplwpwih J ? !
2 nbnwihnfund jgulnywn 74d hen. Jpw nnu 0,0 700,0 0,0
3 Ununph b Gph pwjpwyjwd phinnub guwdwubph d3
Ywgdwwnnu wulidwgnpdhpny, pwpanid 0,0 26780,0 0,0
wywnhuptiwpwth 0.65d3 sbphthny Epuljwywwnnpny
4 | nbnuihnfunud jguwynywn 74d hbn. Jpw nnu 0,0 700,0 0,0
5 | Ununpnu b Gipnud guwdwubph hpwlwiwgdwt hwdwp d3
hwdwp thnunpwlubiph thnpnd 0.65d3 gbpkithng 0,0 390,0 0,0
Epulwywuwinpny, gpnuuinh wwhbunwynpnud
6 gluwdwubph hpwywuwgdwu hwdwp u3
twhiwwwwnpwuinwlwu 26npn jubny 0.0 13750,0 0,0
7 pbwnnub quwdwubph hpwlwuwgnid B20, F100, u3 0,0 105850,0 0,0
7" hEuwywiht wwnwdh dhwany| pbwnu B20 d3 1,0 77950 77950,0
8 | <buwnwpd hgp bpulwywinnpnd/0.65d3/,9pnuwing L u3
funwgdwdp 0,0 990,0 0,0
4d53+730.0 2.0x2.0d ninnuiulyniu b/p funnnyuwl,
dnunpp dwfuhg &0
1 fFunnnuwyh dnunpnud inbnuinpwd hwywpnyh pinbubiph u3
Yuwpbph ppwignud gbd.wdwquiht gwnwhny M200: 0.1 50820.0 5082,0
2 Glph dwfu wwh gnjnygyniu niubignn pwypwywsd phnnub U3
plLh Jugqdwwnnud wuldwgnpdhpnd, peynpubiph pwpanud
wywnnhupUwpwth 0.65d3 sbpbthny tpulwywwnnpny 0,0 26780,0 0,0
3 nbnwhnfunwd |gwlynywn 74d hten. Jpw nnl 0,0 700,0 0,0
4 | Genud unp pUbph hpwlwlwgdwu hwdwp hnunpwlutph d3
thnpnud 0.65d3 tipkthny tpulwydwwnnpny, 30% gpniuinh
pwpénu wynnhuplwpwih 1,4 820,0 1107,0
5 nb nfunwd ywn 74d htn. u
nuihnfunu |gwiynyun 7 Ypw uin 0.0 700.0 0.0
6 | Lnyup wnbnnud Yninwynudng, ht & hwdwp/ u3
Jup iennud Ynunwynudng, hnwnwnd (hgph hwdwn 0.0 490.0 0.0
7 Giph pUbiph hhdpbph hpwlywlwgdwl hwdwp u3
Lwhiwwyuwinpwunwlwl 26pnn fubny: / 0.9 13750.0 12650,0
8 G ltiph hhdpt wlwbwgnud dhwdny| pbhununy, u3
Bé%h rUtinh hhiptinh hpwyuwiuwgnud dhwanyy phinnuny 6.3 64000.0 403200.0
9 |6 Lbph ppwutb wlwwgnud dhwdany pewnuny, u3
B;%h_ LS DR DSOHRUAgRLApicl sl 6.4 65870,0 4202506
10 | Gpnud gfuwnhph hpwlwuwgnd dhwany pkwntng B20, d3
F100,swith 2.8x0.6x0.44: 0.7 65870.0 442646
11| Ununpnud gnynueyni niubignn, plbiph b qfuw d3
: g 2 bph b qiuwurhnh 0,7 63710,0 44597,0

funnngubiph |pwignud dhwany) pwnining B20, F100:




12

Lhwnwnuwnd (hgp tpuwlwwnnpny/0.65d3/,9pnuiny U

d3

S 3,2 1016,0 3200,4
13 | Ununph gnjniejntt niubgnn pbunnub pubiph b gfuwnhph d2
Jepwunpngnd gbd.wwquiht puwnuifuny M200, h=6ud
Uwuwwbu Jeunwnwlwu gwugh wnbnwnpnuing, (50x50)dd 25,0 82300 205750,0
@4 Bp- 1, P=0,099un:
14 | Lwpwwbudnd £ unnndulh dbe hpwlwtwgub) dhwdany| d3
phunnub jwwnnly B20, F200, h=10ud’ funnnywlh hwwnwyu 7.5 54320,0 407400,0
wdpwgubnt buwnwyny:
15 | tunnnywlh L=23.0d dhwany| ptunntb hwnwsdnid u3
funnnstbph (pwgnud dhwany| pbinnuny B20, F100: 0;3 SN0 SuBan
16 | Upwany| ptunnub dwdlh uwih ubippht dwybiplnyeh a2
Jepwunpngnud ghd.wwquiht swnwfuny M200, h=0.054,
nnpypbnwgnuing’ bwhuwwbu dewnwnwlwt guugh 57,5 6800,0 391000,0
wnbwnnpnuing, (50x50)dd @4 Bp- |, P=0,228w:
(50x50)dd @4 Bp- |, P=0,228w: a2 57.5 3490,0 200675,0
17 | Uhwany| pbwnnub huwpwlbbph Jepwunpngnud
ghd.wlwquiht pwnwiunyM200, h=0.05d" bwfuwwbu
dbnwnuwljwl gulgh wnbwnnpnung, (100x100)dd @4 Bp- |, u2 115,0 6020,0 6923000
P=0,228u:
18 |6 hnwh db U u d d<0.3d: d3
lenwd hniuh dtg pwinwht hgph hpwlwlwgnud d< 3.0 6030.0 18090.0
19* | Glpnuw pEwnnub guwdwuh hpwlwuwgnud B20, F100, d3 0,0 65875 0,0
20* | hbuwlwjht wwnwdh dhwany) pnnu B20 d3 0,5 77950 38975,0 .
LYuf53+780.0 @1.54 b/p funnnywly, dnunpp dwiuhg 0.0
1 funnnuwyh dnunph b Gph dwppnud gpntuinhg 0.6543 u3
2bpbthny Epulwdwinnpny, pwpénud huptwpwi/ 0.8 560.0 0,0
2 wbnuthnfunw guynywn 7yd hbn. dpw wnnu 0,0 700,0 0,0
3 | hunnndwlh dhoh dwppnu gpniunhg dbnpnd, d3
Ynywwydnpnud, 11334/ 0.0 1970,0 0.0
4 pwnanul dbinpny wywnnhuptwpw b wbnwinfun nnl
lgwlnywn 74d htnwdnpnuejwt Ynw 1133/ 0.0 1090,0 0.0
5 Unuwnpnud giuwdwup ppwlwuwgdwy hwdwp thnunpuwyh u3
thnpmu 06503 2bbithny bpuljwiwinnpnd, gandinh 0,0 670,0 0.0
wwhbuwnwynpnud IV(106)/
6 | guwdwup hpwlwtwgdwt hwdwp a3
Uwhiwwwnpwunwlwu gbpn fuénd: 0.0 13750,0 0.0
7 phwnnub glluwdwubph hpwlwuwgnud B20, F100, u3 0,0 105850,0 0,0
7% | hkuwywjhtu wwnwdh dhwany| pbwnu B20 d3 1,0 77950 77950,0
8 Lhwnwnwpd thgp tpuywywinnpny/0.65d3/,9pnudny L d3
honwguwdp / 0,0 1220,0 0.0
L454+280 @1.5d b/p funnnywly, dnwnpp dwfuhg T
1 funnnwyh dnunph bW Gph dwppnud gpniuinhg 0.6543 d3
otiptithny Epulwdwuwnnpny, pwpénwd huptwpewih/ 0.0 560.0 0.0
2 nbnwihnfunwd \gwynywn 74d hbn. Ypw nnu 0,0 700,0 0,0
3 | Unwnph b bph pwpwiht swpdwdpny qifuwdwubph d3
Ywgdwwnnd wuldwgnpdhpny, pwpanwd wunnhuptwpwih
0,0 17680,0 0,0

0.6543 ptipbithny Epuljwywwnpny b wnwthnfunud
[gwynyw S5yd htn. Ypuws:




4 | Ununpnud glluwdwuh hpwlwwgdwl hwdwp thnunpwyh u3
thnpnud 0.65d3 2tipkithnd Epuljwdwinnpnd, gpniinh 0,0 670,0 0,0
wwhbuwnwynpnud 1IV(10k)/
5 | glluwdwuh hpwlwbwgdwt hwdwp d3
Lwhiwywnpwunwlwl obpn fubny: / B 12750.0 0.6
6 pbwnnub glluwdwubph ppwlwlwgnw B20, F100, d3 0,0 105850,0 0,0
6* | htuwlwht wwnwdh dhwany| pnnu B20 u3 1,0 77950 77950,0
7 | <bwnwnwna |hgp bpulwywinnpny/0.65d3/,9pnuwing U a3 0.0 1220.0 0.0
futnwgdwdp
4544755 @1.54 bi/p funnnduwl, dnunpp &wfuhg 00
1 funnnywlh dnunph b biph dwppnud gpniiinhg 0.6503 u3 0.0 560.0 0.0
2bptthny Epuljwyduwinnpny, pwnénw huptwpwth, * g :
2 wbnwihnfunud jguiynywnn 7Y4d hbn. Jpw nnl 0,0 700,0 0,0
3 | Ununph U biph puwjpwwsd phunnub giluwdwutiph u3
bwqduinnud wulidwanpdhpny, pwpadnd wynnhuplwpuith
0.6543 ztpbthny bpulywywinnpny b nbnwihnfunud 0.0 26780,0 0.0
[gulynywn 74d hbn. Jpw:
4 Ununpnud gifuwdwuh hpwlywbwgdwt hwdwp thnunpwlh d3
thnpnuwd 0.6543 2bipbithny bpulywwwninpny, gpninnh 0,0 670,0 0,0
wwhbunwynpnd 1IV(106)'
5 | giuwdwuh hpwlhwuwgdwy hwdwp u3
bwhwwwnpwunwlwl 2bpn fung: 0.0 1e720.0 ah
6 phnnub qlluwdwubph hpwlwuwgnud B20, F100, d3 0,0 105850,0 0,0
6* | hbuwlwiht winwdh dhwény| pbnnt B20 u3 1,0 77950 77950,0
7 | <bwwnuwnd hgp tpulwywinnpny/0.65d3/,9pnuwiny d3
huunwgiudp / 0,0 1220,0 0.0
4154+995.0 1.0d b/p funnndwly, dnunpp wtuhg -
1 tunnnquwlh dnunph b Giph dwppnwd gpniiinhg 0.6503 d3 5 0
2bpbithnd Epuljwdwinnpny, pwpénud huplwpwih/ 0.0 60.0 0
2 nbnwihnfunud [gulnywn 74d htn. Ypw:/ wnnu 0,0 700,0 0,0
3 Ununph U biph pwjpwjywd pbinnub qiluwdwubph d3
Yuwquwwnnud wulbidwgnpdhpny, pwpdnu wywnnhbplwpuwih
0.6503 gbipbihny bpulwdwinnpny b wbnuwihnfunus 0.0 26780,0 0.0
[gwynywn 74d hben. Ypw:
4 Ununpnud qifuwdwuh ppuwlwbwgdwt hwdwp dinunpulh u3
thnpnud 0.6543 ptipbthny tpuljwywinnpny, gpntunh 0.0 670.0 0.0
wwhbuwnwynpnud IV(106)/
S5 | guwdwuh hpwywbwgdwl hwdwp d3
Lwuwwywnpwumnwlwl sbipun fuéng: / 0.0 13750,0 0.0
6 phwnnub qlluwdwubph hpwlwwgnud B20, F100, d3 0,0 105850,0 0,0
7 Cbunwnwpd (hgp bpulwywinnpny/0.6543/,9pnuing U u3
hunwguiwdp / 0,0 1220,0 0,0
9.Cunwdkup 0,0 38964241,9
X | bd 41+472.2 &/p Gudnipg
0,0
1 Epplbynieyniup Ywpguwynpnn Swuwuwwphuwht Lpwlubp/ hwn
hbinwgw Yuqdwinnwing b ybpwnwnpa 50%/ 0.0 30920,0 0.0
2 Ubinwnwlwl pw utinh Yugqd d wdwnngbuny: u
it pwgphplbinh Ywqiwnnud wyunngbung un 0.0 28020.0 0.0

Ybpwnwnd ubithwlwbwinhpngp:




d
3 | fenhgpwiht Yunnigywdph bigph b/p Yugqdwinnwd 3 0.0 31890,0 0.0
wulidwgnpdhpny
4 Pwpénu w/h dbnpny b ibnwthnfunw lgulynywn 74d: wnu 0,0 1090,0 0,0
5 Epplublwht dwuh bwywagh Guwgdwinnud gpbnbnnd, d3
Ynywnwynpnwdnyg: Pwpanwd huplwpwih 0.6543 2bipkthh 0,0 720,0 0,0
nwpnnpjwdp Epuljwdwinnpny/
6 Sknwthnfunud |gwlnywn 74/ wnnu 0,0 700,0 0,0
7 Ununpnud L Bipnud hniuh dwppdwt U ninndwt
wpfuwinwipbp 0,653 Lpulwduwinnpny: u3 0.0 820.0 0.0
8 | Stnwthniunwl jgwlnywn 74/ nnu 0,0 700,0 0,0
uny: d
9 fdlubiph hhdpbiph funnngubiph pwignu dhwény| pbwnntuny 3 0.0 61580.0 0.0
10| dubiph unpngnud (50x5000 guiigny P=5154g) M200 2
gbUbLUhY pwnuwfuny: 72,5 7760,0 562600,0
11 | <Buwpwuutph hhdpbph tpuyupny upwdninhubph
thnpdwl hnnwjht whuwwnwtptibp dnpny’ pwg
gnniunnud opwhtinwgnuiny - oph hnupp dhtisk 3083 dwd/ u3 0.0 9260.0 0.0
12| <npwwnwtigptiph hnpwinnud (hnphgnuwlwl) d=40dd hwwn 0 1610.0 0.0
(L1=15ud), htunwquw Ybpwunpngdwl Uwjwinwyny/ 0, ! '
13 | <Guwpwuubiph hpwltibpaw wnnwwwnb fuwphufuubph @16 wnnl
Alll wwinpwuwind b inbnwnpni/ 0,0 807700.0 0,0
14| bPpwuubph Ybpwunpngnud dhwany| wdpwbwynpyws d3
ptnnting, w.uwy, Alll=57,9Yq/u3 G0 92610,0 0.0
w.w. Alll=57,94g/ud3 tnnu 0,0 699030,0 0,0
15 | <buwpwllbiph gpntunh htin 2thynn dwlbiplinyputiph u2
puywdpuwiht gpwdblniuwgnud/ 151 1250,0 18875,0
16 | fupwdninhubiph hbwhgp dbinpny: Spniinp nbnuinpnu J3
2Gpintpng U funwgnud wulidwwnnthwny/ 5.2 2080;0 10816,0
17 | wppbgunn stipwnh ghdbunwht ywnutu wudwhphsutiph u3
PINYERh twly H=2ul/ 0,0 50610,0 0.0
18 | <nupwjhu bnwblndunt hpwywlwgnud dhwany| ptinnnthg u3
nwu B20/ 0,0 55540,0 0,0
19 | @n. Yunmnigywspubph unubidwiht gpwdblynwwgnud U2
bplyabintn hanguidng/ 0,0 7050,0 0,0
w uhs 2tipwnh dhwany| pbiuint B25 W6, H=4ud/ u2
Wuwuuwitih 2tnnh dhwényg phinn u 0.0 3790.0 0.0
Swig wdpwlwht 100x100 dd) P4 Bp-| d2 0,0 1780,0 0,0
20 | <wppbgunn stipinh ghdbunwht swnwtu wuywhphsutiph u3
pinbtinh nwl H=2ud/ 0,0 50610,0 -101,2
21| Cwywpndh b/p dwypbiph PINYUbEPh ywinpwunnd hwwn
intnwnpnul. 2with. 71x140x299ud, pwop - 1,75un: U.wy. 0,0 324510,0 0.0
Al=94,144g/u3, Alll=130,04q/u3:
22 E3npdwghnt Yuwnk wlwlwgnul/ pechopmaunonHbie 6.4
lrLB?r;l niwghnt Yupbnph hpwlwbwg cop 4 0.0 42140,0 0.0
23 | Uwupwhwinhl w/p h=4uy 2 0,0 4190,0 0,0
24 | Uwupwhuwinhly w/p h=3ud d2 102,4 3210,0 328704,0
25 | Mnnuuwinb pwgphpubp hpwlwuwgnu-24q8.4d, nnl
Ubpliudoy P S 0.0 46440,0 0,0
| | L63x63x60u/mm P=90.4q/nr 0. 0.0 4660,0 00 |




L50x50x5dd/mm gd.d
P=177.6 Ya/kr 0,0 3090,0 0,0
L70x70x60d/mm qéd
P=1524q/Kr 0,0 5350,0 0,0
?12 L=110.884/m nnl 0,0 701430,0 0,0
-5x500d/mm P=4.8lg/kr g 0,0 1760,0 0,0
26 Uwjpbnh dwupwhwwnhl w/pbnnt h=4ud u2 18,0 4290,0 77220,0
27 | hupwdninpubiph thnpdwt hnnujht wpfuwnwpubp u3
abinpny Ygnpndwl wudwhphgutiph nbnunpdw 0,0 1930,0 0,0
hwdwp/1133y/
28 | Ujwquynwbduwiht bwuwwwnpwunnd Ygnpndwl d3
whywhphsibinh pRYbeh wwl h=10ud 0.0 B300.0 0.0
29 | <wlwpnyh &/pbwnnul wudwhphsubph pinbubiph hwwn
nbnwnpnud. Quih. 15(50)x75x150ud, P=0,53wn, w.w. = 0,0 68150,0 0,0
83,15g/d3
30 | Uudwhphsutiph nuipnwhwjwg gdwgnid d2 19,6 810,0 15876,0
10.Cunwdbup 0,0 1013989,8
Xl | Swuwwwphh Ywhwynpnid 0
O6ycrpoiicTeo goporu 0.
Upgbjwthwyngubip 0,0
1 Lnp db u G ub ] d &.d
: T J)T“‘““J”“J SR g R ST Ror 9 5706,0 22300,0 | 127243800,0
2 Cl whwh wwunhly wanwuawuwht unubph hwuwn
inbinwnpnid/ 752,0 5440,0 4090880,0
Bwuwuwwphwiht unp bpwuubph nbnwnpnu/ 0,0 0,0
Ubunwnwlwt funnnjuwly 57x3,04d gd.d 988,3 5460,0 5396118,0
phiwnnu B15 a3 31,0 47560,0 1474360,0
Lwfuwggnipwgunn hwun 237,0 18960,0 4493520,0
Unwybnipwu hwuwn 76,0 18960,0 1440960,0
Upgbinn hwun 16,0 18960,0 303360,0
Cwwnntly phjwnpwuph hwtn 18,0 18960,0 341280,0
Stnblwwnynipwl hwwn 20,0 15510,0 310200,0
Gpelbybih Jwuh Upwgdnw | nwunpwnuwpahs
qunhyubph oguwgnpddwp 0.354g-1d? 0,0
Cwdwwnwpwd 1.1; 1.2 /0.14 jwju. yd
Cnnownaa 1.1; /c wupuroii 0.1m/ 0.0 136000.0 0.0
Cunhwwn 1:3 (1.5) /0.1d wju. yd
Mpepsieucranl:3(1.5) /c wupuHoii 0.1m/ 0.0 50000.,0 0.0
Cunhwwnit 3:1 (1.6)/0.1d jwju./ yd
Mpepoisucran 3:1 (1.6) /c wupwuHoii 0.1m/ 0.0 106800,0 0.0
Cunhwwnnd 1:1 (1.7)/0.1d . yd
Mpepeisuctas 1:1 (1.7) /c wupwunoii 0.1m/ 0.0 816273 0.0
Abnpny Upwagdnid 1.14.1;1.17 d2
/Pyunan pasmetka 1.14.1;1.20 0.0 2090.0 0.0
* Eprelublbh dwuh Uswgdnul |, phpdnwwuwnn u2
R s« PGy 49257 9695 47754806,9
1.Cunwdkup 0,0 | 192849284,9
XIl | Lpwgnighy watuwwnwuptibp 0,0
G/p hwjwpnyh Jupbp B

C6opHbie %/6 noTku




1| Udwqunwswht otiptn h=10ud u3 26,9 6557 176448,9
=3.04; h
2 E/p hwjwpndh Jupbph nbnunpnud L=3.04d; 34x30ud wn 138.0 54070 7461660.0
swihuh-414q3.4/
3 | dwptiph gpudblyniwgnud tiplatipun wwp phnnudng 42 522,0 1236 645192,0
4 Pbwnnub Bqpwpwpbph wnbnwnpnud 15x30ud go.d 207.0 8340 1726380.0
/wuyunwugnipjwl pwanhpubp/
Swudwydbtp b dbphu ununwbiwt qyninkph 0.0
gpwiwnwlwpwpdwt hwdwlwpgh pwpbjwynid ’
Rpuwghs-1 /W1/ 0,0
Lnnu)jhtt wyfuwinwpubp 0,0
1 Fupwdninnt b thnunpwlh dawlynd V Yupgh d3
gpniunubpnud, Ynnwihgpny 0.0 e 0
2 | hupwdninnt b thnunpwlh dawynd IV jupgh d3
gnniunubpnud, Ynnwihgpny 0.0 aED 0.0
3 fupwdnunnt b thnunpwyh (pwdzwynd dbnpny, hwwnwlyh d3 0.0 6593 0.0
hwppbtgdwdp
4 Udwah bwhiwwywwnpwunwluwl 2tpnh hpwlwuwgnud d3
h=10ud hwuwnniejwdp 0.0 7260 0.0
5 Ujwagh wwownwwuhs 26pnh hpwlwtwgnud d3 0,0 7261 0,0
6 fupwdnuqnt b thnunpwlh Bwnhgp, Ynnwihgph dowlydwsd u3 0.0 462 00
gpniuntbiphg’ winthwunuwng ' '
7 | Udbwgwsd gpniuinubiph hwppbignud nbnnud d3 0,0 453 0,0
Skfutuninghwlwl wfuwwnmwbpubp 0,0
1 Qnynipyniu niubignn nigk (Ci) @150 funnnywlubph Yupnud wnkin 0.0 4699 0.0
2 | Mnjpkehibut (HDPE) Gnwlgynn funnnwliubph qd.d
dnuunwdnud fupwdninhubpnu DN160, PN=1,0 UMw, 0,0 8572 0,0
thnp&uwpynud
3 | Mnpkpehub (HDPE) bnwygynn lunnndwlutiph gd.d
dnuunwdnud fupwdninpubipnud DNIQ, PN=1,0 0,0 3245 0,0
UTMuw, thnpdwpynud
4 Mnihkphitul (HDPE) bnwlgynn unnndulutiph gd.d
dnuunwdnud fupwdninhubipnud DNE3, PN=1,0 UMw, 0,0 1776 0,0
thnpdwplynud
5 | Mnipkphut (HDPE) bnwlgynn funnnuwlubph go.d
dnuinwdnud fupwdninhubipnud DN32, thnpdwnplynud 0.0 764 0.0
6 | Mnihkphtubt (HDPE) bnwlygynn funnnwlutph gd.d
dnunwdnud fupwdninpubpnud DN25,thnpdwpynud 0.0 667 0.0
7 | Uk n uubiph dnuwnwdnud DN150, PN=1,0UM h
RGeS druei . e 0,0 138714 0,0
8 UGwwynp thwlwubph dnuwnwdnd DN50, PN=1,0UMw hwun 0,0 43430 0,0
9 | Mnnuuwwnt Ygwynippbiph dnunwdnud DN150, hwun
e T e v 0,0 15716 0.0
10 | Mnnuuwwnb tph dnuunwdnid DNSO, PN=1,0UM h
nw bgwznipebiph wdnt w wn 0.0 75 0.0
11| Mnihkphiu (HDPE) DN160 - dbuwn DN150 (St) Ygnpnhsh hwn
dnbnwdnud (HC) 0.0 25090 0.0
12 | Mnjhtphitu (HDPE) DN63 - dtuwn DN50 (St) Ygnpnhsh hwun
dnuwnwdnid (HC) 0.0 6509 0,0
13 | Mnipkphtut (HDPE) funnnywlutph dbuwdnp Jwub hwwn
(htphitut ( funnnyuljubiph duwignp n 0.0 10335 0.0

DN160xDN90




14 | Mnhtehibut (HDPE) funqndwlubph dbwydnp dwubp hwtn

DN9OxDN63 o st 0.0
15 | Mnhkehibut (HDPE) funnnwlubph dbwynp dwutp hwun

DNG3XDN25 R S s
16 | Mnjhtphitub (HDPE) funnndwlubph dhwgnud hwn

hiwdnyewjhl whignuiny DN160XDN32 0.0 6468 0,0

h

17 | Mnjpkehitub (HDPE) unnndwlubinh dhwgnud wtn 0.0 6296 0.0

fuwdniypwiht wugnuing DN160xDN25
18 | Mnjhkphibub (HDPE) lunnnywlubph dhwgnid huwn

hiwdnuewiht whgnuing DNIOXDN32 0,0 467 0.0
19 | Mnipkehitul (HDPE) funnnywlutiph dhwgnud hwun 0.0 4137 00

fuwdniewiht wugnwing DN9OxDN25 " :
20 | Mnjhkehibut (HDPE) funnndwlubph dhwgnud hwuwn 0.0 2652 0.0

fuwdnipwiht wugniing DNE63xDN25
1 u ubph dntunwdnud h
2 ggg‘;lﬂhlbbh wwpnipwluwght Ygnpnpgubiph dntnwdn wwn 0.0 2193 0.0
22 ’Dngzmstfahlbhb wwpnipwlwiht Yygnprhsubph dntnwdnud hwun 0.0 1985 0.0
23 | Onwhwu DN20 hwuwn 0,0 11135 0,0

P 1 \

24 Egﬂtzrf:gg:LéHD E) DN160 funnnjwlutph , (Jwgnud yd 4it — b
25 | MnihtrhiEul (HDPE) DN9O funnnjwlubph thnpdwplynid, yd

Jwgnud, whinnwhwunwd 0.0 L 8.0
26 | Minjhtehtiut (HOPE) DN63 funnnywlubiph , Jwgntd, yd

whinwhwunid 0,0 92809 0,0
27 | Mnhkehitub (HDPE) DN32 tunnndwlubph thnpdwplnud, yd

Ywgnul, whunwhwund 0.9 92809 0.0
28 | Mnihtphiab (HDPE) DN25 funnnywlubnh , wgnud, L

whutnwhwunwd 0.0 92809 0.0

Rnwghs-2/W2/ 0,0

Snnuiht wfuwwnwuptbp 0,0
1 fFupwdninnt b thnunpwlh dawlynid V upgh d3

gpnuunubpnud, Ynnuwihgpny 0.0 1329 0.0
2 | hupwdnine W dinunpuilh dawlnud IV Gupgh d3

gpniinubipnud, Ynnwihgpny 0.0 985 0.0
3 | hupwdninne b thnunpuwlh (pudawlynad dGnpny, hwnwyh d3

hwppbgdwdp 0,0 6593 0,0
1 Udwagh bwhiwwwunpwuwnwlw sbpunh hpwlwbwgnud d3

h=10ud hwuwnntpjwdp 0.0 7261 0.0
5 Udwgh wwouwwuhs obpunp hpwljwtiwgnad d3 0,0 7261 0,0
6 Fupwdninnt b thnunpwbih Binfhgp, Ynnuwihgph dowldwd d3

gnniuntbiphg’ ninthwunwing 0.0 462 0,0
7 | Ubjwgwsd gpniuntbph hwppbgnud inbnnud d3 0.0 453 0,0

Skhuuninghwlwl wiluwwnwuptbp 0,0
1| Mnihbphsub (HDPE) bnwygynn funqnwlubph gd.d

dnuwnwdnud fupwdninhubipnud DN9O, PN=1,0 0,0 3245 0.0

UTMuw, thnpdwpynud
2 Mnihkehitt (HDPE) DNIO - dbunwn DN89 (St) Ygnpnhsh hwwn

dntunwdnud (HC) 0.0 9972 0.0
3 | Mnihkrhtut (HDPE) DN9O funnnywlut a d, d

(htphiEut (HDPE) funnnywljutinh thnp&wnyne 4 0.0 109831 0.0

wgnud, whunwhwunw




2nughs-3/W3/ 0,0
Cnnuwht wluwwnwplbp 0,0
1 fupwdnuinnt b thnunpwlh dowlnud V wpgh d3
gpniuinubipnid, Ynnwihgpny 0.0 1829 g
2 Fupwdninnt b thnunpwlh Jowynid IV Yupgh d3
gpniuinubpnud, Ynnuwihgpny 0.0 e U0
3 fupwdninni b thnunpwh (pudpwlnud dbnpny, hwunwlh U3 0.0 6593 0.0
hwprbgdwdp : !
4 Udwgh bwhiwwywinpuwunwlwl gbpnh hpwlwwgnu d3
h=10ud hwuwnnipjwdp 0.0 0! .0
S | Udwgh wuwpunwwuhs sbipnh hpwlwtwgnu d3 0,0 7261 0,0
6 fupwdninne b thnunpwlyh buhgp, Ynnwihgph dowlws u3 00 462 00
gnniuinutiphg” tninthwunwing ' '
7 Uybjwgwsd gpniintbiph hwppbgnud wnkinnu d3 0,0 453 0,0
Skhutninghwlwl wfuuwnwupubp 0,0
1 Snjnipnit niubignn wnnujwwnb (St) @50 funnnyuwljubph inbin
Yupnud 0,0 1644 0,0
2 Mnhtphibut (HDPE) Gnwlgynn funnnywlubph gd.d
dnuwnwdnud fupwdninhubipnud DN63, PN=1,0 UMuw, 0.0 1776 0.0
thnpdwplnud
3 | Mnjhtphibub (HDPE) bnwlgynn funnnywlubph gé.d 0.0 o 0.0
dnuwnwdnud fupwdninhubpnuwd DN25, thnpadwnplnud ' :
4 b N HDPE u al h
Mn|hEphitiu DN63 (HDPE) funnnywlubph dlwdnp win 0.0 2185 0.0
dwubp
5 Mnihkphitu (HDPE) DN63 - dbunwn DN5O (St) Ygnprhsh hwuwn
- dntnwdnud (HC) 0.0 6509 0.0
6 | Mnhtehitut (HDPE) unnnywlutiph dhwgnu hwun 2652 0.0
huwdinyewhts wlignuiny DNE3xDN25 0.0 65 .
7| Mnhkphiu DN25(HDPE)- dbinwn DN20(St) Lignpnhsh hwn 0.0 3710 0.0
dnunwdnud dEnwnulywt wpnwpht wwpnipwlyny i ’
8 Ubnwnwlwl qgunuht thwywt bpyynndwth ubpphu hwun
wwpnipwlny DN20 0.0 6083 0.0
9 | DN63(St) unnnwlh bnwlgnul DN50(St) funnnywlh intin 0,0 1644 0,0
10 | Mnjptehitut (HDPE) DN63 funnnywlutiph , (Jwgnud, yd
whunwhwunud 0.0 92809 0.0
1 Mnihtehitub (HOPE) DN25 funnnywlubiph , yugnud, yd
whutnwhwtnud 0.0 92809 0.0
Uy} waluunnwiptibp 0,0
Lnnuwjht wyluwmwbiptbp 0,0
1 fupwdninne b thnunpwlh dpwynud V Yuwpgh d3
gnniuwnubipnud, Ynnwihgpny 0.0 1329 0.0
2 | bupwdninni b thnunpwlh dpwlnud IV Yupgh d3
gpniinutipnud, Ynnwihgpny 0.0 985 0.0
3 fupwdninne b thnunpuiyh pwdawynud dinpnd, hwunwlh u3
hwppbgiwp 0,0 6593 0,0
4 | hupwdninnt U thnunpwlp binghgp, Ynnwihgph dawlywd d3 00 462 00
gpnintbphg’ winthwtinuing ) )
Stjutininghwlwt wpluwwnwuptbp 0,0
1 Mnnuwwnt (St) Ey/Gnwlgynn unnndwlubph dnbnwdnud gd.d
fupwdninhtbipnud DN273x5 npuwbu wuwunjwl 0,0 42147 0.0




Mnnuwuwnt (St) ty/bnwlgynn funqnwlubph dnunwdnd qo.d

fupwdninhiinnud DN159x4,5 npujbu wuwinjwl 0,0 17194 0,0

Mnnwuwwnk (St) Eyenwlgynn lunnndwlubph dnunwdnud qd.d

fupwininhubipnud DN102x2,5 npujbiu wwwnjwl 0.0 6147 0.0

Mnnuwwnt (St) Eynwlygynn unnnwlubph dnbinwdnid gd.d

fupwdninhutipnud DN89x2,2 npwbu wywunjwl 0,0 5235 0,0

Mnnuwwnt (St) EyEnwlgdnn funnnulutph dnuwnwdnud gd.d

fupwdninhubpnud DN57x2,2 npuybiu wwiinjwt 0,0 3551 0,0
12.Cunwdbtp | 10009681

961122943
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qunuwiutiph
wwuny
hpwybpny bwhiwwnbuwd
Uwhuwwnbuywd dhgwughl ullifuitiond nhdwg Jowpnuwubpp Vwhuwnbudnd £ ppulwuwgub) 2021 p-hu’ pun wdhubbph, wn
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AT » “_/;1” 2021p. Yupwsd

ré‘han Cwdwdwjuwgnpny

Cwbwd phy 3

UPUPULPL 1
£-46, /U-2/-Swpl-Undwuh-/U-2/ (Ujniuhp) hwipwybunwlw bywbwlnpjwl w/6-h YU 37+500-4U55+000 hwwnjwsh
hhdtwunpngiwl wtuwwnwuptbph
orusnkrsushtL arusdhy
(2022 hpwlwtiwgybihp)

Uwwwiwnnth Ynnihg Yuwnwpybihp Whwnwupubpph juunwpdwb dwdlybnp
No wztuwwnwupubph wnwbdh
nbuwlubph whdwbnuiubp Ubhqpp Ujwpuinp

$huwtuwlwl dhongulin $huwtuwlwu dhongubp
Uwhuwwnbudbine nbupnd uwuwwnbuybn nbwpnud

1 Lwpnpwwinp thnpdwplnuiubp Ynnudtph dhol Lupynn Ynndbtph dhgl Yupynn
hwdwdwjuwgph nwdh dbe hwdwdwjuwgph nwdh dbg
dunubnig hbwin dwnbinig 65 op hbwnn
bhuwtuwlwu dhengubp bhuwtuwlwu dhengubp
uwhuwwnbudbine nbwpnud uwluwwbudbne nbiwpnud

2 <nnujht wfuwwnwupubp Ynndtiph dhgli Yupdnn Ynndtiph dholt Yupynn
hwdwdwjuwgph nwdh dby hwdwdwjuwgph ndh dbg
dwnubnig hbwnn dunubnig 50 op hbwnn
bhuwbuwlwu dhgngubp bhuwtuwlwu dhongubip
Uwhuwwnbuybnt nbwpnud uwuwwnbuybnt nbwpnud

3 Gpeubybh dwu Ynndbph dholt Yupynn Ynndbph dhole Yupdnn
hwdwdwjuwgnh nwdh dby hwdwdwjuwgph nwdh dbg
dwnubng hbun dwnubnig 60 op hbwnn
$huwluwlwl dhongubp $huwbuwlwu dhengubp
Uwhiwwnbuybnt nbwpnud vwhiwwnbuybnt nbwpnud

4 Minhnutip U dnunpbip ynndtph dheole Yupynn ynndtiph dhel Yupdnn
hwdwdwjuwgnph nwdh dbe hwdwdwjuwgph nwdh dbg
duubnig hbwn dunubinig 65 op hbwn
bhuwtuwywu dhengubp Ihuwtuwywu dhgngubip
uwuwwnbudbnt nbwpnud uwfuwwnbudbine nbwpnud

5 Unnbwlubp Yynndtiph dhole Lupynn ynndph dhele Gupynn
hwdwdwjuwgph nidh dbg hwdwdwjuwgph ndh dbg
dwntbiing hbwnn dunubnig 65 op hbwin




2ppenn funnnjuljubph dwppnwd b

bhuwtuwlwu dhgngubip
Uwhiwwnbuybine nbwpnul
Yynndbph dholt Yupynn

bhuwtuwlwu dhengubip
Lwhwwnbudbn nbwpnud
Ynndtiph dhgl Yupynn

YEpwlwuqunud hwdwdwjuwgnph ndh dbg hwdwdwjuwgnh nidh dbg
duintbnig hbwnn dwinubnig 50 op htiwnn
$huwtuwywu dhengubp $huwtuwlwl dhengubip
bwuwwnbuybnt nbwpnud Uwuwwnbuybnt nbwpnu

8 Uwjpbp Ynndbph dhgl Yupdnn Ynndtiph dhol Gupynn
hwdwdwjuwgnh nidh Jbg hwdwdwjuwagnph nidh dbg
dwnubnig hbwnn dwnubnig 65 op hbwnn
$huwbuwlwu dhongubp Ihuwbuwlwu dhengubn
Uwhuwunbudbnt nbwpnud Uwhuwwnbudbne nbwpnud

9 Lhuwwwwnbp ynnutph dheole Yupynn Ynndtiph dhel Yupynn
hwldwdwjuwgnh nwdh dbg hwdwdawuwgph/ nidh Jdbg
dwnubnig hbnn dwnubnig 45 op hbwnn
$huwuuwlwu dhongubp Phuwtuwlwu dhgngubip
bwhiwwnbuybnt nbwpnd bwhuwwbuybnt nbwpnud

10 &/p Yudpgh yEpwunpngnud Ynndtph dhol Yupynn Yynndbph dhgl Yupynn
hwdwdwuwgnph nidh dbg hwdwéawuwagph nidh dbg
dinubinig htiwnn dwnubinig 50 op hbwn
$huwbuwlwl dhgngubp $huwbuwlwl dhgngubp
Uwhuwwbuybnt nbwpnid bwhuwwnbuybn nbwpnud

1 Utunwugnipjui bitdkunubp Yynndtiph dhglt Yupynn Ynndtiph dhol Yupdnn

hwdwdwjuwgph ndh dby
duntbinig hbwn

hwdwdwjuwagph ndh dbg
dwnubinig 65 op hbun

CLKULNR UTHUUSULLLEP

bhtwbuwlwu Jhengubp
Uwhiwwinbuybnt nbwpnud
ynndbph dhols Yupdnn
hwdwdwuwgph nwdh dbg
dwnbinig hbunn

$huwtuwlw dhongubip
bwhuwwnbuybne nbwpnud
Yynndbph dhgl Yupynn
hwdwdwjuwgnph nidh dby
dwnbijnig 65 op hbwnin
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